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RRECHA) =52 [HEZECHHA)F| 4 GB%) |JAL/JTA[JTA/RAC| 26,000 58% 18,100 7,900
Eo% 74 (F8F) [UTA/RACIJAL/JTA[ 24,600 60% | H:27,100 7,400 | H:8,200 17,200 [ H:18,900
RECHE)=FE [RFECHA)FE| TG [JAL/JTA[ JTA 26,700 60% 17,100 9,600
KBR (B8E) |  JAL JTA 28,200 63% 9,200 19,000
RiEH [P GBE)| JTA |JAL/JTA| 28200 58% 10,100 18,100
ABR(BEFE)| JTA JAL 29,800 60% | H:31,400 20,100 [H:21,100 9,700 [H:10,300
KR (R FH =% Bl | KBR (B FD S| BRRECRE) | JAL JAL 21,600 68% | H:22,000 7,800 | H:8,000 13,800 | H:14,000
LA [EECHAHE)| JAL JAL 22,400 67% | AK:23,600, H:25,600 14,300 [A:15,000, B:16,300] 8,100 | 4:8,600, H:9,300
[ALIE B FR) | JAL JAL 26,400 61% | H:28,000 9,300 | H:9,800 17,100 [ H:18,200
KR (BE#8) =2l | ABR (B 7E) FE|HLIR (B Fa) |  JAL JAL 24,800 63% 16,100 8,700
il [HIE@FTFR)]  JAL JAL 26,400 61% | H:28,000 9,300 | H:9,800 17,100 [ H:18,200
KR (FFH =N [ KR (FF) F|/RRCHAE) |  JAL JAL 23,600 64% | F:23,600, H:21,600 8,800 ' F:8,800, H:8,000 | 14,800 |H:14,800, H:13,600
JBJIZE [HECHHE)| JAL JAL 22,400 66% | A H:23,600 14,100 | A H:14,800 8,300 A H:8.800
Kk (B#E) =1l [ KPR (BH7E) F|R_TCHAE)| JAL JAL 23,600 64% | H:23,600, H:21,600 8,800 ' F:8,800, H:8,000 | 14,800 |H:14,800, H:13,600
JBJIZE [HEECHHE)| JAL JAL 22,400 66% | A H:23,600 14,100 | A H:14,800 8,300 A H:8.800
KR (FFH =838 [ KR (P F|R/RRCHHE)|  JAL JAL 20,600 69% | H:21,200 7,700 | H:7,900 12,900 | H:13,300
HIERFE [RECHH)| JAL JAL 22,400 66% | A:23,600, 14,000 [A:14,800, H:16,000] 8400 [A:8,800, H:9,600
KB (RFH =5 [ KBR R F|RFCHE)|  JAL JAL 24,000 63% | F:24,000, 9,100 'H:9,100, H:8,800 | 14,900 |H:14,900, H:14,400
WwhE  |ERFECHEA)| JAL JAL 22,800 65% | A:24,000, 14,200 [A:14,900, H:14,700] 8,600 [A:9,100, H:8,900
ABx (BAE) = /iA WHhE  |EFECHEA)| JAL JAL 22,800 65% | A:24,000, 14,200 [A:14,900, H:14,700] 8,600 [A:9,100, H:8,900
KR (FFH =88 [ KR (FF) FE|RRCHHE) | JAL JAL 21,100 64% | H:20,300 8,900 |H:8,600 12,200 |H:11,700
BREER  [HHECPRH)| JAL JAL 21,900 62% | A:23,100, 12,600 |A:13,300, H:14,500] 9,300 |A:9,800, H:10,600
KR (FFH ==R [ KBRUFFD FE|ERCHHE)| JAL JAL 23,400 58% | H:23,000 10,200 | H:10,000 13,200 | H:13,000
R% HECRHE)| JAL JAL 24,200 57%  7A:25,400, H:25,000 13,600 |A:14,300, H:14,100] 10,600 |A:11,100, H:10,900
pNUAGEED) =R¥E  |ERCHHE)| JAL JAL 24,200 57% | 7A:25,400, H:25,000 13,600 | A:14,300, H:14,100 10,600 |A:11,100, H:10,900
jcrs&(ﬁiﬂ)—sﬁ jcﬁ)i(i?ﬂ)% A#E(ARER) | JAL |UTA/RAC| 24,200 56% 16,000 8,200
EoE | ERE) [JTA/RAC|  JAL 24,200 56% 8,200 16,000
K (BdE) ==t | KBk (B7E) F| 48 (FB%R) [JAL/JTA[JTA/RAC| 24,200 56% 16,000 8,200
EEHE [P (FBE) [UTA/RAC|JAL/JTA| 24,200 56% 8,200 16,000
KR (FFH =F1E [ KBRFF) F|HEGREH) | JAL JTA 24,700 59% 14,900 9,800
AiEE  [MEERHE)| JTA JAL 25,400 58% 10,100 15,300
KR (BdE) =FH1E [ KBk (BFE) F|h#E (FRF) [JAL/JTA[ JTA 24,700 59% 14,900 9,800
AiEH [ GBEH) | JTA |JAL/JTA| 25400 58% 10,100 15,300
ZHE (P =%m5 [ £ EE (P R[AREGFH |  JAL JAL 22,800 64% 14,300 8,500
Sk E@HTFR) | JAL JAL 26,000 59% 9,700 [H:11,100 16,300 | H:18,700
Z2HE(PE) =25 (242 (P R P FHE)| JTA [JTA/RAC| 26,100 56% 17,900 8,200
Eos  |[B(EF) [JTA/RAC] JTA 24,300 59% 7,600 | H:7,900 16,700 | H:17,200
ZHE(PE) =RiBE[2ER (P X PE G| JTA JTA 27,300 58% 17,200 |H:17,500 10,100 | H:10,400
RiEE  [MEGERHE)| JTA JTA 23,900 63% 8,900 15,000
AR (BT =/MA[AURF TR | RECAE) [ JAL JAL 23,400 61% 14,000 [H:15,600 9,400 10,500
MMAFE |ERFECHAE)| JAL JAL 25,000 58% 10,100 [ H:9,400 14,900 [ H:14,000
AR (BT %) =R [ ARG TR | R CAE) [ JAL JAL 24,800 63% 13,000 [ H:14,500 11,800 [H:13,100
RS |EFCHH)| JAL JAL 25,600 62% 12,200 [H:11,700 13,400 [H:13,000
AR TR =LE[AREFETH X RICAHE)|[  JAL JAL 25,600 63% 13,300 | H:14,300 12,300 [ H:13,300
LEE% |EFECIHA)| JAL JAL 27,600 60% 13,300 [H:12,700 14,300 [H:13,700
HIREFTR) =ILOFH IR FFR) E[FERCAE) [ JAL JAL 28,000 61% 13,800 [H:15,100 14,200 [H:15,500
WWOF8%E [RRCEA)| JAL JAL 28,000 61% 14,200 13,800
AR T =HEAREFGTH) X|RICAH)|[  JAL JAL 28,100 59% 14,500 [ H:15,300 13,600 | H:14.400
= BEECAE)|[ JAL JAL 26,400 62% 12,800 [H:12,600 13,600 [ H:13,300
AR TR =ES[AREF TR X|RECAHE)|[  JAL JAL 28,300 58% 15,000 | H:16,900 13,300 [H:15,100
®mER [HECHH)| JAL JAL 30,400 55% 14,300 [H:13,300 16,100 | H:15,000
AR TR =R [AURE TR X R CAHE)|[  JAL JAL 27,200 60% 14,400 [H:15,700 12,800 [ H:13,900
=M% |EFECHIA)| JAL JAL 27,200 60% 12,800 [H:12,100 14,400 [H:13,500
AR TR =& [AREF TR X R CAHE) | JAL JAL 27,200 61% 14,000 [H:15,200 13,200 | H:14.400
=A% |EFECHIA)| JAL JAL 28,000 60% 13,600 [ H:13,200 14,400 [ H:14,000
AR (%) =AU [ AR TR | RE CAE) [ JAL JAL 28,000 60% 14,300 | H:15,600 13,700 [ H:15,000
wmilFE  [HECHHE)| JAL JAL 29,600 58% 14,500 [H:13,700 15,100 [ H:14,300
HREFFR) =AM AR FFHR[EFTCAA) | JAL JAL 29,000 61% 13,900 [H:15,700 15,100 [H:17,200
JdEAMFE [RECHH)| JAL JAL 28,200 62% 14,700 [H:15,100 13,500 | H:13,900
AR T =KD [AUREF TR H| R CAHE) | JAL JAL 29,200 60% 14,200 [H:15,600 15,000 | H:16,500
AonFE |HFECHHAE)| JAL JAL 31,300 57% 16,100 | H:15,000 15,200 | H:14,200
AR T =RB[AREF TR X RFICAHE)|[  JAL JAL 29,200 62% 13,600 | H:15,000 15,600 | H:17.400
RBE |[HFERCHAE)| JAL JAL 31,300 59% 16,800 | H:15,600 14,500 [ H:13,600
AR (BT =REAR[AURF TR X R CAE) | JAL JAL 29,200 61% 14,000 [H:14,700 15,200 [ H:16,100
BEAZE |[HFECHHA)| JAL JAL 28,400 62% 14,800 13,600
AR T == [AREF TR X R CAHE) | JAL JAL 27,600 63% 13,200 [H:15,100 14,400 [ H:16,500
=FE |HEFECHAE)| JAL JAL 31,300 58% 16,300 | H:15,200 15,000 | H:14,000
WEFFR) =ERE[ARFTFRR[RFFA)| JAL JAL 29,200 62% 13,600 [ H:14,900 15,600 [ H:17,200
BREX |[HECHH)| JAL JAL 28,400 63% 15,200 13,200
LR (T8 = B8 [ IR (T ) | R CHE) | JAL |JAL/JTA| 31,000 61% | H:33,800 14,100 [H:15,300 16,900 | H:18,500
KB (BEFE)|[ JAL [JAL/JTA[ 29,000 64% | H:29,800 15,800 | H:16,200 13,200 [ H:13,600
ZEE(hE) | JAL JTA 27,700 66% 13,600 14,100
12 JAL JTA 25,900 69% 16,700 9,200
PR (FRER) | _RE CRH) [JAL/JTA|  JAL 30,200 62% 16,500 | H:18,300 13,700 [H:15,100
KB (BETE) [JAL/JTA[  JAL 32,200 60% 14,700 [H:15,400 17,500 [ H:18,400
ZEE(RE)]  JTA JAL 29,600 63% 15,000 [H:17,100 14,600 [ H:16,500
FEE) JTA JAL 25,900 69% 9,200 16,700
[HEEE S F] wBE%E [EECHH)| JAL JAL 27,200 67% 12,900 | H:13,600 14,300 | H:15,200
AR TR JAL JAL 25,700 67% 17,800 7,900
iRl |[RECHHE)| JAL JAL 26,400 68% 13,900 [H:15,600 12,500 | H:14,000
AR TR JAL JAL 24,900 68% 7,600 H:7,900 17,300 [H:17,800
&R =he )1l BE%E  [RECHHE)| JAL JAL 25,600 68% , 12,400 [ H:13,000 13,200 [ H:13,800
BIF [FERCHHE)| JAL JAL 26,400 67%  7:28,000, H:29,600 13,600 |A:14,500. H:15,300] 12,800 |A:13,500. H:14,300)
1= =8I E% BE%E [RECHHE)| JAL JAL 26,200 67% | H:28,000 12,700 | H:13,600 13,500 | H:14,400
SRR [RECHH)| JAL JAL 26,400 67% | A:28,000, H:30,400 13,600 |A:14,400, H:15,600] 12,800 |A:13,600, H:14,800
&=k @R  [RECHHE)| JAL JAL 27,600 65% | A H:28,400 13,500 | A H:13,900 14,100 | AH:14,500
wLF  |EECHEA)| JAL JAL 26,800 66% | A:28,400, H:27,600 13,700 |A:14,500, H:14,100] 13,100 |A:13,900, H:13,500
12 = EHEE BE%E  [RECHHE)| JAL JAL 25,900 64% | H:26,200 13,900 [H:14,100 12,000 [H:12,100
BREER [HHECPRH)| JAL JAL 27,500 62% | H: 12,700 [ H:13,500 14,800 [ H:15,600
RE=7% B%E  [RECHHE)| JAL JAL 30,600 57% 16,700 | H:17.900 13,900 [ H:14.900
BHA%  [EFRCEHE)| JAL JAL 29,800 58% *31400 13,500 |A:14,200 16,300 |K:17.200
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BRE==iR HECHHE)| JAL JAL 28,200 60% | H:29,800 15,500 | H:16,400 12,700 | H:13,400
REECRAE)|[ JAL JAL 28,200 60%  /:29,800, H:29,000 12,700 |A:13,400. H:13,000 15,500 |A:16,400. H:16,000)
&R =FE HECHHE)| JAL JAL 26,500 60% | H:28,900 15,700 | H:17,100 10,800 |H:11,800
BEHECHAE)|[ JAL JAL 27,300 58% | H:25,700 11,100 [H:10,500 16,200 [ H:15,200
&R =% KRR RFD|  JAL JAL 22,600 59% 9,800 12,800
KRR RFD|  JAL JAL 22,600 59% | H:23,800 12,800 [ H:13,400 H:10,400
[ EUSA ERCHE)| JAL JAL 26,000 59% | H:27,200 16,100 | H:16,800 H:10,400
MAFE |RFECHA)| JAL JAL 26,400 58% | A:27,200 10,100 |A:10,400 16,300 |A:16,800
ER=2 BEFE S8 | JTA [JTA/RAC| 20,200 58% 12,400
Eos  |EB(EE) [JTA/RAC] JTA 19,700 59% | H:21,300 7,600 | H:8,200 12,100 [H:13,100
EE=haiE EEF  [MEGRE)| JTA JTA 21,400 60% | H:23400 11,800 [H:12,900 H:10,500
RiEE MBS JTA JTA 21,400 60% 9,600 11,800
Ziml=l&E AR [AREFTHE| JAL JAL 24,400 55% | H:24,500 10,600 13,800 | H:13,900
WEeEFE  [HREFH)| JAL JAL 24,400 55% 13,800 10,600
iR = /MR LA |RECHHE)| JAL JAL 22,200 67% 14,300 [H:16,300 H:9,100
MMAFE |EHERFECHE)| JAL JAL 22,200 67% 7,900 [H:8,500 14,300 [H:15,300
i B =L A% |RECHHE)| JAL JAL 23,600 69% 13,500 | H:15,800 10,100 [H:11,800
fEL  |EFCHH)| JAL JAL 23,500 69% 10,000 [H:10,700 13,500 | H:14,400
JENTETSA neJIFE [REECHHE)| JAL JAL 22,200 66% 14,100 [H:15,600 H:9,000
M [ERFECHE)| JAL JAL 22,200 66% 8,100 | H:8,400 14,100 [ H:14,600
JBJII=FRAL0 nBJIZE [HECHHE)| JAL JAL 23,600 68% 13,300 [ H:14,700 10,300 [H:11,400
FELs  |EFCHH)| JAL JAL 23,500 68% 10,300 13,200
EEEINA HIERFE [RECHH)| JAL JAL 22,200 66% 14,000 [H:16,500 H:9,700
M [EHERFECHE)| JAL JAL 21,400 67% 7,900 [H:8,500 13,500 | H:14,500
SI¥E =10 HIERFE [RECHH)| JAL JAL 23,600 68% 13,200 [H:15,700 10,400 [ H:12.400
FELF  |EFCHH)| JAL JAL 23,300 68% 10,300 [H:10,700 13,000 [H:13,600
L=/ HwLaF  |EFECHEA)| JAL JAL 22,600 65% 14,200 [H:14,700 B:8,700
MAFE |ERFECHAE)| JAL JAL 22,600 65% 8,400 | H:8,700 14,200 [H:14,700
HE=El wLa  |EECHEA)| JAL JAL 24,000 67% 13,400 [ H:14,200 10,600 [H:11,400
fELFE  |REFCHH)| JAL JAL 23,900 67% 10,600 [H:11,000 13,300 [H:13,700
BEEE =/ BREER [HHECPH)| JAL JAL 22,700 61% 13,200 [ H:14,500 H:10,400
MAFE |ERFECHE)| JAL JAL 21,700 62% 9,100 | H:8,900 12,600 [ H:12,300
EEE=E Ll BREER [HECPRH)| JAL JAL 23,900 64% 12,200 [ H:13,800 11,700 [H:13,300
fELFE  |REFCHH)| JAL JAL 23,000 65% 11,300 11,700
BEEE =AM BREER [HHECPRH)| JAL JAL 28,100 61% 13,000 [H:13,400 15,100 | H:15,500
JdEAMFE |[RECHH)| JAL JAL 26,000 64% 14,000 [ H:14.400 12,000 [H:12.400
HEEE=X5 BREER [HHECPH)| JAL JAL 27,500 61% 12,900 [H:14,100 14,600 | H:15,800
AnFE |HFECHHA)| JAL JAL 27,500 61% | H:26,200 14,600 [ H:13,900 12,900 [H:12,300
EEE=RIE BREER [HHECPH)| JAL JAL 29,100 61% 13,100 16,000
RBE |[HFECHA)| JAL JAL 26,200 65% 14,400 11,800
EEE=FEX BREER [HHECPH)| JAL JAL 28,300 61% | KH:29,100 13,100 | AH:13,500 15,200 | A H:15.600
BEAZE |[HFECHHA)| JAL JAL 25,500 65% 13,700 11,800
HE=2I& BREER [HHECPRH)| JAL JAL 27,100 63% | H:29,900 12,600 | H:13,900 14,500 | H:16,000
=E |HEFECHAE)| JAL JAL 26,700 63% 14,300 12,400
HE=ERS BREER [HHECPRH)| JAL JAL 29,100 61% | H:29,900 13,100 | H:13,400 16,000 | H:16,500
EBREX |[HECPH)| JAL JAL 27,500 63% 15,100 12,400
BFR=/ BEHa% [ERRECHHE)| JAL JAL 26,800 52% 15,300 11,500
MMAFE [EHERFECHAE)| JAL JAL 25,600 55% 10,900 [H:11,800 14,700 [H:15,700
HHR=EL BHa%  |ERFECHHE)| JAL JAL 27,000 58% 13,500 | H:14,300 13,500 | H:14,300
L |EFCHH)| JAL JAL 26,900 58% 13,400 [H:13,800 13,500 [ H:13,900
EH=L5 EH%E  [HEmCEE)| JAL JAL 27,800 57% 13,800 | H:14,100 14,000 | H:14,500
LEE% |EFECHHA)| JAL JAL 28,600 56% | H:29,300 14,500 | H:14,800 14,100 [H:14,500
EH=ILOFE BHA% (R CHHE)| JAL JAL 30,200 56% 14,100 16,100
WWOF8%E [RRERCEA)| JAL JAL 30,200 56% | H:31,000 16,100 | H:16,500 14,100 | H:14,500
EHR=HE BHA%  [ERECHHE)| JAL JAL 27,900 58% 13,700 14,200
HE HECHHE)| JAL JAL 28,900 56% 14,700 14,200
EH=S BHA%  |[ERRECHHE)| JAL JAL 30,500 52% | H:32,100 15,400 | H:16,200 15,100 | H:15.900
wmER [HECHH)| JAL JAL 30,500 52% 15,100 15,400
FH=ai EHE  [EmCEE)| JAL JAL 29,400 54% 14,800 [H:15,200 14,600 [ H:15,000
=% |[EFECHA)| JAL JAL 28,600 55% 14,200 14,400
EH=aH BEHA%  |[ERRECHHE)| JAL JAL 29,400 55% 14,400 [ H:14,800 15,000 | H:15.400
=A% |EFECHA)| JAL JAL 29,400 55% 15,000 | H:15.400 14,400 [ H:14,800
HHR=0L BEHA% |[ERRECHHE)| JAL JAL 30,200 55% | H:31,800 14,700 [H:15,500 15,500 | H:16,300
wmilFE  [EECHHE)| JAL JAL 30,200 55% | H:31,800 15,500 [ H:16,300 14,700 [H:15,500
EH=dAM BHAXE |RERECHHE)| JAL JAL 31,200 56% 14,200 17,000
JdEAMFE |[RECHH)| JAL JAL 31,200 56% | H:32,000 17,000 |H:17,500 14,200 | H:14,500
BEHR=K7 BEHA%  [ERECHHE)| JAL JAL 31,400 55% 14,500 16,900
AnFE |HFECHHAE)| JAL JAL 31,400 55% 16,900 14,500
EH=RI& BEHA%  [ERRCHHE)| JAL JAL 30,600 58% 13,500 17,100
RBE |[HFERCHA)| JAL JAL 31,400 57% 17,600 13,800
EHR=EX BEHA%E  [ERRECHHE)| JAL JAL 30,600 57% 13,900 16,700
BEAZE |[HFECHHAE)| JAL JAL 31,400 56% 17,200 14,200
EHR=8E BEHa% |[ERECHHE)| JAL JAL 29,400 59% 13,300 [ H:14,200 16,100 [H:17,200
=E |[HEFECHHAE)| JAL JAL 29,400 59% 16,100 | H:16,700 13,300 [ H:13,900
BER=ERS BHAX |[ERRCHHE)| JAL JAL 30,600 58% 13,500 [ H:13,800 17,100 [H:17,600
ERER [HRERCHA)| JAL JAL 30,600 58% 17,100 [H:17.600 13,500 | H:13,800
ZiR=/ 2 ZR%E |HEFCHHAE)| JAL JAL 24,000 57% 13,600 [ H:14,100 10,400 [H:10,700
MMAFE |ERFECHE)| JAL JAL 23,400 58% 10,100 [H:10,700 13,300 [H:14,100
=R=ML SRFE |HEFCHHAE)| JAL JAL 25,400 60% 12,600 | H:13,400 12,800 [ H:13,600
R |EFCHH)| JAL JAL 25,300 60% 12,800 [ H:13,200 12,500 [H:12,900
=R=L5 ZRE |HEFCHHAE)| JAL JAL 26,200 60% 12,800 [ H:13,200 13,400 [ H:13,800
LEE% |EFECHIHA)| JAL JAL 24,600 62% 12,500 12,100
ZR=W0=FH ZR%E |HEECHHAE)| JAL JAL 28,600 58% 13,300 15,300
WWOF8%E [RRERCEA)| JAL JAL 28,600 58% | H:29,400 15,300 | H:15,800 13,300 | H:13,600
SiR=HZE ZR%E |HEFCHHAE)| JAL JAL 28,700 56% | H:30,300 13,900 | H:14,700 14,800 | H:15,600
= BEECAE)|[ JAL JAL 26,300 60% 13,500 12,800
ZR=ES = HECRHE)| JAL JAL 28,900 54% | H:30,500 14,500 | H:15,300 14,400 | H:15,200
BEECAE)|[ JAL JAL 28,100 56% 14,000 14,100
ZiR=ai BEECAE)|[ JAL JAL 27,800 56% | H:28,600 13,900 [H:14,300 13,900 [H:14,300
BEHRCAE)[ JAL JAL 26,200 59% 13,100 13,100
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ZiR=% REECRAE)|[ JAL JAL 27,800 57% | H:28,600 13,500 [ H:13,900 14,300 [H:14,700
REECRAE)|[ JAL JAL 26,200 60% 13,500 12,700
ZiR=#x0 HECHHE)| JAL JAL 28,600 57% | H:30,200 13,800 | H:14,500 14,800 | H:15,700
wilFE  [HECHHE)| JAL JAL 27,800 58% 14,400 13,400
ZiR=dnM ZRFE |HEFECHHAE)| JAL JAL 28,800 59% 12,900 15,900
JdEAMFE |[RECHH)| JAL JAL 28,800 59% 15,900 12,900
ZiR=X% ZRE |HEFCHHAE)| JAL JAL 29,800 57% 13,600 16,200
AnFE |HFECHHAE)| JAL JAL 29,800 57% 16,200 13,600
ZRE |HEFCHHAE)| JAL JAL 29,800 59% 13,000 16,800
RBE |[HFECHA)| JAL JAL 29,800 59% 16,800 13,000
SRE |HEFCHHAE)| JAL JAL 29,000 59% |A:29,800 13,000 [A:13,400 16,000 [A:16,400
BAZE |[HFCHHAE)| JAL JAL 27,800 61% 15,300 12,500
ZR=E& SR%E |HEFCHHAE)| JAL JAL 27,800 61% | H:29,800 12,500 | H:13,400 15,300 | H:16,400
=E |[HEFECHHAE)| JAL JAL 27,800 61% | H:29,000 15,300 | H:16,000 12,500 | H:13,000
ZR=ERS ZRE |[HEFCHHE)| JAL JAL 29,800 59% 13,000 16,800
EREX |HECPH)| JAL JAL 29,800 59% 16,800 13,000
FE =/ EFE [HECHH)| JAL JAL 21,700 57% 11,400 10,300
MMAFE [EHERFECHAE)| JAL JAL 21,700 57% | H:23,900 10,300 |H:11,300 11,400 | H:12,600
A==l FEFE [HECHH)| JAL JAL 22,900 61% 10,400 12,500
FEILF |HERFECHH)| JAL JAL 23,600 60% 12,900 [H:13,800 10,700 )
MHE=LE FEFE [HECHH)| JAL JAL 24,500 59% 11,000 [H:10,300 13,500 [ H:12,600
LEE% |EFECHHA)| JAL JAL 23,700 60% 13,100 [ H:14.400 10,600 [H:11,700
E=LOF MEFE [HECHH)| JAL JAL 25,300 60% 10,700 14,600
WWOF8ME [RRCEA)| JAL JAL 26,900 58% 15,500 | H:16,500 11,400 | H:12,000
MEA=HE EFE [HECHH)| JAL JAL 25,400 58% 11,300 14,100
HES |ERECHH)| JAL JAL 22,900 62% 12,700 10,200
MHA=ES FEFE [HECHH)| JAL JAL 26,400 55% 12,100 14,300
wmER |[HECHH)| JAL JAL 26,400 55% 14,300 | H:14,700 12,100 |H:12,500
MEA=E1K MEFE [HECHH)| JAL JAL 24,500 58% 11,200 13,300
=% |[EFECHIA)| JAL JAL 24,500 58% 13,300 [H:13,700 11,200 [H:11,600
MEA=540 EFE [HECHH)| JAL JAL 22,900 62% 10,200 [H:10,500 12,700 [ H:13,200
=A% |EFECEA)| JAL JAL 26,100 57% 14,500 | H:15,400 11,600 [ H:12,300
#E=#1 RS [BRECPHE)| JAL JAL 24,500 60% 10,800 [H:11,100 13,700 [ H:14,200
NLFE  [BRECPHE)| JAL JAL 26,100 57% 14,600 [H:15,100 11,500 [H:11,800
FE =AM IR [BRECPHE)| JAL JAL 27,100 59% 11,100 16,000
JdEAMFE |[RECHH)| JAL JAL 27,900 58% | H:29,500 16,500 | H:17,500 11,400 | H:12,000
MEA=X5 FEFE [HECHH)| JAL JAL 26,500 59% 11,000 15,500
AnFE |HFECHHAE)| JAL JAL 28,100 57% | H:28,900 16,400 | H:16,900 11,700 | H:12,000
MA=FI& FEFE [HECHH)| JAL JAL 28,100 59% 11,100 17,000
RBE |[HFECHHA)| JAL JAL 28,100 59% | H:28,900 17,000 [H:17,500 11,100 [H:11,400
MEA=REX FEFE [HECHH)| JAL JAL 28,100 57% 11,500 16,600
BEAZE |[HFECHHAE)| JAL JAL 26,100 60% | H:26,900 15,500 | H:15,900 10,600 | H:11,000
MEH==I RS [BRECPHE)| JAL JAL 26,100 60% 10,600 15,500
=R [RECHE)| JAL JAL 26,100 60% | H:28,100 15,500 | H:16,600 10,600 | H:11,500
MH=ERS RS [BRECPHE)| JAL JAL 28,100 59% 11,100 17,000
EBREX |[HECHH)| JAL JAL 26,500 61% | H:28,900 16,000 | H:17,500 10,500 |H:11,400
E=H=E e [ KEROFFD| JAL JAC 22,600 58% 14,000 8,600
HER | KERUEFD| JAC JAL 20,800 61% 7,900 12,900
&E=xX% e [ KERUFFD| JAL JAL 22,200 59% 13,400 | H:14.400 8,800
A% | KBRUFFH| JAL JAL 23,800 56% 9,400 [H:10,300 14,400 i
s =R WweEH [KERUFRFD| JAL JAL 22,600 63% 12,200 [H:13,300 10,400 ,
RBE [ KROFFD|[ JAL JAL 23,800 61% 10,900 [H:12,000 12,900 ,
i =rX e [ KEROFFD| JAL JAL 24,600 58% 13,800 [ H:14,700 10,800 ,
BEAR | RBRUFF| JAL JAL 24,600 58% 10,800 [H:11,800 13,800 ]
&E==1k e [ KEROFFD| JAL JAL 26,200 55% 14,700 [H:15,200 11,500 [H:11,800
=% | RBRUFF| JAL JAL 25,400 57% 11,100 [H:12,200 14,300 [H:15,600
WE=ERS WEH [KERUFFD| JAL JAC 25,400 59% 13,500 11,900
BREX |XIRUEFD| JAC JAL 25,400 59% 11,900 | H:12,800 13,500 | H:14,500
FiR=HE ¥ | KERUFFD| JAL JAC 22,600 56% 13,700 8,900
HER | KBRUEFD| JAC JAL 21,800 58% 8,600 13,200
FiR=X% Fie¥E | KERUFFD| JAL JAL 22,200 58% 13,100 9,100
AnFE | KRUFFD|[ JAL JAL 23,000 56% 9,400 13,600
Fin=R& g% [ KRUFFD| JAL JAL 24,600 58% 13,000 11,600
RBE | KROFFD|[ JAL JAL 24,200 59% | H:24,600 11,400 | H:11,600 12,800 | H:13,000
Fim=REX s | KERUFFD| JAL JAL 24,600 57% 13,500 11,100
A% | RBRUFF| JAL JAL 24,600 57% | H:25,400 11,100 [H:11,500 13,500 [ H:13,900
Fin==k iR | KERUFFD| JAL JAL 26,200 54% 14,400 11,800
=% | RBRUFFH| JAL JAL 26,200 54% | H:27,000 11,800 [H:12,200 14,400 [ H:14,800
HR=ERS g% [KRUFFD| JAL JAC 25,400 58% 13,200 12,200
BREX |[XRUEFD| JAC JAL 24,200 60% | H:25,000 11,700 | H:12,000 12,500 | H:13,000




38278 ~31BIEHKEITI28 NEEFR JAL/JTA/JAC/RAC

P 2 SEAE yRAE
=4 3RO ki 3/27-31 tgug’éq = ERE ERE
[ EEO | REQ i ©) @
Y=Ll M [EHEFECHE)| JAL JAL 21,200 62% | H:22,000 9,100 | H:9,400 12,100 |H:12,600
FEL  |EFCHH)| JAL JAL 23,200 59% 13,300 9,900
IMA=]EE MMAFE |ERFECHE)| JAL JAL 24,000 58% | H 10,100 [H:10,300 13,900
LEE% |HFECHHAE)| JAL JAL 23,600 59% 13,600 [ H:14,100 10,000
MA=1LOFH MAFE [ERFECHE)| JAL JAL 23,600 61% 9,400 |H:10,000 14,200
WWOF8E [RRCEA)| JAL JAL 25,600 58% 15,500 | H:16,200 10,100
IMA=HE MMAFE [EHERFECHAE)| JAL JAL 23,700 59% 9,900 13,800
HE HECHHE)| JAL JAL 24,000 58% 14,000 | H:14,400 10,000 | H:10,300
IMA=1E5 MMAFE |EHERFECHE)| JAL JAL 25,500 54% 11,000 |H:12,100 14,500
®mER [HECHH)| JAL JAL 27,500 51% 15,600 11,900
INR=Z MMAFE |EHERFECHE)| JAL JAL 24,400 56% 10,500 |H:11,200 13,900
=% |[ERCHA)| JAL JAL 24,800 56% 14,100 10,700
INR=T5 MMAFE |ERFECHA)| JAL JAL 22,800 60% 9,500 |H:10,200 13,300
% |HEECPHE)| JAL JAL 25,600 56% 14,900 [H:15,100 10,700
M=l HECRHE)| JAL JAL 24,600 58% 10,200 [H:11,400 14,400
BEECAE)|[ JAL JAL 27,200 53% 15,900 [H:15,000 11,300
IMA=JE M HECHHE)| JAL JAL 26,200 58% 10,000 [H:10,300 16,200
BEECAE)|[ JAL JAL 26,200 58% 16,200 [ H:17,200 10,000
M=K HECHHE)| JAL JAL 26,000 58% 10,100 [H:10,600 15,900
BEECAE)|[ JAL JAL 26,800 57% 16,400 [ H:16,600 10,400 [H:10,600
IMA=RIE HECHHE)| JAL JAL 26,400 60% 9,800 16,600
BEECAE)|[ JAL JAL 26,400 60% | H:27,200 16,600 [ H:17,100 9,800 [H:10,100
INY=FEXR HECRHE)| JAL JAL 26,400 58% | H:25,600 10,100 |H:9,800 16,300 | H:15,800
BEECAE)|[ JAL JAL 26,400 58% 16,300 10,100
IMNA=H I HECHHE)| JAL JAL 26,400 58% 10,100 16,300
BEECAE)|[ JAL JAL 26,400 58% 16,300 10,100
Me=gRE |/ HECHHE)| JAL JAL 26,400 60% | H 9,800 [H:10,100 16,600
U HECHHE)| JAL JAL 25,800 60% 16,300 [ H:17,100 9,500
HRGER) =F B CHE) [JAL/JTA|  JAL 33,200 56% 18,900 | H:20,300 14,300 [H:15,300
HR(CAE)[ JAL  [JAL/JTA[ 32,400 57% 13,900 18,500
8 (BBER) ==R B CHE) [JAL/JTA|  JAL 31,600 58% | H:34,800 18,200 | H:20,000 13,400 | H:14,800
HRCHAE)[ JAL [JAL/JTA[ 30,400 59% 12,900 17,500
iR (BRER) =FE B CHE) [JAL/JTA|  JAL 29,900 57% | H:32,500 18,400 | H:20,000 11,500 | H:12,500
HR(CHAE)[ JAL [JAL/JTA] 28,700 59% 11,000 17,700
R (RER) =& [hEGRE E| B JTA JAL 28,100 63% | H:28,900 11,000 |H:11,400 17,100 |H:17,500
& F 12l JAL JTA 29,700 61% 18,000 11,700
R (BRER) = /iy [ (BRER) FE| R CHHE) [JAL/JTA[  JAL 28,200 58% | H:31,600 18,100 | H:20,200 10,100 |H:11,400
M HRFCHE)|  JAL  [JAL/JTA[ 28,200 58% | H:27,800 10,100 | H:10,000 18,100 | H:17.800




4818 ~28AE#ESI28 1 BEER JAL/JTA/JAC/RAC
[N - . ~ .
=B PO BERM 4/1-27 5;2 e EBEH BEHE 4os |BEE EHEE
XEO | XEQ - 1 @ 1 @
HRCRE) =2 [HEzHE) %[ P8 (G#) | JAL/JTA[JTA/RAC] 21,900 62% | 4:22,500 15,300 [£:15.700 6,600 |£:6.800 27.400 | 19.200 | 8.200
Bt #8 (BB¥R) | JTA/RAC| JAL/JTA| 21,800 63% |H:23,100 6,500 | H:6.900 15,300 [ H:16.200 23,900 | 7.200 | 16.700
R CHE) =R1E |Rn CHE) %[ 5# GRE) [JAL/JTA| JTA 22,300 65% |%::23,700, £:23,100 14,300 |£:15.200, +:14,800 8,000 |£:8,500, 18,300 28,600 | 18.300 | 10,300
B (BPE) | JAL JTA 25,800 64% | % +:27.400 8,200 [£1:8.700 17,600 [£ £:18,700 27,400 | 8700 | 18,700
AER [ B#GBE)| JTA |JAL/JTA[ 23200 64% 8,400 14,800 27,800 | 10,000 [ 17.800
AR (B | JTA JAL 25,000 65% | H:28,200 17.100 [H:19.300 7,900 [H:8,900 25000 | 17.100 | 7,900
KR () =% @B | KER () 5[ R (BE) | JAL JAL 20,800 67% |2 +:22,400, H:21,200 7,400 [£+:7.900, H:7,500 | 13400 [&+:14500, H:13,700 | 22,400 | 7,900 | 14,500
wiGnH |RECAH)| JAL JAL 21,600 66% | A%:22,800, +:22.400. H:24,000 | 14,000 |A:14700, £:14500, B:15500] 7,600 |A%8.100, £:7,000. B:8500 | 22800 | 14,700 | 8,100
LIREFFR) | JAL JAL 24,800 60% | H:26,400 8,500 | H:9.000 16.300 | H:17.400 24,800 | 8500 | 16.300
KR (B8) =% Bl | KBR (B78) SE[ ARG Fa) | JAL JAL 23,200 63% 15,300 7,900 23200 | 15300 | 7,900
e FIES FTFR)|  JAL JAL 24,800 60% 8,500 [H: 16.300 24,800 | 8500 | 16.300
KBR (FFH =8Il [ KBk () 5| 2 FH)| JAL JAL 22,100 64% 20,800 8,000 [% 17,500 14.100 . H:13300 | 22,600 | 8200 | 14.400
JEIE CBE) | JAL JAL 21,600 65% 24,600 13,800 [# . H:15700 | 7.800 :8,900 22,800 | 14,500 | 8,300
KR (B87E) =1)Il | RBR (%) 5[ Rz (GAE) | JAL JAL 22,100 64% 20,800 8000 % :7500 | 14,100 . H:13,300 | 22,600 [ 8,200 | 14.400
JEIIES CBE) | JAL JAL 21,600 65% 24,600 13,800 [ A% . H:15700 | 7.800 :8,900 22,800 | 14,500 | 8,300
KR () =88 | XBR (RFH F|RFCHA) | JAL JAL 19.400 68% X 20,000 7.100 £+7. :7.300 12,300 . B:12,700 | 19,600 | 7.200 | 12,400
ElEES CRA)| JAL JAL 21,000 66% | A%:22200, 1:19.600, H:24,100 | 13,300 |A%:14.100, :12400, H:15300 7,700 |A%:8,100. +:7,200, H:8800 | 22.200 | 14.100 | 8,100
KB (D =K [ ARG % [ER(BHA) | JAL JAL 23,200 62% | H:23,200, £:20,400, H:22,400 | 8,600 [H:8.600. £:7.500. H:8.300] 14,600 |A:14.600, +:12.900. H:14.100] 22,800 [ 8,400 [ 14,400
L CPRH) JAL JAL 22,000 64% | A:23.200, £:24,000, +:23,600, H:22,800 | 13,900 [#:14600. 215,100, +:14900. 814400 | 8,100 |A:8:600. £:8900. +:8.700. B:8400] 24,000 15,100 | 8,900
PNAG N HILERE CRE)|[ JAL JAL 22,000 64% | A:23.200, £:24,000, £:23,600, H:22,800 | 13,900 |#14500. £15.100. £ 14300, B-14400 | 8,100 |80, &6900. £:8.700. H:8400] 24,000 | 15,100 | 8,900
KB (D) =EfE [ AR (EFD) % [FR(BHA) | JAL JAL 21,100 61% |€1:22,300. H:20.300 8.800 |£1:9.300. H:8,500 12,300 |€+:13,000. H:11.800 | 22,300 | 9.300 | 13,000
AR CRA)| JAL JAL 21,900 59% | A%:23,100, 121,300, H:25,100 | 12,800 |A%:13500, +:12400, H:14600 9100 |A%:9.600. £:8900, H:10500] 23,100 | 13,500 | 9,600
KR () ==iR |XBRUFFD FE|RFCHA)| JAL JAL 21,800 58% A 9.400 | H:9.300 12,400 |H:12,100 21,800 | 9.400 | 12,400
E HE)| JAL JAL 22,600 57% A 12,800 [A£:13,500, H:13,300 [ 9.800 [& . H:10,100 | 23,800 [ 13,500 | 10,300
X (B97) * FE)| JAL JAL 22,600 57% |k 12,800 3,300 | 9,800 300, H:10.100 | 23800 [ 13,500 | 10.300
KR (RFH =Rk [ KPR (R %[ | JAG JAC 16.600 RES 10,100 700 | 6500 600, H:5.500 16.900 | 10,300 | 6,600
[ETZ3 JAC JAC 14,800 53% |& 5,800 9000 [& 15100 | 5900 | 9,200
KR (R =BT B[ XR(F % JAC JAC 20,500 48% |%+:21,550, H:20.700 13,900 4,700, H:14,100 | 6,600 &+, 21,550 | 14,700 | 6,850
JAC JAC 20,800 47% £:21,050, +:21,600, H:22,550 [ 6,700 6,750, 1:6,900, H:7.250| 14,100 |£:14,300, £:14,700, H:15300] 21,050 6.750 | 14.300
AR (B =8% JAL _[JTA/RAC| 19.200 63% 12,700 6.500 26,800 | 17.700 [ 9.100
JTA/RAC| JAL 20,200 61% 6,800 13,400 24,500 | 8300 | 16.200
PNACEE- #8 (BB | JAL/JTA[JTA/RAC] 19,200 63% 12,700 6,500 26,800 | 17.700 | 9,100
#8 (FR%) | JTA/RAC| JAL/JTA| 20,200 61% 6.800 13.400 24,500 [ 8,300 | 16,200
KR () =FR1E #E(REB) | JAL JTA 20,400 64% 12,200 8,200 27.100 | 16,200 | 10.900
MEB]| JTA JAL 24,400 57% | H:25,700 9,800 [H:10.300 14,600 [H:15.400 28,400 | 11,400 | 17.000
KR (%) =H1E @ GRER) [JAL/JTA] JTA 20,400 64% 12,200 8,200 27,100 | 16.200 | 10,900
RER [HEEE)| JTA [JAL/JTA[ 24400 57% |H:25,700 9,800 [H:10,300 14,600 [H:15.400 28,400 | 11,400 | 17.000
ZEE(PE) =%H5 [ BEE (DI R[AREGTTFE | JAL JAL 21,200 64% | % +:22,400 13,500 % +:14,200 7700 |%+:8,200 22,400 | 14,200 | 8,200
ZmBIE [AREETR) | JAL JAL 24,100 59% | H:26,300 8,800 | H:9.600 15,300 [H:16.700 24,100 | 8800 | 15.300
2HE(PE) == |42 %94 BT | JTA [IJTA/RAC] 19.200 66% = 1:20,200 13,200 [££:13.900 6,000 |4 +:6,300 25200 | 17.300 | 7,900
Ea% | F#GBE) [JTA/RAC] JTA 19.400 65% | H:21,000 6,100 | H:6.600 13,300 [H:14,400 23,400 | 7.300 | 16.100
2HE(PE) =FH1E|AHE (PR X PEGRR) | JTA JTA 20.400 67% |£1:21,400. H:21.900 12,800 [£+:13,400, H:13,700 | 7,600 [£+:8,000, H:8,200 26,400 | 16,500 | 9,900
GiE% WO | JTA JTA 19.400 69% 7,200 12,200 24,400 | 9.100 | 15300
LR FTR) =M[ARFTH &[Rm (FH)| JAL JAL 21,000 62% |:21,800, H:22,600 12,700 |£:13.200, H:13,700 8,300 |£:8,600. H:8.900 21,800 | 13,200 | 8,600
IMAFE CBE)|  JAL JAL 22,600 59% |%+:23300. H:21,000 8,900 [£+:9.200, H:8,300 | 13,700 |&+:14,100, H:12,700 | 25300 | 10,000 | 15.300
AR FTR) =FALUARFTH E[Rm FHE)| JAL JAL 22,000 65% H:23.600 11,600 [£:12,200, H:12.400 | 10,400 [£:11,000, H:11,200 23,200 | 12,200 [ 11,000
i L1y 5 CRA)| JAL JAL 22,800 64% |4 3,600, H:21,900 | 10,800 |£:12,100, %:11,200, F:10.400| 12,000 [£:13400, :12400, B:11.500] 27,500 | 13,000 | 14,500
ARG TR = LS [fUREF TR %[ HRCHE)|  JAL JAL 22,800 65% 11,900 [£:12,300, B:12,900 10,900 |£:11,300, H:11,900 23600 | 12,300 | 11.300
N CRE)| JAL JAL 24,800 61% 11,900 [£: 12,900 [+ H:12,700 26,800 | 12,800 | 14,000
ARFFR) =LOFH LR FTR R HE)| JAL JAL 24,400 64% : 12,000 12,400 1,600, H:13.200 24,400 | 12,000 [ 12.400
MEESE HE)| JAL JAL 24,400 64% | #::26,600, £:25,200 12,400 12,000 [#:13,100, £:12.400 27,600 | 14,000 [ 13,600
R F TR =HEARFETR) 5 HE)| JAL JAL 24,900 62% | 4::26,500, H:26,700 12,900 [£:13,700, H:13.800 | 12,000 [£:12,800, H:12.900 26,500 | 13,700 | 12.800
HER CBE) | JAL JAL 24,000 63% | £:26,700, £:25.200, H:23,900 | 11,600 |%:12,900, £:12,200 | 12,400 [#:13.800, £:13000, B:12300] 28,300 | 13,700 | 14.600
ARG TR =RS[RE TR X[ HRCHE)|  JAL JAL 25,500 60% 8,700 13,600 11,900 |H:13,400 25500 | 13,600 | 11.900
EER HE)| JAL JAL 28,000 56% 0,000, +:27,900. H:26,300 | 13,100 14,900 |%:16.000, £:14,.800. H:14000] 30,000 | 14,000 | 16,000
ARG TR =R [URE TR X[ HR CHE)|  JAL JAL 24,000 62% 4,800, H:26.100 12,800 [£:13.200, H:13,900 11.200 |£:11,600, H:12.200 25200 | 13.400 | 11.800
BIAE CBE) | JAL JAL 23,600 63% 6,100, £:25.200 11,100 2,200, £:11,800 | 12,500 [%:13,900, £:13.400 27,600 | 12,900 [ 14,700
IRFTR) =mA[ARFTH E[Rm (PH)| JAL JAL 23,600 64% 4,400, H:25.200 12,200 2,600, H:13,000 | 11,400 [%:11,800, H:12,200 24,400 | 12,600 | 11.800
BHE CBE) | JAL JAL 24,400 62% 7,400, £:26,000 11,800 |£:13,300, £:12.600 | 12,600 [£:14,100, +:13.400 28,400 | 13,700 | 14,700
AL (BT =LA T a5 HE)| JAL JAL 24,400 63% 6,000, H:26,600 12,500 |£:13,300, H:13.600 | 11,900 [£:12,700, H:13,000 26,000 | 13,300 | 12,700
HALLFE CRHE)| JAL JAL 26,500 59% 7,600, £:26,800, H:25.200 | 12,900 |£:13500, %:13,100, B:12,300] 13,600 |#:14.100, £:13,700, A:12.900] 28,600 | 14,000 | 14.600
ARFFR) =LAN[ARFGETFHR[HRCAEA) | JAL JAL 25,000 64% :25,800 11,900 | H:12.300 13,100 [ H:13,500 25800 | 12,300 | 13,500
LN F CRHE)| JAL JAL 25,000 64% 8,800, +:25,400, H:25.800 | 13,100 |£:15,100, £:13,300, B:13,500] 11,900 |#:13.700, £:12,100, A:12300] 29,800 | 15,600 | 14.200
AL (FF ) = K5 4L (&ﬁ-‘rﬁ)# R CRE | JAL JAL 25,200 64% 3,600, H:26.800 12,200 |£:11,400, H:13,000 | 13,000 [£:12,200. H:13.800 26,000 | 12,600 | 13.400
K5 CRE) | JAL JAL 27,600 60% |+ H:26,000 14,200 |+ H:13.400 13,400 [+ H:12,600 31,000 | 16,000 [ 15,000
ARG TR =R LR EF TR %[ HRCHE)|  JAL JAL 25,200 65% | H:26,000 11,700 | H:12,000 13,500 |H:14,000 26,000 | 12,000 | 14,000
RIR 5 CRE) | JAL JAL 27,100 63% 14,600 |£:15,600, £ H:14,000 | 12,500 [£:13,500. £ H:12,000 | 29,100 [ 15,600 | 13,500
FLIR BT Fi%) =REAR AR (T8 [/ (CHE) | JAL JAL 25,200 64% 12,000 13,200 26,000 [ 12,400 | 13,600
REASE CRE) | JAL JAL 25,200 64% 13,200 |£:14.200 12,000 (& 29,100 | 15,200 [ 13,900
IR BT FR) =SB ARG TR X[ /RTCHE) | JAL JAL 23,600 66% 11,300 12,300 26,000 [ 12,400 | 13,600
G CRE) | JAL JAL 27,100 61% |+ H:26,000 14,200 |+ H:13.600 12,900 29,100 | 15,200 | 13,900
ARFTFR) —ERB[ARFGTHR[RRCAR) | JAL JAL 25,200 65% | H:26,800 11,700 |H:12.400 13,500 [ H:14,400 26,000 | 12,000 [ 14,000
BEREEH CRHE)| JAL JAL 24,400 66% |£:26,600, 1:25,600, H:25,200 | 13,100 |%:14.300. +:13,800. H:13,500] 11,300 |#:12.300, +:11.800, B:11.,700] 27,600 14,800 | 12,800
AR TR =048 (BE) | ALIR TR | "R CPAA)| JAL [JAL/JTA| 26,200 65% |%::28,900, 1:28,300, H:25,800 | 11,800 |£:13,000, +:12.800, B:11600] 14,400 |£:15900, £:15500, A:14.200] 31,400 | 14,200 | 17,200
ABE(BF)| JAL [JAL/JTA| 25000 67% | H:26,600 13,700 | H:14.600 11,300 [H:12,000 27,400 | 15,000 | 12.400
SEE(PE)|  JAL JTA 21,800 71% 10,700 11,100 22,600 | 11,100 | 11,500
18E JAL JTA 24,300 69% 15,800 8,500 24,300 | 15,800 | 8,500
SRR () R == (FH) [JAL/JTA[ JAL 26,200 65% |4::28,900, H:28.400 14,400 |%:15,900, H:15.600 | 11,800 [:13,000, H:12.800 30,200 | 16,600 | 13,600
AR (BH7E) [JAL/JTA[  JAL 27,400 64% | H:29,000 12,400 [H:13,100 15,000 [H:15,900 27,400 | 12,400 | 15,000
BHE(PE)| JTA JAL 23,000 70% |4::23,800, H:26,200 11,700 [£:12,100, B:13,300 | 11,300 [£:11,700. H:12.900 23,800 | 12,100 [ 11,700
15 JTA JAL 25,900 67% |2 1:26,700 9,100 [£+:9.300 16,800 | £:17,400 26,700 | 9,300 | 17.400
12 =% 55 FEEES RECAA)| JAL JAL 24,800 68% | A1:25,600, £:27,200, H:26,400 | 11,700 |A+:12.100, $:12800, B:12500] 13,100 [K+:13500, £:14400, B:13.900] 27,200 | 12,800 | 14,400
LIREFTFR) | JAL JAL 25,700 65% 18,100 7,600 25700 | 18,100 | 7,600
ZimpIFE [RRCEE)| JAL JAL 24,000 69% | +:28,000, H:27.200 12,700 [&+:14.800, H:14,400 | 11,300 (£ +:13,200, H:12.800 | 25600 | 13,500 | 12,100
FTFR|  JAL JAL 24,900 66% | H:25,600 7,300 [H:7.600 17,600 [ H:18,000 24,900 | 7.300 | 17.600
=R =18 [EEES CHHE)| JAL JAL 23,200 70%  |%:27,200, 1:26,600, H:24,000 | 11,200 |£:13.100, £:12,800, B:11,600 12,000 |%:14,100, £:13,800, A:12.400] 27,200 | 13,100 | 14,100
JEES CHHE)|[  JAL JAL 24,000 69% | A:25.600, £:28,000, +:26,000, H:28,600 | 12,400 [#:13300. £:14500. +:13500. 514800 | 11,600 [A:12300. £:13500. 12500, 8:13.800 28,800 14,900 | 13,900
1BRE =4I F G CRE)| JAL JAL 23,400 69% | A:24200. % H:25200, £:22.800 | 11,400 |A:11,700. £ B:12.200. 11,100 12,000 |A:12.500. & H:13000, £:11700| 25200 | 12,200 | 13,000
S CRHE)| JAL JAL 23,400 69% | A:25000, £:25,800, £:25200, B:29,100 | 12,000 |#1290. 13300 £13000. 815000 | 11,400 [A12.100. 12500, +-12200. 4100 | 26,600 | 13,700 | 12,900
BE=FK EEE CBE)|[  JAL JAL 26,000 65% | A%:26,800. +:25,200 12,700 [A#£:13.100, £:12,300 | 13,300 [A£:13,700, £:12.900 | 26,000 | 12,700 [ 13,300
HIRSE CBE)|[  JAL JAL 24,400 68% | H:26,000, £ 1:29.100 12,500 |AH:13.300. £ +:14,900 | 11,900 [ AH:12,700, £ +£:14200] 29200 | 14,900 | 14,300
1BRE =FfE BEE GHE)| JAL JAL 24,300 64% |%::27,500, £:26.300 13,100 |#:14.800, £:14.200 | 11,200 [£:12,700, £:12.100 27,500 | 14,800 | 12,700
BRARSE CBE)|[  JAL JAL 25,300 63% |& +:26,900, H:28.300 11,700 [£+:12.400, H:13,000 | 13,600 (& +:14,500, H:15.300 | 26,900 | 12,400 | 14,500
BE=F% wmE%E [ERE)| JAL JAL 27,400 50% | %:30,600, T:25.800, H:28.800 | 15,100 |£:16,800, +:14,200, H:15800 12,300 |%:13.800, £:11,600, H:13.000] 28,200 | 15,500 | 12,700
AR (| JAL JAL 29,800 49% 11,100 18,700 29,800 | 11,100 | 18,700
R CHE)| JAL JAL 27,400 59% 8,200, £:28.800 12,300 [ A H:12,700, £:13,000 | 15.100 5500, £:15.800 | 29,800 [ 13,400 | 16.400
AR (| JAL JAL 28,200 52% 1,000 17.700 :19.400 10,500 1,600 29,800 | 18,700 [ 11,100
BE==R EACEN N JAL 25,000 62% 6,600 13,900 [£ H:14.700 11,100 £ H:11,900 26.600 | 14,700 | 11.900
R CHE)| JAL JAL 25,000 62% | A H:26,600, £:27.400 11,100 |A£H:11,900, £:12,200 | 13,900 | A+ B:14,700, %:15.200] 28200 | 12,600 | 15,600
BE=7% AR (FRD| JAL JAL 26,600 53% 10,200 16,400 26,600 | 10.200 | 16,400
AR (FFD| JAL JAL 26,600 53% | H:27.800 16.400 [& H:17.100 10,200 [ H:10,700 26,600 | 16,400 | 10,200
B =@ FRECRE)|  JAL JAL 23,300 62% 5,700, F:22,500, H:24,700 | 13,900 |%:15.400, +:13500, B:14.800] 9,400 |%:10.300, £:9,000, H:9900| 25700 | 15,400 | 10,300
R CHE)| JAL JAL 24,100 61% | A% +:24900, H:22,500 9,700 | A% +:10,000. H:9,000] 14,400 | A% £:14,900. B:13500] 24,900 | 10,000 | 14,900
AR (FD| JAL JAL 28,200 49% |% H:31,000 17.000 | % H:18.600 11,200 [ H:12,400 29,800 | 17,900 [ 11,900
&R = L7 R CHE)| JAL JAL 23,400 57% |4 H:25,000, £:22.600 15,600 | H:16.700, £:15,100 | 7,800 |4 H:8,300, £:7.500 25000 | 16,700 | 8,300
AR (FD| JAL JAL 26,600 51% |H:25,000 10,800 [H:10,200 15,800 | H:14,800 26,600 | 10,800 | 15,800
R CHE)| JAL JAL 23,400 57% |& +:25000 7,800 [£+:8.300 15,600 [ +:16,700 25000 | 8300 | 16.700
RRF] JAL JAL 26,600 51% | H:27.800, £:25.000 15,800 |4 H:16,500, £:14,800 | 10,800 (£ H:11,300, £:10.200 | 26,600 | 15,800 | 10.800
BE =35 KERFD| JAL JAL 20.200 60% 8,700 11.500 20,200 | 8700 | 11,500
% [XIR(EFED| JAL JAL 20,200 60% | H:21,400 11,500 | H:12.200 8700 |4 H:9.200 20,200 | 11,500 | 8,700
1R =/ EEF [RRCHAE)| JAL JAL 23.200 60% 4,800, 1:22,800, H:24,000 | 14,500 [%:15500. £:14300. B:15000] 8,700 |%:9.300. £:8,500, H:9.000] 24,800 | 15500 [ 9,300
A% [RFRCHAE)[ JAL JAL 23,200 60% |k H:24,000, %:24.500 8700 | K H:9.000. £:9,200 14,500 | A H:15,000, £:15.300 | 25500 [ 9.500 | 16,000
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BE=2% @GR | JTA [JTA/RAC|  17.200 62% 10,500 6,700 21,200 | 13,000 ] 8,200
# (BB [ JTA/RAC] JTA 17.300 62% |2 H:18,900 6,700 [£ H:7.300 10,600 [ H:11,600 22,900 | 8900 | 14,000
BRE=AE WRER) | JTA JTA 18,400 64% |%:19,400, H:20.400 10,000 |£:10,600, H:11,100 8,400 |£:8.800. H:9,300 24,400 | 13,300 [ 11.100
a TE GBI JTA JTA 18,400 64% 8,400 10.000 23,400 | 10,700 [ 12,700
Zimhl =& ZiGRI% |[AREGTE| JAL JAL 23,100 54% : 9.900 13.200 |H: 23100 | 9.900 | 13.200
il & FFR)|  JAL JAL 23,100 54% & 13,200 9,900 [£+:10,300 23,900 | 13,600 | 10,300

SR i B 3¢ CRA)| JAL JAL 21,400 66% P 14,000 7,400 |£+:8,100. H:8.600 22200 | 14500 | 7.700
IMAFE CRE) | JAL JAL 21,400 66% |2 +:23,000, H:22,100 7,400 14,000 (£ +:15000, H:14.400 | 23000 [ 8,000 | 15,000
2 Bl = R L i B 3¢ CRA)| JAL JAL 22,400 69% 2:23,600, H:24.800 12900 4 9,500 |%:10,000. H:10.500 23600 | 13,600 | 10.000
[ENE CRE)| JAL JAL 22,300 69% | H:23,900 9,400 [H:10,100 12,900 [H:13,800 23,900 | 10,100 [ 13,800

TBIIT=/E2 JEIIE GHE)|  JAL JAL 21,400 65% |#::22,200, H:25,600 13,800 |£:14.300. H:16,500 7,600 [%:7.900, H:9,100 22,200 | 14,300 [ 7,900
IMAFE CRE)| JAL JAL 21,400 65% | +:23,300, H:21,300 7,600 [£+:8.300 13,800 [# +:15000, H:13.700 | 23300 [ 8.300 | 15,000
FEJI=RW JEIIE GHE)|  JAL JAL 22,400 68% |4::23,600, H:26,600 12,700 [& 9700 [£:10,200, H:11.500 23,600 | 13,400 | 10,200
G CRE)| JAL JAL 22,300 68% % +:25500 9,600 |%& 12,700 [ £:14,500 25500 | 11,000 | 14,500

SllEg =/ BIERSE CRE)| JAL JAL 20,800 66% |2::21,600, H:25.100 13,300 [&: 116,100 7,500 [%:7.800, H:9,000 21,600 | 13,800 | 7,800
INASE GHE)|  JAL JAL 20,000 67% | +:20,200, H:20.900 7,200 . H:7,500 | 12,800 |&+:12.900, H:13400 | 20,200 | 7.300 | 12,900
g =Ml ElES CRA)| JAL JAL 21,800 68% 2:23,000, H:26.100 12.300 114,700 9,500 |%:10,000. H:11,400 23000 | 13,000 | 10.000
[ CRE)| JAL JAL 21,700 69% |%+:21,900, H:22.700 9500 [& . H:9900 | 12,200 £ +:12,300, H:12,800 | 21,900 | 9,600 | 12,300

HIR=/R HLE GHE)|  JAL JAL 21,800 64% | % +:24,400, H:22.600 13,900 [£+:15500, H:14,400 | 7,900 [ +:8,900. H:8.200 24,400 | 15,500 | 8,900
MR CRE)| JAL JAL 21,800 64% |H:21,700 7,900 13,900 [H:13,800 21,800 | 7.900 | 13,900
HE=RW a3 CRA)| JAL JAL 22,800 67% |&+:25200 12,800 [££:14,100 10,000 £ +:11,100 25200 | 14,100 | 11.100
[N CRE)| JAL JAL 22,700 67% | H:23,500 10,000 [H:10.300 12,700 [H:13,200 22,700 | 10,000 [ 12,700

AR =/ EEER GHE)|  JAL JAL 22,100 59% |%::22,500, H:25.700 13,000 |£:13,300, H:15.100 9,100 |£:9.200. H:10,600 22,500 | 13,300 | 9,200
IMAFE CRE)| JAL JAL 21,700 59% |4 +:23,000, H:20.900 8,900 [£+:9500, H:8,600 | 12,800 |&+:13500, H:12,300 | 23,000 | 9,500 | 13,500
EAE=MRL EEER GHE)|  JAL JAL 22,900 63% |%::23,900, H:25.900 11,700 [#:12,200, H:13.200 | 11,200 [£:11,700, H:12,700 23,900 | 12,200 [ 11,700
SIS CHHE)| JAL JAL 22,600 63% e 1:25,200 11,100 |%+:12.300 11,500 | 1:12,900 25200 | 12,300 | 12,900
EAE=dL M EAESE CRA)| JAL JAL 25,900 62% 11,900 | H:13,000 14,000 |H:15,100 25900 | 11,900 | 14,000
Bl CRE)| JAL JAL 23,600 65% 12,700 [& H:13.100 10,900 [ H:11,300 24,400 | 13,100 [ 11,300
EEE=K% EEER CRE)| JAL JAL 25,900 61% 12,100 [£:11,900, H:13.600 | 13,800 [£:13,400. H:15.500 26,900 | 12,600 | 14.300
KD F CRHE)| JAL JAL 25,900 61% 13,800 |%:15.500, +:15,300, A:12.900| 12,100 |%:13,600, £:13,500, A:11.400] 29,100 15,500 | 13,600
iR =RIG EAESE CRA)| JAL JAL 26.900 62% 12,000 14,900 |H:15,700 26.900 | 12,000 | 14.900
RIRSE CRE) | JAL JAL 23,900 66% 13,200 10,700 (£ +:12,100 27,100 | 15,000 [ 12,100
RS EAESE CRE)| JAL JAL 26,100 62% 12,000 14,100 | A% +:14,500, H:15.300] 26,900 | 12,400 | 14,500
REAS CRE) | JAL JAL 23,900 65% 12,900 11,000 [ £:12,400 26,800 | 14,400 | 12.400
WAE=E15 EEER CRE) | JAL JAL 24,900 63% 11,500 13,400 [£:14,400, H:15.700 26,900 | 12,400 | 14,500
G CRE) | JAL JAL 25,100 63% 13,500 11,600 [ £:12,400 26,800 | 14,400 | 12.400
HE=ERE EEER CBE)|  JAL JAL 26,900 62% | H:29,100 12,000 |H:13,000 14,900 [H:16.100 26,900 | 12,000 | 14.900
ERB%E CBE)|  JAL JAL 25,900 63% |2 +:27,300 14,300 [& £:15.100 11,600 [& £:12,200 27,300 | 15,100 [ 12.200
BFHR=ML EAR CRE)| JAL JAL 25,100 52% 14,500 10,600 25100 | 14,500 | 10,600
IMAFE CRE) | JAL JAL 24,000 54% |% H:25,100 10,100 | H:10.600 13,900 [ H:14,500 25100 | 10,600 | 14,500
EHR=[WL 5% HE)| JAL JAL 25,000 58% |4::26,800, £:23400 12,500 |%:13,400, £:11,700 | 12,500 [:13,400, £:11,700 26,200 | 13,100 | 13,100
BN CRE) | JAL JAL 24,900 59% | H:25,700 12,400 |H:12.800 12,500 [H:12,900 24,900 | 12,400 | 12,500
EHR=LE EHR CRE)| JAL JAL 25,800 58% | 228,200, 125,000, H:26.600 | 12,800 |£:13900, +:12,400, H:13,100 13,000 |%:14.300. £:12.600. H:13500] 26,600 | 13,100 | 13,500
LE% CRHE)| JAL JAL 26,600 56% 8,800, +:25.000, H:27,000 | 13,500 [£:14,600, £:12,600, B:13,700] 13,100 |%:14.200, %:12.400. B:13300] 27,400 13,900 | 13,500
EHR=ILOFH EBE CRE)|[ JAL JAL 27,400 58% |4::28,800, £:25000 12,700 [%:13,400, £:11,600 | 14,700 [%:15,400, £:13.400 27,400 | 12,700 [ 14,700
WO FEFE CRE)|[ JAL JAL 27,400 58% | H:28,200 14,700 [H:15.100 12,700 [H:13,100 27,400 | 14,700 [ 12,700
BEHR=HZE EHE |[EmE)] JAL JAL 25,900 58% 12,700 13,200 25900 | 12,700 | 13,200
AR (| JAL JAC 28,200 50% 18,500 9,700 28200 | 18500 | 9,700
HE FECRE)| JAL JAL 26.900 56% 13,700 13.200 26,900 | 13,700 | 13.200
KR(FR] JAC JAL 28,200 50% |1:27,400, H:28.300 9,700 [+:9.400 18,500 [1:18,000, H:18.600 28200 | 9700 | 18,500
EA=EE BHERE RCAE)| JAL JAL 28,500 52% |4 H:30,100, £:27.700 14,400 | H:15.200, £:14,000 | 14,100 (£ H:14,900, £:13.700 | 28500 | 14,400 [ 14,100
EmER GHE)| JAL JAL 28,500 52% 14,100 14,400 28500 | 14.100 | 14,400
EH=mh EHR CRE)| JAL JAL 27,000 55% | 228300, 1:25.800, H:27.800 | 13,600 |£:14300, +:13,000, H:14000 13,400 |%:14,000. £:12.800. H:13.800] 28,200 | 14,200 | 14,000
BINE GHE)| JAL JAL 26,600 55% 13,200 13,400 26,600 | 13.200 | 13,400
BEHa=mH EaR CRR)|[  JAL JAL 26,600 57% |£::28,800, £:25,000, H:27,400 | 13,000 |%:14.100. +:12,200, H:13.400] 13,600 |%:14.700, +:12,.800, B:14000] 27,400 13,400 | 14,000
BAE CBE)|  JAL JAL 26,600 57% | % H:27.400 13,600 | H:14.000 13,000 [ H:13,400 27,400 | 14,000 [ 13,400
BHR=L 5% HE)| JAL JAL 27,400 56% |4::20,000, £:25,800 13,300 [£:14.100, £:12.500 | 14,100 [£:14,900. £:13.300 29,000 | 14,100 [ 14,900
[NITES CBE)|  JAL JAL 27,400 56% | H:28,800 14,100 13,300 [ H:14,000 27,400 | 14,100 [ 13,300
HHx=1LAM EHR CRA)| JAL JAL 28,000 58% | %£:30,400. £:26.400 12,600 15.400 |£:16,700, £:14.500 28,800 | 13,000 | 15.800
Bl CRE)|  JAL JAL 28,000 58% |4 H:28,800 15.400 12,600 [ H:13,000 28,800 | 15,800 | 13,000
EHR=Xn EHR%E CBE)|  JAL JAL 28,200 57% 12,900 15,300 [£:16.100, £:14.600 29,000 | 13,300 [ 15,700
RO5 HE)| JAL JAL 28,200 57% 15,300 12,900 2,700 29,000 | 15.700 | 13,300
EH=F5E EHE |[EmE)| JAL JAL 27,400 60% 12,000 15,400 6,300 29,000 | 12,700 | 16,300
AR (| JAL JAL 29,300 53% 17.200 12,100 2,400 29,300 | 17.200 [ 12,100
RIS [RECHAE)| JAL JAL 28,200 59% 15,900 12,300 28.200 | 15,900 | 12.300
RER(F]  JAL JAL 27,400 56% | +:27,800, H:29.400 11,300 [£+:11.400, H:12,100 | 16,100 (£ +:16,400, H:17.300 | 27.800 | 11,400 | 16.400
EHR=RX EARE  [EmE)| JAL JAL 27,400 59% |%::20,000 12,300 [%:13.100 15,100 [£:15.900 29,000 | 13,100 | 15.900
BAE [ER(GE)| JAL JAL 28,200 58% 15,500 12,700 28,200 | 15500 | 12,700
AR (| JAL JAL 29,300 51% |H:31,700 11,400 |H:12.400 17.900 [H:19,300 29,300 | 11.400 | 17,900
EHR=815 EARE  [EmEE)| JAL JAL 26,200 61% | 227,800, T:25.400, H:28.200 | 11,800 |£:12.500, £:11400, H:12,700] 14,400 |%:15.300. £:14,000. H:15500] 29,000 | 13,100 | 15,900
AR (D[ JAL JAL 29,800 50% | H:31,400 18,200 [H:19.100 11,600 [H:12,300 31,800 | 19.400 | 12,400
BEHE [RRGE)| JAL JAL 26,200 61% 14,400 11,800 26,200 | 14.400 | 11,800
RERF]  JAL JAL 29,400 51% |H:31,000 11,500 17.900 29,800 | 11,600 | 18,200
ER=ERBE A% [EZCE)| JAL JAL 27,400 60% | 4::29,300, H:28,200 12,000 15,400 29,000 | 12,700 | 16.300
D[ JAL JAC 29,000 54% | H:29,400 16,800 | & H:17.000 12,200 [ H:12,400 29,400 | 17,000 [ 12.400
)| JAL JAL 27,400 60% | H:28,200 15,400 |H:15.900 12,000 [H:12,300 27,400 | 15,400 | 12,000
D[ JAC JAL 28,600 55% |+:29,800, H:31.400 12,100 [£:12,600, H:13.300 | 16,500 [+:17.200, H:18.100 28,600 | 12,100 | 16,500

ZiR=/ JAL JAL 22,400 56% | H:23,200 12,900 | H:13.300 9500 |4 H:9,900 23,200 | 13,300 [ 9,900
JAL JAL 21,600 58% | H:22,300 9,200 [H:9.500 12,400 [H:12,800 21,600 | 9,200 | 12.400
ZR=RW JAL JAL 23,400 61% [£:24,600 11,600 |£:12.200 11,800 [£:12,400 24,600 | 12,200 [ 12.400
JAL JAL 23,300 61% |H:24,100 11,800 |H:12.200 11,500 [H:11,900 23,300 | 11,800 | 11,500
ZiR=IE8 JAL JAL 24,200 60% | H:25,000 11,800 | & H:12.200 12,400 [ H:12,800 25000 | 12,200 [ 12.800
P JAL JAL 22,800 62% 11,600 11,200 22,800 | 11,600 | 11,200
ZR=WAOFH iR GHE)| JAL JAL 25,800 60% | 1:24,200 11,900 [£:11.100 13,900 [£:13,100 25800 | 11,900 | 13,900
S GHE)| JAL JAL 25,800 60% | H:26,600 13,900 | H:14.400 11,900 [H:12,200 25800 | 13,900 | 11,900
ZR=HZ GHE)| JAL JAL 26,300 57% |% H:27,900 12,700 | H:13,500 13,600 | H:14,400 27,900 | 13,500 | 14.400
CRE)|  JAL JAL 24,600 60% | & +:26,200 12,700 [& £:13,500 11,900 [£ £:12,700 26,200 | 13,500 | 12,700
ZR=#5 GHE)| JAL JAL 26,900 54% | H:28,500 13,500 | H:14.300 13,400 [H:14.200 26,900 | 13,500 | 13,400
GHE)| JAL JAL 26,100 56% 13,000 13,100 26,100 | 13,000 | 13,100
ZiR=®"0 GHE)| JAL JAL 25,400 57% | H:26.200 12,700 [& H:13.100 12,700 [£ H:13,100 26,600 | 13,300 | 13,300
GHE)| JAL JAL 23,800 60% 11,900 11,900 23,800 | 11,900 | 11,900
GHE)| JAL JAL 25,000 59% 12,100 12,900 25800 | 12,500 | 13,300
GHE)| JAL JAL 23,400 62% | % +:24.200 12,100 [& £:12.500 11,300 [£ £:11,700 24,200 | 12,500 | 11,700
GHE)| JAL JAL 25,800 58% | H:27.400 12,400 | H:13.200 13,400 [ H:14,200 27,400 | 13,200 | 14.200
GHE)| JAL JAL 25,000 59% 13,000 12,000 25,000 | 13,000 [ 12,000
GHE)| JAL JAL 25,600 61% [%£::26,400 11,400 |£:11.800 14,200 [£:14,600 26,400 | 11.800 | 14,600
GHE)| JAL JAL 25,600 61% 14,200 11,400 25,600 | 14.200 | 11,400
CRE)|  JAL JAL 26,600 59% | +:25,000 12,100 [£:11,300 14,500 [+:13,700 27,400 | 12,400 | 15,000
GHE)| JAL JAL 26,600 59% 14,500 12,100 27,400 | 15,000 | 12,400
GHE)| JAL JAL 26,600 61% 11,500 15,100 27,400 | 11.800 | 15,600
GHE)| JAL JAL 26,600 61% 15,100 11,500 26,600 | 15100 | 11,500
CRE)|  JAL JAL 25,800 61% | A% 1:26,600 11,500 [A £ £:11.900 14,300 [ A& £:14,700 27,400 | 12,200 [ 15.200
GHE)| JAL JAL 24,600 63% 13,600 11,000 24,600 | 13,600 | 11,000
GHE)| JAL JAL 24,600 63% |:27,400. H:26.600 11,000 [£:12,200, B:11,900 | 13,600 [%:15,200, H:14.700 27,400 | 12,200 [ 15.200
GHE)| JAL JAL 24,600 63% | H:25,800 13,600 | H:14.300 11,000 [H:11,500 24,600 | 13,600 | 11,000
GHE)| JAL JAL 26,600 61% 11,500 15,100 27,400 | 11.800 | 15,600
GHE)| JAL JAL 26,600 61% 15,100 11,500 26,600 | 15100 | 11,500

ME=/I ES CRA)| JAL JAL 20,100 57% 10,600 9,500 20,100 | 10,600 [ 9.500
INASE GHE)| JAL JAL 19.900 57% |%::20,700, H:21.400 9,400 [£:9.700, H:10,100 10,500 [£:11,000, H:11.300 20,700 | 9,700 [ 11,000
WA= PR GHE)| JAL JAL 20,900 62% 9,400 11,500 20,900 | 9.400 | 11,500
[ CRE)|  JAL JAL 21,600 61% [£:22,400, H:23.200 11,900 |£:12.300, H:12,800 9,700 [%:10,100, H:10.400 22,400 | 12,300 [ 10,100
ME=IE8 HEE CRE)|  JAL JAL 22,500 59% [H:21,100 10,000 | H:9.400 12,500 [H:11,700 22,500 | 10,000 [ 12,500
NS @) JAL JAL 21,700 61% |%2::24,100, H:22.900 12,100 |£:13.400, H:12,700 9,600 [%:10,700, H:10.200 24,100 | 13,400 [ 10,700
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KO | XE - 1 @ 1 @
WE=LAFH MERE [RRCHAE)| JAL JAL 22,500 62% 9,300 13,200 22,500 | 9,300 | 13.200
WOFE% [RR(FBE)|  JAL JAL 24,100 59% | H:24,700 14,100 | & H:14.400 10,000 [ H:10,300 24,700 | 14,400 [ 10,300
ME=HZE MEEX |[EFERCEE)| JAL JAL 23,400 58% 10,300 13,100 23,400 [ 10,300 | 13,100
AR (| JAL JAC 25,100 52% 15,900 9,200 25100 | 15900 | 9,200
HERX [ERERE@H)| JAL JAL 20,500 63% |£+:22,100 11,500 [ +:12.400 9,000 |£+:9,700 22,100 | 12,400 | 9,700
AR (| JAC JAL 25,100 52% 9,200 15.900 25100 | 9.200 | 15,900
ME=E8 =R RCHE)| JAL JAL 24,400 55% | +:25,100 11,100 [& +:11.400 13,300 [£ £:13,700 25100 | 11,400 [ 13,700
BHSE CRE)| JAL JAL 24,400 55% | H:25,100 13,300 | H:13.700 11,100 [ H:11,400 25100 | 13,700 [ 11.400
B 5 GHE)|  JAL JAL 22,100 59% | +:22500 10,000 [ £:10.200 12,100 [£ £:12,300 22,500 | 10,200 | 12.300
% GHE)|  JAL JAL 22,100 59% |%::22,900, H:22,700 £:12500, H:12,400 | 10,000 [£:10,400, H:10.300 22,900 | 12,500 | 10,400
HNE=54 =k GHE)|  JAL JAL 20,100 64% |2 H:20,900 % 8:9.200 11,300 [& H:11,700 20,900 | 9,200 [ 11,700
e GHE)|  JAL JAL 23,300 58% |%::24,700, H:23,700 1100 [£:13,.800, H:13,300 | 10,200 |£:10,900, H:10.400 24,700 | 13,800 [ 10,900
WA= D GHE)|  JAL JAL 21,700 62% | H:22,500 9,400 [£ H:9.800 12,300 [£ H:12,700 22,500 | 9,800 | 12,700
W% CRE) | JAL JAL 23,300 59% | % H:24,100 13,200 | H:13.600 10,100 [ H:10,500 24,100 | 13,600 | 10,500
#ME=JtAM K CRA)| JAL JAL 23900 61% 9.600 14,300 23,900 | 9.600 | 14.300
Bl CRE)| JAL JAL 24,700 60% | H:26,300 14,800 | & H:15.700 9,900 [£ H:10,600 26,300 | 15,700 | 10,600
ME=X% ES CRA)| JAL JAL 23,300 61% 9.500 13,800 24,900 | 10,200 | 14.700
A% [RREGE)| JAL JAL 24,900 59% |4 H:25.700, £:24,500 14,700 | H:15.200, £:14,500 | 10,200 (£ H:10,500, £:10,000 | 25700 | 15,200 | 10.500
AR (| JAL JAL 29,100 44% 18,400 29,100 | 10,700 | 18,400
HE=RE WEE [ERHE)| JAL JAL 24,900 61% 15,300 24,900 | 9,600 | 15.300
AR (| JAL JAL 29,300 50% t 12,800 29,300 | 16.500 | 12,800
RIS [RERCHAE)| JAL JAL 24,900 61% & H:15.400 9,600 25200 | 15.400 | 9,800
RER(F]  JAL JAL 29,000 51% %:12.900, £:13,000 | 16.300 29,400 | 12,900 | 16,500
ME=REX WEE [ERHE)| JAL JAL 24,900 59% 14,900 24,900 | 10,000 [ 14,900
AR (| JAL JAL 29,300 48% ] 12,200 29,300 | 17.100 | 12,200
BAZE [EmE)|] JAL JAL 22,900 63% | H:23,700 13,700 | & H:14.200 9200 [ H:9,500 23,700 | 14,200 | 9,500
RER(F]  JAL JAL 29,300 48% |%::30,700, H:30.100 12,200 |£:12.800, H:12,500 | 17,100 [£:17.900. H:17.600 30,700 | 12,800 | 17.900
HE== WEE [ERHE)| JAL JAL 22,900 63% 9.200 13,700 24,900 | 10,000 [ 14,900
AR (| JAL JAL 29,800 47% _|% H:30,700 17.400 | H:17.900 12,400 | H:12,800 30,700 | 17,900 | 12.800
=EE  [ERERCEE)] JAL JAL 22,900 63% |%::23,700, H:24.900 13,700 |£:14.200, H:14,900 9,200 [#:9.500, H:10,000 23,700 | 14,200 | 9,500
RER(F]  JAL JAL 29,400 48% |%::30,700, £:29.800 12,200 |£:12.800, £:12.400 | 17,200 [£:17.900, £:17.400 30,700 | 12,800 | 17.900
HME=ERS WEFE [ERGE)| JAL JAL 24,900 61% 9,600 15,300 24,900 | 9,600 | 15.300
AR (| JAL JAC 29,000 52% |4 H:29,400 16.000 | & H:16.200 13,000 [ H:13,200 29,400 | 16,200 | 13,200
ERER [EmRE)|] JAL JAL 23,300 63% |%::24,100, H:25700 14,300 |£:14.800, H:15,700 9,000 |£:9.300. H:10,000 24,100 | 14,800 | 9,300
KR(FM] JAC JAL 28,600 52% |%::30,200, £ H:29.800 12,800 |£:13,500, £ H:13.400 | 15,800 [£:16.700. £ H:16.400 | 30.200 [ 13,500 | 16.700
LWifig =/ T2 RCPA)| JAL JAL 20,200 50% 9.200 11,000 20,200 | 9.200 | 11.000
IMAFE RCHE)| JAL JAL 20,000 50% | H:20,700 10,900 [H:11.300 9,100 [H:9.400 20,000 | 10,900 [ 9,100
Wi =M T2 RCPA)| JAL JAL 21,000 57% 7.900 13.100 21,000 | 7.900 | 13.100
BN RCHE)| JAL JAL 21,700 55% | H:22,500 13,500 | H:14,000 8,200 |H:8,500 21,700 | 13,500 | 8,200
=58 Iz RCHE)| JAL JAL 22,600 54% |H:21,200 8,400 | H:7.900 14,200 [H:13,300 22,600 | 8400 | 14.200
LE% RCRE)| JAL JAL 21,200 57% 13,300 7,900 21,200 | 13300 [ 7,900
I = ES Itz RCRE)| JAL JAL 22,600 57% 7,800 14,800 22,600 | 7.800 | 14,800
RCRE)| JAL JAL 24,200 54% | H:25,000 15,900 | H:16.400 8,300 |H:8,600 24,200 | 15900 | 8,300
Wiz =HE [RECHA)| JAL JAL 22,700 54% 8.300 14.400 22,700 | 8.300 | 14.400
AR (| JAL JAC 26,600 48% | H:25,000 16,600 | H:15.600 10,000 [H:9,400 26,600 | 16.600 | 10,000
HE FECRE)| JAL JAL 22,700 54% 14,400 8,300 22,700 | 14.400 | 8.300
AR (| JAC JAL 23,400 54% | % H:24.200 8,800 [£H:9.100 14,600 [£ H:15,100 24,200 | 9,100 | 15,100
W =158 T2 RCPA)| JAL JAL 23,700 50% 9,000 14.700 23.700 | 9.000 | 14.700
e GHE)|  JAL JAL 24,500 49% 15,200 9,300 24,500 | 15200 | 9,300
Iz HE)|  JAL JAL 22,200 53% 8,500 13,700 22,600 | 8.600 | 14,000
BINE HE)|  JAL JAL 22,200 53% 13,700 8,500 22200 | 13700 | 8,500
Lz =40 Iz HE)| JAL JAL 21,800 56% 8,000 13,800 22,600 | 8300 | 14,300
I T Iz HE)| JAL JAL 21,800 56% 7,900 13,900 22,600 | 8200 | 14,400
[N HE)| JAL JAL 23,400 53% 14,900 8,500 23,400 | 14,900 | 8,500
iz =dt A Iz HE)| JAL JAL 24,000 56% 8,000 16.000 24,000 | 8000 | 16,000
Wi =K% Iz GHE)| JAL JAL 23,400 57% 7,900 15,500 25000 | 8500 | 16,500
KO3 GHE)| JAL JAL 25,000 54% |1:24,600 16,500 | £:16.300 8500 |+:8,300 25800 | 17.100 | 8,700
Lifg =Rl 23 CRA)| JAL JAL 25,000 56% 8,000 17.000 25,000 | 8,000 | 17.000
RER(F]  JAL JAL 25,800 55% |2 +:26.200, H:24.600 14,300 [£ £:14,500, H:13,600 | 11,500 (£ +:11,700, H:11,000 | 26,200 | 14,500 [ 11,700
RIS [RRCHAE)| JAL JAL 25,000 56% 17,000 8,000 25,000 | 17.000 | 8.000
W [REGEE)| JAL JAL 23,000 58% 7.600 15.400 25,00 | 8.300 | 16.700
RER(F]  JAL JAL 27,300 51% |2 H:28,900, £:25700 15,700 | H:16,600, £:14,800 | 11,600 [& H:12,300, £:10.900 | 28900 [ 16,600 | 12,300
AR |[EECEE)| JAL JAL 23,000 58% 15,400 7,600 23,000 | 15.400 | 7.600
RER(F]  JAL JAL 27,700 50% |%::28,500, H:29.100 11,700 [£:12.100, H:12,300 | 16,000 [£:16.400. H:16.800 28,500 | 12,100 | 16.400
Wi == W% [ERCEE)| JAL JAL 23,000 58% 7.600 15.400 25,000 | 8.300 | 16.700
AR (| JAL JAL 28,200 49% |#H:29,100 16,200 | & H:16.800 12,000 [ H:12,300 29,100 | 16.800 | 12,300
=R [EEREE)] JAL JAL 23,000 58% | H:24,200 15,400 |H:16.200 7,600 |H:8,000 23,000 | 15,400 [ 7,600
AR (FFD| JAL JAL 27,800 50% |4 H:28,600 11,800 & H:12.100 16.000 [ H:16,500 29,000 | 12,300 | 16,700
Wi =ERE W% [ERCEE)| JAL JAL 23.400 59% 7.500 15,900 25,000 | 8,000 | 17.000
RERF]  JAL JAC 27,400 53% |%::27,800, H:26.200 14,900 [%:15.100, H:14.200 | 12,500 [:12,700. H:12.000 27,800 | 15,100 [ 12,700
ERER [EmRE)] JAL JAL 23,400 59% | H:25,000 15,900 |H:17.000 7,500 |H:8,000 23,400 | 15,900 [ 7,500
)| JAC JAL 27,000 54%  |%:27,800, 1:28,200, H:29,000 | 12,300 |£:12,700, £:12,900, H:13,200| 14,700 |£:15.100, £:15300, B:15.800] 27,800 12,700 | 15,100
e=HE | JAL JAC 21,800 56% 13,400 8,400 21,800 | 13.400 | 8.400
D[ JAC JAL 19.800 60% | % +:21,800 7,600 [£+:8.400 12,200 [ £:13,400 21,800 | 8400 | 13.400
& =xX% D[ JAL JAL 20,600 59% |4 H:22,200, £:21.400 12,700 [ H:13.600, £:13,200 | 7,900 |4 H:8,600. £:8.200 22,200 | 13,600 | 8,600
D[ JAL JAL 22,200 56% | +:23,800, H:24.600 8,600 [£+:9.200, H:9500 | 13,600 |&+:14,600, H:15,100 | 23,800 | 9,200 | 14,600
s =RE D[ JAL JAL 19,400 66% |2 H:21,400, £:20.600 10,600 | H:11,700, £:11,200 | 8,800 |4 H:9,700. £:9.400 21,400 | 11,700 [ 9,700
D[ JAL JAL 21,000 63% | %+ H:24,200 9,600 [£+ H:11,000 11,400 [ &+ H:13,200 24,200 | 11,000 [ 13,200
e =HA D[ JAL JAL 22,900 58% | H:24,900 13,000 | & H:14.100 9,900 [£ H:10,800 24,900 | 14,100 [ 10,800
D[ JAL JAL 23,700 56% |4::25300, H:25700 10,300 [£:10,900, B:11,100 | 13,400 [£:14,400. H:14.600 25300 | 10,900 | 14.400
WWaE == )| JAL JAL 24,200 55%  |£::26,200, 1:25.400, H:25,800 | 13,700 |%:14.900. +:14,400. H:14,600] 10,500 |#:11.300, £:11,000, B:11.200] 26,200 14,900 | 11,300
D[ JAL JAL 23,800 56% |4 H:25,800, £:24,200 10,300 | H:11,200, £:10,500 | 13,500 [& H:14,600, £:13.700 | 25800 | 11,200 | 14,600
WeE=ERE | JAL JAC 23.400 59% 12,500 10,900 24,200 | 12,900 | 11.300
)| JAC JAL 23,400 59%  |%::26,200, 1:24,200, H:24,800 | 10,900 |£:12,200, £:11,300, H:11,500| 12,500 |£:14.000, £:12.900, B:13,300] 26,200 12,200 | 14.000
FR=HE | JAL JAC 21,000 56% 12,600 8,400 21,000 | 12,600 | 8.400
D[ JAC JAL 19.800 59% 7,900 11,900 19.800 | 7.900 | 11.900
FR=K5 D[ JAL JAL 19.800 59% 11,900 7,900 19.800 | 11,900 | 7,900
D[ JAL JAL 20,600 57% 8,200 12,400 20,600 | 8,200 | 12.400
FR=RIE D[ JAL JAL 22,100 60% [1:22,900 11,700 [£:12.100 10,400 [£:10,800 22,100 | 11.700 [ 10,400
D[ JAL JAL 20,200 63% | H:20,600, £:21.000 9,500 [£H:9.700, £:9900 | 10,700 [& H:10,900, £:11,100 | 20,600 | 9,700 | 10,900
FR=rX | JAL JAL 22,100 58% 12.200 9,900 22,100 | 12,200 [ 9,900
D[ JAL JAL 22,100 58% | H:22,900 9,900 [H:10,300 12,200 [H:12,600 22,100 | 9,900 [ 12.200
FR=E5 D[ JAL JAL 23,400 55% | +:24,600, H:24,200 12,900 [£+:13.600, H:13,400 | 10,500 (£ +:11,000. H:10.800 | 24,600 | 13,600 | 11,000
D[ JAL JAL 23,400 55% | H:24.200 E 12,900 [ H:13,400 24,200 | 10,800 | 13,400
HR=ERE | JAL JAC 22,600 50% |#1:23.400 10,900 [ +:11.200 23.400 | 12,200 | 11.200
D[ JAC JAL 21,400 62% :22,600 11,100 [+ H:11,700 21,400 | 10,300 [ 11.100
INA=RL JAL JAL 19.200 63% [H:19,100 . 11,100 19.200 | 8100 | 11,100
E JAL JAL 21,200 59% |£::22,000 12,300 |£:12.700 8,900 [%:9,300 22,000 | 12,700 [ 9,300
IMA=TRE Ea JAL JAL 22,000 58% 4,000, H:22.400 9,100 [£:10.000, H:9,300 12,900 [£:14,000, H:13.100 24,000 | 10,000 [ 14,000
LE% 7 JAL JAL 21,600 59% |2:23,000. +:21,400, H:22,400 | 12,600 |%:13,400. £:125500, B:13,100] 9,000 |4::9,600. +:8.900, H:9,300] 23,000 | 13,400 | 9,600
MA=ILAFE IMAFE CBE)|[  JAL JAL 20,800 63% | H:21,500 8,100 | H:8.300 12,700 [H:13,200 20,800 | 8,100 | 12,700
CBE)|[  JAL JAL 22,800 60% | 4::23,200, H:24,000 14,000 |£:14.200, H:14,700 8,800 |£:9.000. H:9.300 23,200 | 14,200 [ 9,000
MA=HE GHE)| JAL JAL 21,700 59% | H:20,900 8,900 | H:8.600 12,800 [H:12,300 21,700 | 8,900 | 12,800
GHE)| JAL JAL 22,400 58% | H:22,700 13,200 | & H:13.400 9200 [ H:9,300 22,700 | 13,400 [ 9,300
IMA=E8 GHE)| JAL JAL 23,500 54% |2 H:25,900 10,000 | H:11.000 13,500 [ H:14,900 25900 | 11,000 | 14.900
GHE)| JAL JAL 25,500 50% 10.900 25500 | 14,600 | 10,900
INA=TEH GHE)| JAL JAL 22,000 57% 12,600 [& 23,200 | 9,900 | 13,300
GHE)| JAL JAL 22,000 57% 22,400 9400 [& :9.500 23,200 | 13,300 [ 9,900
IMNA=TEH GHE)| JAL JAL 20,000 62% 20,700 11,800 [& . H:12,200 | 21,600 [ 8,900 | 12,700
GHE)| JAL JAL 22,800 57% : 23,200 9400 [& :9.500 23,600 | 13,900 [ 9,700
INA=FAL GHE)| JAL JAL 21,600 60% |#::23,200, H:23,900 , 12,800 [£:13,800, H:14.200 23,200 | 9400 | 13.800
@) JAL JAL 24,400 55% | H:22,800 14,500 |H:13,500 9,900 [H:9.300 24,400 | 14,500 | 9,900
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MA=JE RN IMAFE HE)| JAL JAL 23,000 61% |#::26,200, H:23,800 8,600 [£:9.800, H:8,900 14,400 [£:16,400, H:14.900 26,200 | 9,800 | 16.400
B[R0 CRE)| JAL JAL 23,000 61% |2 H:24,600 14,400 | % H:15.400 8,600 |4 H:9.200 24,600 | 15,400 | 9,200
IMNA=K5 MAFE CRE)| JAL JAL 22,800 60% | +:23,200, H:23,100 8,700 £+ H:8.800 14,100 [#+:14,400, H:14.300 | 23200 [ 8.800 | 14.400
Ro5E CRE)| JAL JAL 23,600 59% |4 H:24,000 14,600 | H:14.900 9,000 [£H:9,100 24,800 | 15,400 | 9,400
MA=RIE IMAFE CRE)| JAL JAL 23,200 62% | H:22,400 8,400 | H:8.100 14,800 [H:14,300 23,200 | 8400 | 14.800
R 5E CRE)| JAL JAL 23,200 62% | H:24,000 14,800 | H:15.400 8400 |4 H:8,600 24,000 | 15,400 | 8,600
INA=FER IMAFE CRE)| JAL JAL 23,200 60% | H:22,400 8,700 | H:8.400 14,500 [H:14,000 23,200 | 8700 | 14,500
REA S CRE)| JAL JAL 23,200 60% |%::24,000 14,500 |£:15,000 8,700 |%:9.000 24,000 | 15,000 [ 9,000
INA=EE IMAFE CRE)| JAL JAL 23,200 60% | H:22,400 8,700 | H:8.400 14,500 [H:14,000 23,200 | 8700 | 14,500
G CRE) | JAL JAL 23,200 60% |%::24,000 14,500 |£:15.000 8,700 |%::9.000 24,000 | 15,000 [ 9,000
IME=ERE INEASE CRA)| JAL JAL 23,200 62% | H:23,100 8400 |H:8.300 14,800 23200 | 8400 | 14.800
ERER [ERRCRAE)|] JAL JAL 22,600 63% | H:24,000 14,500 |H:15.400 8,100 |H:8,600 22,600 | 14,500 | 8,100
BH=E5 BAIFE 1B JAL JAC 24,800 43% |£:25600. £ H:24.400 13,500 |£:14,000, £ H:13,300 | 11,300 [£:11,600, £ H:11,100 | 25600 | 14,000 | 11,600
IS 15 JAG JAL 24,800 43% |4:25200, H:22,200 11,300 [£:11.400, H:10.100 | 13,500 [£:13,800, H:12,100 25200 | 11,400 | 13,800

EERE=5#% |EEZAB%E | kR | JAC JAC 16.600 38% £ H:17.100 10.400 [% H:10.700 6.200 17.100 | 10.700 | 6.400
5R%e SHKBE | JAC JAC 16.600 38% [1:17,100 6,200 |+:6.400 10,400 |4 16,600 | 6,200 | 10,400

BERE=HTKRER JAC JAC 15,500 48% 10,300 5,200 15500 | 10.300 | 5.200
JAC JAC 15,500 48% 5,200 10.300 15500 | 5200 | 10.300
SRR =55 JAL/JTA[ JAL 29,200 59% |4 H:30,600 16,800 | H:17.600 12,400 | H:13,000 29,200 | 16,800 | 12.400
Ed JAL _[JAL/JTA| 28,400 60% [%::31,100, £:30,500 12,100 [£:13,200, £:12.900 | 16,300 [:17.900, +:17.600 34,400 | 14,600 | 19,800
PR (| = hiR |3 CHEA) [JAL/JTA|  JAL 27,600 61% | H:30,800 16,000 | H:17.900 11,600 |H:12,900 27,600 | 16,000 | 11,600
% [®m(HE)| JAL |JAL/JTA[ 26,400 62% |£::30,400 11,100 |£:12.800 15,300 [£:17.600 32,800 | 13,800 | 19,000
AR (GIRER) =FAE B4R (RER) S JAL/JTA] JAL 25,900 60% € H:26,500 16,200 [£ H:16.500 9,700 |£ H:10,000 26,500 | 16,500 | 10.000
FAEH 3¢ JAL_[JAL/JTA| 24,700 62% 9,300 15.400 28,700 | 10,800 | 17.900

SRR (GIRER) = LR [haE (FRER) 5 JAL/JTA] JAL 26,000 56% | H:29,200 18,000 | H:20.200 8,000 |H:9,000 26,000 | 18,000 | 8,000
Iz JAL_[JAL/JTA| 24,000 59% |£:24,400 7,400 [£:7,500 16,600 [%:16,900 28,800 | 8,900 | 19,900
SRHER(GIRER) =LA [hHE (RER) 5 JTA JAL 26,500 63% |£+:27,300 10,300 [££:10,600 16.200 | £ +:16,700 27300 | 10,600 | 16.700
flll& 5 JAL JTA 26,500 63% 16,200 10.300 26,500 | 16,200 | 10.300

AR GIRER) =/ [ShE (FRER) ¢ JAL/JTA] _JAL 24,200 61% 2:25,000, H:26.600 15,700 [£:16.300, H:17.300 8,500 |%:8,700, H:9.300 25,000 | 16.300 | 8,700
IR JAL_[JAL/JTA| 24,200 61% |%:26,800. £:26,200, H:23,800 | 8500 |£:9.400. +:9,200. H:8.300] 15,700 |#:17400, £:17.000. A-15500] 31,800 | 11,100 | 20,700
SR#E (GIRER) == 40 [hHE (GRER) 5 JTA JAL 24,600 52% |#1:24,700 13,200 [££:13.300 11.400 24700 | 13,300 | 11.400
BHE JAL JTA 24,600 52% | &+ H:24,700 11,400 13,200 [£ £ H:13,300 24,700 | 11,400 | 13,300
AR GIRER) =#AL [ShHE (FRER) 5 JTA JAC 24,600 49% | %:25,400, 1:24,800, H:23,400 | 14,000 |%:14,500. +:14,100, H:13,300] 10,600 |%:10.800, +:10.700. H:10.100] 25400 | 14,500 | 10,900
[ITE:S JAC JTA 24,600 49% | % H:25.400 10,600 | H:10.900 14,000 [ H:14,500 25400 | 10,900 | 14,500
R (HH) =8£X8| TR CRA) & JAL JAC 27,700 55% & 1:28,300 17,400 [££:17.800 10,300 |$1:10,500 28,600 | 17,900 | 10.700
JAL JAL 32,900 44% | X:33,800, £ 1:34.700 12,600 [ 13,000, £ +:13,300 | 20,300 [£:20,800. £ +:21.400 | 33,800 | 13,000 | 20,800
BERES JAC JAL 27,800 55% | H:28,600 10,400 [H:10,700 17.400 [H:17.900 27,800 | 10,400 | 17.400
JAL JAL 32,000 45% | H:33,400 19,700 | H:20,600 12,300 [H:12,800 32,000 | 19,700 [ 12.300
RR(PB)=ERB[HR(HA) % JAL JAC 14,300 77% _|£1:16.800 8,800 [£1:10.300 5500 £ 1:6.500 31.200 | 19,200 | 12,000
ERBR JAC JAL 14,800 77% | H:16,800 5,700 | H:6.500 9,100 [H:10,300 30,800 | 11,800 | 19,000
RR(CPB) =#2B|FR(HB) % JAL JAC 31,700 52% 18,800 12,900 31,700 | 18,800 | 12.900
JAL JAC 36,500 39% |%+:37.600, H:36.700 28,300 [£ £:29,200, H:28500 | 8,200 |&+:8400 37,600 | 29,200 | 8,400
BeBE JAC JAL 31,700 52% 12,900 18,800 31,700 | 12,900 | 18,800
JAC JAL 36,500 39% |%+:36.700. H:37.600 8,200 | H:8.400 28,300 36,700 | 8,200 | 28,500
R (FH) =4k RE[ R CHR) % JAL JAC 33,900 50% |& 19,300 [& £ H:19.600 14,600 34,400 | 19.600 | 14,800
hk RARSE JAC JAL 33.400 51% & 14.400 19,000 34,000 | 14,700 [ 19,300
JAC JAL 38,700 39% 9,000, H:39.600 10,300 28,400 |1 38700 | 10,300 | 28,400
HR(PE) =55/ JAL JAC 32,100 54% |%+:34,900, H:32.700 17.900 14,200 [# +:15500, H:14.500 | 34,900 [ 19,400 [ 15,500
JAC JAL 32,500 54% |%+:33,100, H:34.900 14,400 [&£:14.700, H:15,500 | 18,100 (& +:18,400, H:19.400 | 33100 [ 14,700 | 18,400
JAC JAL 40,400 39% [%::40,700, H:41,600 12,100 [H:12.400 28,300 |£:28.600, H:29.200 40,700 | 12,100 | 28,600
KR () =BEXS| XIR (FFD % JAC JAC 25,900 48% |#::26,800, £:26,300 13,900 12,000 2,400, £:12,200 26,800 | 14,400 | 12.400
BERBSH JAC JAC 25,800 48% [1:26,800, H:27.300 11,900 13,900 4,400, H:14,700 25800 | 11,900 | 13,900
KR (R =ERB| KR (G % JAC JAC 13,800 73% 4,800 7.200 6,600 29.400 | 15,400 | 14,000
JAL JAC 28,800 37% 9,800, H:28,900 22,800 6,000 28,900 | 22,900 | 6,000
ERBR JAC JAC 14,800 71% % H:16,300 7,000 7,800 30,400 | 14,500 | 15,900
JAC JAL 28,800 37% +£:28,900. H:29,800 6,000 22,800 28900 | 6.000 | 22,900
KR (P =B 2B KR (FHE JAC JAC 29,000 46% % +:29,900 14,500 14,500 [ £:14,900 29,900 | 15,000 | 14.900
BeBE JAC JAC 29,900 44% [%::30,300, H:31.300 14,900 15,000 [%:15,200, H:15.700 30,300 | 15,100 | 15.200
JAC JAL 31,100 37% |%+:31,300, H:32.200 8,400 | H:8.700 22,700 |4 +:22.900. B:23500 | 31,300 | 8.400 | 22,900
KR (75 =k B E8 | KR (FFD % JAC JAC 31,200 45% | % +:32,600, H:31,700 14,900 [£ +:15,500, H:15.100 | 16,300 (& +:17,100, H:16.600 | 32,600 | 15,500 | 17.100
Sk RARSE JAC JAC 32,100 43% | 232,800, 1:32.600, H:34,000 | 16,800 |£:17.200, +:17,100, H:17.800 15,300 |%:15.600, £:15,500, B:16.200] 32,800 | 17,200 | 15,600
KB (D=5 [ARUE % JAC JAC 31,600 45% |£1:33,100. H:32.200 14,700 [ +:15,300, H:14,900 | 16,900 € +:17,800, H:17.300 | 33,100 | 15,300 | 17.800
5 JAC JAC 32,500 44% |% H:34,500, £:33,100 17.400 | H:18,500, £:17,800 | 15,100 (£ H:16,000, £:15.300 | 34500 | 18,500 | 16,000
BE=EXXE JAC JAC 22,400 ES 10.000 [+ H:9.600 12,400 [+ H:11.900 22,400 | 10,000 [ 12.400
JAC JAC 22,400 46% 12,400 10.000 22,400 | 12,400 [ 10,000
JAC JAC 24,600 43% |£:25000, £ H:24,100 10,700 [£:10,800, £ H:10,400 | 13,900 [£:14.200. £ H:13.700 | 25000 [ 10,800 | 14.200

JAC JAC 26,300 37% |%+ H:26,400 20,300 [+ H:20.400 6,000 26,400 | 20,400 | 6,000
JAC JAC 24,100 44% |%+ H:24,600 13,700 [& £ H:13.900 10,400 [£ £ H:10,700 24,600 | 13,900 [ 10,700
JAC JAC 25,500 44% 10,400 15,100 25500 | 10,400 | 15,100

JAC JAC 28,600 37% |% T H:28.800 20,200 [ £+ H:20.400 8,400 28,800 | 20,400 | 8,400
JAC JAC 25,200 44% 14,900 10.300 25200 | 14,900 [ 10,300
JAC JAC 28,600 37% |%+ H:28.800 8,400 20,200 [£ £ H:20,400 28,800 | 8400 | 20,400
1Bk =tk R AR FHGEA JAC JAC 27,700 42% | %::28,200, £ H:27.800 10.700 17,000 [£:17.300 28.200 | 10,900 | 17.300
Pk R ARSE JAC JAC 27,200 43% |%+ H:27,800 16,700 10,500 [+ H:10,800 27,800 | 17,000 [ 10,800
JAC JAC 30,800 37% 1,100 10,600 |£:10,700 20,200 [ +:20,400 30,800 | 10,600 | 20,200
BE=5# BE% JAC JAC 28,100 43% |£:28,700, £ H:27.800 10,500 [£:10.800, £ H:10,400 | 17,600 |£:17.900, £ H:17.400 | 28,700 | 10,800 | 17.900
5%% JAC JAC 32,100 38% 12,200 19.900 32,100 | 12,200 | 19,900
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XED | XM@ b 0] @ 0] @ 0] @ ) @
HRCAE) =2n R CHE)F[H# GE)[JAL/JTA[JTA/RAC| 21,900 62% 15,300 6,600 22500 | 15700 6,800 | 21,900 | 15300 6,600 | 26,300 | 18,400 7.900
EoHE | JTA/RAC|JAL/JTA|_21.800 63% 6.500 15,300 23000 | 6,900 16,100 | 26,600 | 8,000 18,600 | 28.200 | 8500 19.700
R (HE) =& JAL/JTA[ _JTA 22,300 65% 14,300 8,000 23700 | 15200 8500 | 23,100 | 14,800 8300 | 30,100 | 19,200 10,900
JAL JTA 25,800 64% 8,200 17.600 27400 | 8,700 18,700 | 27.400 | 8700 18700 | 25800 | 8,200 17.600
JTA__[JAL/JTA[ 23200 64% 8,400 14,800 24,700 | 8900 15800 | 27,500 | 9900 17,600 | 31,000 | 11,200 19,800
JTA JAL 25,000 65% 17.100 7.900 25000 | 17.100 _7.900 | 25000 | 17100 _7.900 | 28.200 | 19.300 8,900
RIR (FFH) =% &5 JAL AL ,800 67% 7,400 13,400 22,400 | 7900 14,500 | 22,400 [ 7.900 14,500 | 23700 | 8400 15,300
JAL JAL 600 66%  7:22,800 14000 A:14,700 7,600 7:8.100 1,600 | 14,000 7.600 400 | 14500 7.900 | 26100 | 16.900 _9.200
JAL AL 800 0% 8,500 16,300 800 | 8500 16,300 800 | 8500 16,300 | 26400 | 9,000 17.400
KB (B#) =& 5] JAL JAL 200 3% 15,300 7.900 .600 | 15500 8,100 600 | 15500 8,100 | 23200 | 15.300 _7.900
JAL AL 800 0% 8,500 16,300 800 | 8500 16,300 800 | 8500 16,300 | 26400 | 9,000 17.400
ESACEES NP ACIEIES JAL JAL 22,100 4% 8,000 14,100 600 | 8,200 14.400 600 | 8,900 15,700 400 | 8,900 15,500
FEIES JAL AL 21,600 65%  A:22,800 13,800 A:14500 7,800 600 | 13,800 7,800 | 22,400 | 14,300 8,100 600 | 15,700 8,900
KB (BI#E) =78J11 | KB (BH7G) %[5 JAL JAL 22,100 64% 8,000 14,100 600 | 8.200 14400 | 24,600 | 8900 15700 400 | 8.900 15500
FEIES JAL AL 00 65%  A:22,800 13,800 A:14500 7,800 600 | 13,800 7,800 | 22,400 | 14,300 8,100 600 | 15,700 8,900
R (B =8 [RB (B % JAL JAL 400 68% 7.100 12,300 600 | 7.200 12400 | 20,000 | 7.300 12700 200 | 8500 14,700
SIEEFE JAL AL 000 66% 722,200 13300 A:14,100 7,700 000 | 13,300 7,700 800 | 13,800 8,000 200 | 15,300 8,900
KB (B =%IE [ KB (B %[5 JAL JAL 200 62%  H:23,200 8,600 F:8.600 __ 14.600 800 | 8400 14.400 400 | 8300 14,100 800 | 9.200 15600
wIL%E JAL AL 000 64%  7:23,200 13900 A:14600 8,100 000 | 15,100 8,900 600 | 14,900 8700 | 25600 | 16,100 9,500
JAL JAL 22,000 64%  £:23,200 13900 A:14600 8100 ,000 | 15.100 8,900 600 | 14900 8,700 | 25600 | 16.100 _9.500
JAL AL 21,100 61 8,800 12,300 22300 | 9,300 13000 22,800 | 9500 13,300 | 22,600 | 9,400 13,200
JAL JAL 21,900 59%  :23,100 12,800 A:13500 9,100 7:9.600 21,900 | 12,800 _9.100 .700 | 13.200 9,500 4,300 | 14.200 10,100
JAL AL 21,800 58% 9,400 12,400 21,800 | 9,400 12,400 800 | 9,400 12,400 400 | 9300 12,100
JAL JAL 22,600 57%  A:23,800 12,800 :13,500 800 :10,300 22,600 | 12,800 _9.800 .400 | 13,300 10,100 .800 | 13,500 10,300
AL AL 600 7% A:23.800 12,800 :13.500 800 7:10,300 22,600 | 12,800 9,800 ,400 | 13,300 10,100 ,800 | 13,500 10,300
JAC JAC 600 7 10,100 500 .900 | 10,300 _6.600 200 | 8700 5,500 .900 | 10,300 _6.600
AC JAC 800 3 5,800 ,000 .100_| 5900 9,200 100 | 5900 9,200 800 | 5800 9,000
KR (D =BTE JAC JAC 0,500 48 13,900 600 550 | 14700 6,850 | 20700 | 14.100 6600 | 20,700 | 14.100 6,600
AC JAC 0,800 7 6,700 14,100 050 | 6750 14,300 | 21600 | 6,900 14,700 | 22,300 | 7.100 15,200
KR (B =28 JAL _|JTA/RAC| _19.200 12,700 6,500 22200 | 14700 7500 | 19200 | 12700 6,500 | 24.200 | 16.000 _8.200
JTA/RAC| _JAL 0,200 6,800 13,400 20500 | 6,900 13,600 | 20500 | 6900 13600 | 25200 | 8500 16,700
KR (BE) ==& JAL/JTA|JTA/RAC| _19.200 12,700 6,500 22200 | 14700 7500 | 19200 | 12700 6,500 | 24.200 | 16.000 _8.200
JTA/RAC[JAL/JTA[ 20,200 6,800 13,400 20500 | 6,900 13,600 | 20500 | 6900 13,600 | 25200 500 16,700
R (B =81E JAL JTA 0,400 12,200 8,200 1500 | 12,900 8600 | 20,400 | 12.200 8,200 | 25.400 20010200
JTA JAL 4,400 9,800 14,600 4,400 | 9800 14,600 | 24,400 | 9,800 14,600 | 30,000 ,100__17,900
KR (B&E) = JAL/JTA|_JTA 400 4 12,200 8,200 1500 | 12,900 8600 | 20,400 | 12.200 8,200 | 25.400 20010200
JTA__|[JAL/JTA| 400 7 9,800 14,600 4,400 | 9800 14,600 | 24,400 | 9,800 14,600 | 30,000 100 17,900
BEE (PE) = Zoh | B AR (4 JAL JAL 600 63 13,700 7.900 2,400 | 14.200 8,200 | 22.400 | 14,200 _8.200 1,600 ,700__7.900
S JAL JAL 100 59% 8,800 15,300 4,100 | 8800 15300 | 24,100 | 8800 15300 | 27200 | 9,900 17.300
ZHE(FH) ==445E JTA__|JTA/RAC] 200 66% 13,200 6,000 20200 | 13,900 6.300 | 20,200 | 13,900 _6.300 4,100 | 16.600 7500
3 JTA/RAC| _JTA 400 65% 6,100 13,300 400 | 6,100 13,300 400 | 6,100 13,300 | 24000 | 7.500 16,500
ZHE(RE) =0E4% JTA JTA 400 67% 12,800 7.600 400 | 13.400 8,000 400 | 13400 8,000 | 25400 | 15.900 _9.500
RIESE JTA JTA 400 69% 7,200 12,200 400 | 7,200 12,200 400 | 7,200 12,200 | 24400 | 9.100 15300
AR FT TR =/MA[ALIRFTR) R JAL JAL 000 62% 12,700 8,300 800 | 13200 8,600 400 [ 12,900 8500 | 25,300 [ 15300 00
IESFE JAL AL 600 59% 8,900 700 000 | 9,500 500 400 | 9300 14,100 | 23800 | 9,400 00
ALIR BT a%) = RIL[ALIR T &) % JAL JAL 22,000 65% 1,600 .400 200 ,200 11,000 ,400 .800 10,600 | 27,600 500 13,100
R LI 5 JAL AL 22,800 64% ,800 ,000 ,000 400 12,600 ,600 200 12,400 | 25,100 ,900 13,200
WRETFR) =L JAL JAL 22,800 65% .900 .900 23,600 ,300 11,300 200 ,100 11,100 | 27.300 200 13,100
JAL AL 800 61 1900 ,900 25,200 ,100__13,100 300 600 12,700 | 25,300 ,100__13,200
ARG = LOFE JAL JAL 400 64 ,000 400 22,800 200 11,600 800 200 12,600 | 29,200 400 14,800
ME=ETE JAL AL 400 64 400 ,000 25,200 800 12,400 | 25,200 800 12,400 | 27,100 800 13,300
WIREFTFR =HELRFTR R JAL JAL ,900 62 ,900 ,000 24,900 ,900 12,000 | 26,700 ,800 12,900 | 29,500 ,200 14,300
HES JAL AL 000 63% 600 400 25,200 200 13,000 | 27,100 100 14,000 | 26,600 900 13,700
WIREFTFR =EB[HLRFTR R JAL JAL 25,500 60% 600 .900 25,500 600 11,900 | 25,900 ,800 12,100 | 30,700 ,300 14,400
BEFE JAL AL 28,000 56% 100 ,900 26,300 300 14,000 | 27,900 100 14,800 | 30,500 300 16,200
R EFTFR) =ah 1[.@(%}?;&)%% R CRE)|[  JAL JAL .000 62% 800 .200 25,200 400 11,800 | 24,800 ,200 11,600 | 29,100 ,500 13,600
BT CRE)| JAL AL ,600 63% ,100 500 24,400 400 13,000 | 26,000 ,200 13,800 | 26,100 ,200 13,900
AL BT 5%) = = &N [ ALIR (3 ;ﬁ)g} R CRE)|[  JAL JAL 600 64% ,200 .400 24,400 600 11,800 | 24,000 ,400 11,600 | 30,800 ,900 14,900
BHI%E (RE)|[ JAL AL 00 62% 00 ,600 25,200 200 13,000 | 26,000 600 13,400 | 26,100 600 13,500
AL BT 3%) = HALLI[ALIR G ;ﬁ)g} R CRE)|[  JAL JAL 400 63% 500 .900 26,000 ,300 12,700 | 24,800 ,700 12,100 | 28,600 ,600 14,000
LT (RE)|[ JAL AL 500 59% 900 ,600 25,200 300 12,900 | 26,800 100 13,700 | 27,100 200 13,900
FUBL BT ) = JL LN ALIR (3 ) % [ BUR CHE) | JAL JAL 25,000 900 100 25,800 300 13,500 | 25,400 ,100_13,300 | 31400 000 16,400
EIZYLE CRE)| JAL AL 25,000 ,100 .900 26,600 ,900 12,700 | 27.400 300 13,100 | 29,900 ,600 14,300
ALIR (F T %) = K53 [ 4L4% G ;ﬁ)g} R CRE)|[  JAL JAL 25,200 ,200 ,000 25,200 ,200 13,000 | 24,000 600 12,400 | 31,100 .100 16,000
KAF CRE)| JAL AL 27,600 ,200 ,400 25,600 ,200 12,400 | 26,000 400 12,600 | 28,100 ,500 13,600
LR (FT T %) = RIG[ALIR FTR) % [HR CRE)|  JAL JAL 25,200 65% .700 500 25,200 .700 13,500 | 25,200 .700 13,500 | 30400 .100 16,300
R (RE)| JAL AL 27,100 63% 600 500 26,000 000 12,000 | 26,000 000 12,000 | 27,600 800 12,800
ALIR B F i) CRE)[ JAL JAL 25,200 64% ,000 .200 25,200 ,000 13,200 | 25,200 ,000 13,200 | 31,100 .800 16,300
AEAZE (RE)| JAL AL 25,200 64% 200 ,000 26,000 600 12,400 | 26,800 000 12,800 | 27,600 400 13,200
LR FT TR == B[R FTR) % [HR CRE)|  JAL JAL 23,600 66% .300 ,300 26,000 ,400 13,600 | 24,000 500 12,500 | 30,600 ,600 16,000
S (RE)|[ JAL AL 27,100 61% 200 ,900 26,000 600 12,400 | 26,000 600 12,400 | 27,600 400 13,200
AMEFTHR) =REBAIRG TR F[RF (M| JAL JAL 25,200 65% .700 500 25,200 700 13,500 | 25,200 700 13,500 | 31,100 400 16,700
BERG3 (RE)| JAL AL 24,400 66% 100 ,300 25,600 800 11,800 | 26,000 000 12,000 | 28,100 ,100__13,000
HIRGT R —# B0 | FLIR T F8) %R CAA) | JAL _|JAL/JTA[ 26,200 65% 800 4,400 28,900 000 15,900 | 28,300 800 15,500 | 32400 600 17.800
ABR (BA7E)[ JAL [JAL/JTA] 25,000 67% ,700 1,300 27.400 000 12,400 | 25,000 ,700 11,300 | 26,600 600 12,000
AEHE(P8D)|  JAL JTA 21,800 1% 700 1,100 22,600 .100_11.500 | 22,600 .100_11.500 | 25,900 700 13,200
faf] JAL JTA 24,300 69% 800 8,500 24,300 8008500 | 24,300 8008500 | 25,900 800 9,100
SR (BRER) 3¢ CHE) [JAL/JTA|_JAL 26,200 65% 400 .800 28,200 500 12,700 | 29,800 400 13.400 | 33,400 300 15,100
KRR (B878) [JAL/JTA[  JAL 27,400 64% ,400 ,000 29,000 100 15,900 | 29,000 100 15,900 | 29,000 ,100 15,900
AHE(PE)| JTA JAL 23,000 70% .700 .300 23,800 ,100_11.700 | 23,800 ,100_11.700 | 29,400 000 14,400
faf] JTA AL 5,900 67% 9,100 800 26,700 | 9,300 17,400 | 26,700 | 9,300 17400 | 25900 | 9,100 16,800
BE=%m5 BEFE [ERCHE)| JAL JAL 800 68%  7:25600 11,700 :12.100 100 7:13,500 27200 | 12.800 14.400 | 25600 | 12100 13,500 | 28,600 | 13,500 15.100
TR JAL AL 700 65% 18,100 7.600 25700 | 18,100 7600 | 25700 | 18,100 7,600 | 25700 | 18,100 7,600
T@mA%E |[RR(EE)| JAL JAL 000 69% 12,700 1,300 24800 | 13,100 11,700 | 25600 | 13500 12.100 | 28,100 | 14,800 13,300
GiTE)|  JAL AL 900 66% 7.300 7,600 24,900 | 7,300 17,600 | 24900 | 7300 17,600 | 26,500 | 7,800 700
ER=1RI 1BR%E CRE)| JAL JAL 200 70% 200 100 14,100 | 26,600 00 00 | 28,600 00 14.800
FEIES (RE)|[ JAL AL 000 69% 725,600 400 :13,300 700 12,700 | 25,200 00 00| 27,200 00 13,100
& =8Ik EEEE CHE)|[  JAL JAL 400 69%  7:24,200 400 AK:11,700 200 13,000 | 22800 00 00 | 29,200 00 15,000
S (RE)|[ JAL AL 400 69% 725,000 000 :12,900 900 12,100 | 25,200 00 00 | 27,000 00 00
BE=HEK EEF CRE)| JAL JAL 26,000 65% _ 74:26.800 700 :13.100 700 13,300 | 24.400 00 00 | 29,100 | 14.200 00
HIL%E CRED[ JAL AL 400 68% 726,000 500 :13,300 10013500 | 29,100 00 00 | 28,400 500 00
BRI =K = JAL JAL 300 64% 100 800 12,700 | 26300 00 00| 28,600 00 00
JAL AL 300 63% 700 700 13,600 | 26,900 00 00 | 26.300 00 00
B =5% JAL JAL 00 59% .100 500 700 | 25,800 00 00 | 28,800 00 13,000
JAL AL 9,800 49% 100 100 18,700 | 29,800 00 18,700 | 29,800 ,100__18,700
JAL JAL 7.400 59%  7:28,200 300 A:12.700 100 :15,500 28,800 000 15,800 | 27400 300 15,100 | 28,200 ,700__15,500
JAL AL 28,200 52% 700 500 31,000 400 11,600 | 28,200 700 10,500 | 31,000 400 11,600
EELE] JAL JAL 25,000 62% 3,900 .100 26,600 700 11,900 | 25,000 | 13.900 00| 27.400 00 00
JAL AL 25,000 62% 726,600 1,100 711,900 ,900_7:14,700 26,600 900 14,700 | 26,600 | 11,900 00 | 26,600 00 00
BE=T5 JAL JAL 26,600 53% 0,200 .400 26,600 | 10.200 16.400 | 26,600 | 10.200 16400 | 26.600 | 10,200 16.400
JAL AL 26,600 53% 6,400 200 27800 | 17.100 10,700 | 26,600 | 16400 10,200 | 27,800 | 17,100 10,700
BE=%E JAL JAL 23,300 62% 3,900 9,400 25700 | 15400 10,300 | 22,500 | 13500 9,000 | 26.500 | 15,900 10.600
JAL AL 24,100 61%  7A:24,900 9700 7A:10000 14400 7:14,900 23300 | 9,400 13,900 | 24900 | 10,000 14900 | 23300 | 9,400 13,900
JAL JAL 28,200 49% 17,000 11,200 31,000 | 18,600 12400 | 28,200 | 17.000 11.200 | 31,000 | 18,600 12.400
&=L JAL AL 23,400 7 15,600 7.800 25000 | 16,700 8,300 | 22600 | 15100 7,500 | 25800 | 17,200 8,600
JAL JAL 26,600 1 10,800 .800 26,600 | 10,800 15,800 | 26,600 | 10.800 15,800 | 25000 | 10,200 14.800
JAL AL 23,400 7 7,800 ,600 23400 | 7,800 15600 | 25000 | 8300 16,700 | 22,600 | 7,500 15,100
JAL JAL 26,600 1 15,800 800 27800 | 16,500 11,300 | 25,000 | 14.800 10,200 | 27.800 | 16,500 11,300
RRI=35 JAL AL 0,200 0 8,700 500 20200 | 8700 11,500 | 20,200 | 8700 11500 | 20,200 | 8700 11,500
JAL JAL 0,200 0 11,500 8,700 1400 | 12,200 9.200 | 20200 | 11.500 8,700 | 21.400 | 12.200 _9.200
B =/R JAL AL 3,200 0% 14,500 8,700 4,800 | 15500 9,300 | 22,800 | 14,300 8,500 | 26,000 | 16,300 9,700
JAL JAL 3,200 0% :24,000 8700 :9.000 14,500 7:15000 4,500 | 9200 15300 | 23.200 | 8700 14,500 | 23200 | 8.700 14.500
wR==a JTA__|[JTA/RAC| 17,200 62 10,500 6,700 7200 | 10,500 6,700 7200 | 10500 6,700 | 20,400 | 12500 7,900
JTA/RAC| _JTA 7.300 62 6.700 10,600 .900 | 7.300 11,600 300 | 6,700 10,600 .900 | 8,900 14,000
RR=0E JTA JTA 400 10,000 8,400 400 | 10,600 8,800 ,400 | 10,000 8,400 400 | 13,300 11,100
JTA JTA 400 8,400 10,000 .400 | 8,400 10,000 .400 | 8,400 10,000 .400 | 10,700 12,700
TR =& JAL L ,100 9,900 13,200 100 | 9,900 13,200 100 9,900 13,200 ,900 0,300 13,600
JAL JAL 100 13,200 9,900 .900 | 13,600 10,300 .900 | 13,600 10.300 .100 | 13,200 9,900
ZimBl =M STk CRE)| JAL AL 1400 66% 14,000 7.400 22,200 | 14,500 7,700 400 [ 14,000 7,400 | 26,700 7,400 9,300
IMRFE CRE)|_ JAL JAL 1400 66% 7.400 14,000 23000 | 8,000 15,000 000 | 8000 15000 | 24600 | 8,600 16.000
% B = R Ll STk CRE)| JAL AL ,400 69% 12,900 9,500 23,600 | 13,600 10,000 | 22,400 [ 12,900 9,500 | 26,500 | 15,300 11,200
R CRE)| JAL JAL 22,300 69% 9.400 12,900 23900 | 10,100 13,800 | 23,900 | 10.100 13,800 | 26.400 | 11,200 15.200
TEIT=/i FEIES (RE)|[ JAL AL 21,400 65% 13,800 7.600 22200 | 14300 7900 | 21400 | 13,800 7,600 | 26,000 | 16,700 9,300
INRFE CRE)| JAL JAL 21,400 65% 7.600 13,800 23300 | 8,300 15000 23,300 | 8300 15000 | 23.700 | 8500 15.200
TEJI =R JENIES CRE)| JAL AL 22,400 68% 12,700 9,700 23,600 | 13,400 10,200 | 22,400 [ 12,700 9,700 | 25200 | 14,300 10,900
[ENIE CRE)|_ JAL JAL 22,300 68% 9.600 12,700 25500 | 11,000 14500 | 25500 | 11.000 14,500 | 25500 | 11,000 14,500
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g =/ HIFEFE CRE)| JAL AL 0,800 66% 13,300 7.500 21,600 | 13,800 7,800 | 20,800 [ 13,300 7,500 | 24,800 | 15,900 8,900
IMRFE (FE)|  JAL JAL ,000 67% 7.200 12,800 20200 | 7.300 12,900 | 20,200 | 7.300 12900 | 24.100 | 8700 15.400
g =FE L FEES (BE)|[  JAL AL 800 68% 12,300 9,500 3,000 [ 13,000 10,000 1.800 | 12,300 9,500 | 24,600 | 13900 10700
[N (FE)|[  JAL JAL .700 69% 9,500 12,200 1.900 | 9,600 12,300 | 21,900 | 9.600 12300 | 25900 | 11,300 14,600
wIR=/R HILEE (HE)[ JAL AL 800 4 13,900 7,900 4,400 | 15,500 8,900 4,400 [ 15500 8,900 | 26,200 | 16,700 9,500
IMRFE ()| JAL JAL 00 4 7.900 13,900 1800 | 7.900 13,900 | 21.800 | 7.900 13900 | 24.100 | 8,800 15.300
HhL=mW0 IR (RE)|[ JAL AL 00 7 12,800 10,000 25200 | 14,100 11,100 | 25200 | 14,100 11,100 | 26,000 | 14600 11,400
G ()| JAL JAL 22,700 7 10,000 12,700 22700 | 10000 12,700 | 22,700 | 10.000 12700 | 25900 | 11,400 14,500
BEE =/ EfES CRE)| JAL AL 22,100 59% 13,000 9,100 22,500 | 13,300 9200 | 22,100 [ 13,000 9,100 | 24900 [ 14,700 10,200
IMRFE (FE)| JAL JAL 21,700 59% 8,900 ,800 23000 | 9,500 13,500 | 23,000 | 9500 13500 | 23500 | 9,700 13.800
EEE=RW LS (HE)[ JAL AL 22,900 63% 700 .200 23,900 ,200 11,700 | 22,900 .700 11,200 | 24,700 ,600 12,100
[ENIE (FE)| JAL JAL 22,600 63% .100 500 25,200 300 12,900 | 25,200 300 12,900 | 25,300 400 12,900
=AM LS (HE)[ JAL AL 25,900 62% ,900 ,000 25,900 900 14,000 | 25,900 ,900 14,000 | 29,100 ,400 15,700
EZ¥IES (FE)| JAL JAL 23,600 65% ,700 ,900 24,400 100 11.300 | 23,600 700 10,900 | 28,800 500 13,300
EWE=X% LS (HE)[ JAL AL 25,900 61% ,100 ,800 25,900 100 13,800 | 25,300 900 13,400 | 28,300 ,300 15,000
A5 % (FE)| JAL JAL 25,900 61% ,800 ,100 28,800 300 13,500 | 29,100 500 13,600 | 29,800 800 14,000
WE=RI& LS (HE)|[  JAL AL ,900 62% ,000 ,900 26,900 ,000 14,900 | 26,900 ,000 14,900 | 27500 ,300 15,200
RIG%E (FE)|  JAL JAL ,900 66% ,200 ,700 27.100 000 12,100 27.100 000 12,100 | 27.800 400 12,400
EWE=RA S (HE)[ JAL AL 100 62%  K:26,900 ,000 K:12,400 ,100_A:14,500 26,900 400 14,500 | 26,900 ,400 14,500 | 28,300 ,000 15,300
A% (EE)| JAL JAL ,900 65% ,900 ,000 26,800 400 12,400 | 26,800 400 12,400 | 29,000 600 13,400
HE=2F LS (HE)|[  JAL AL ,900 63% 500 400 26,700 ,300 14,400 | 24,900 500 13,400 | 27.900 ,900 15,000
EEES (FE)|  JAL JAL 25,100 63% 500 ,600 26,800 400 12,400 | 26,800 400 12,400 | 27,000 600 12,400
HE=ERE LS (HE)|[  JAL AL 26,900 62% ,000 ,900 26,900 000 14,900 | 26,900 ,000 14,900 | 28,300 ,600 15,700
BERES (FE)|[ JAL JAL 25,900 63% ,300 ,600 27.300 100 12,200 | 27.300 100 12,200 | 28,200 | 15600 12,600
AH=I FHRE CRE)|_ JAL AL 5,100 52% 500 ,600 25,100 500 10,600 | 25,100 500 10,600 | 25,100 ,500__10,600
IMRFE (FE)|[  JAL JAL ,000 54% ,100 ,900 25,100 600 14,500 | 24,000 100 13,900 | 23,900 100 13,800
AH=REL HHR (HE)|[ JAL AL ,000 58% 500 500 26,200 100 13,100 | 25,000 ,500 12,500 | 25,800 ,900 12,900
[EES (FE)|  JAL JAL ,900 59% 400 500 24,900 400 12,500 | 24,900 400 12,500 | 25,700 800 12,900
BAH=LE HHR (BE)|[  JAL AL 800 58% ,800 ,000 26,600 100 13,500 | 25,800 ,800_13,000 | 26,600 ,100__13,500
LEB% (FE)|  JAL JAL 26,600 56% 500 100 27400 900 13,500 | 25,000 600 12,400 | 25,800 000 12,800
AH=LOFH HHR (HE)|[  JAL AL 27,400 58% ,700 700 25,800 ,000 13,800 | 27,400 ,700 14,700 | 27.400 ,700 14,700
WOFHSE [RRCHEA)| JAL JAL 27,400 58% .700 ,700 27400 700 12,700 | _27.400 700 12,700 | 28,200 .100__13,100
EHR=HE EHRE ([RRGEE)|[ JAL AL 25,900 58% ,700 ,200 25,900 ,700 13,200 | 25,900 700 13,200 | 25,900 ,700 13,200
RER(BEFD] JA JAC 28,200 50% 500 9,700 28,200 500 9.700 | 28,200 500 9.700 | 28,200 500 9.700
HEE [RZRE)| JAL AL 26,900 56% ,700 ,200 26,900 ,700 13,200 | 28,300 400 13,900 | 28,300 400 13,900
RER(BFD| JAC JAL 28,200 50% 9,700 500 27400 | 9,400 18,000 | 28200 | 9.700 18500 | 28,300 | 9.700 18,600
AH=0EE HHR R (HE)[ JAI AL 28,500 52% 400 100 28,500 400 14,100 | 28,500 ,400_14,100 | 29,300 .800 14,500
55 (FE)|[  JAL JAL 28,500 52% ,100 ,400 28,500 .100__14.400 | 28,500 .100_14.400 | 29,300 500 14,800
HEH=mh [ &&% CRED|  JAL AL 27,000 55% ,600 400 28,200 200 14,000 | 27,400 ,800 13,600 | 28,200 ,200 14,000
3 (FE)|[  JAL JAL 26,600 55% ,200 ,400 26,600 200 _13.400 | 26,600 200 _13.400 | 26,800 300 13,500
EHxR=mH [ &&% CRED|  JAL AL 26,600 57% ,000 ,600 27,400 400 14,000 | 26,600 ,000 13,600 | 28,800 100 14,700
G (FE)|  JAL JAL 26,600 57% 600 ,000 27400 000 _13.400 | 26,600 600 13,000 | 27.800 200 13,600
HEH=L [ &H% CRED|  JAL AL 27,400 56% ,300 100 29,000 100 14,900 | 27,400 ,300 14,100 | 29,100 100 15,000
HALFE (FE)|[ JAL JAL 27,400 56% ,100 ,300 27400 100 13,300 | 27400 100 13,300 | 28,200 500 13,700
EHxR=TAM [|_BHE CRED|  JAL AL 28,000 58% ,600 400 28,800 ,000 15,800 | 28,000 600 15,400 | 29,600 ,300 16,300
EZ¥IES (FE)|[ JAL JAL 28,000 58% ,400 ,600 28,800 800 13,000 | 28,000 400 12,600 | 29,200 | 16,000 13,200
BAH=KS FHRE (BHE)|[  JAL AL 28,200 57 00 ,300 28,200 ,900 15,300 | 27,400 ,600 14,800 | 29,400 ,500 15,900
AHF (FE)|[ JAL JAL 28,200 7 ,300 ,900 27.800 100 12,700 | 28,200 300 12,900 | 29,800 .100_13,700
EHR=RG EHRE ([RRCGEE)| JAL AL 27,400 0 00 400 27,400 ,000 15,400 | 27,400 000 15,400 | 28,600 500 16,100
JAL JAL 29,300 539 200 100 29,300 200 12,100 30,100 700 12,400 | 29,300 200 12,100
JAL AL 28,200 59% 00 300 28,200 900 12,300 | 28,200 900 12,300 | 28,200 900 12,300
JAL JAL 27400 56% 300 100 27.800 400 16,400 | 27.800 400 _16.400 | 29,400 ,100__17.300
JAL AL 27,400 59% 00 100 27,400 300 15,100 | 27400 300 15,100 | 29,400 200 16,200
JAL JAL 28,200 58% 500 700 28,200 500 12,700 | 28,200 500 12,700 | 28,200 500 12,700
JAL AL 29,300 1 00 ,900 29,300 400 17,900 | 29,300 400 17,900 | 31,700 400 19,300
JAL JAL 26,200 1 800 4,400 29,000 100 15,900 | 26,200 800 14.400 | 29,000 .100__15,900
JAL AL 29,800 0 200 1,600 31,800 400 12,400 | 29,800 200 11,600 | 31,400 100__12,300
JAL JAL 26,200 1 400 1,800 26,200 400 11,800 | 26,200 400 11,800 | 27400 100 12,300
JAL AL 9,400 1 500 7.900 29,800 600 18,200 | 29,800 600 18,200 | 31,000 100 18,900
JAL JAL 7.400 0 ,000 .400 28,200 300 15,900 | 27400 000 _15.400 | 29,400 800 16,600
JAL JAC 9,000 4 800 ,200 29,400 000 12,400 | 29,000 800 12,200 | 29,400 000 12,400
JAL JAL 7.400 60° 400 ,000 27.400 400 12,000 | 27.400 400 12,000 | 28,600 | 16,100 12,500
JA AL 28,600 55% 00 500 29,800 600 17,200 | 29,800 600 17,200 | 30,200 | 12,700 17,500
JAL JAL 22,400 56% ,900 9,500 3,200 300 9.900 400 900 9.500 | 24,400 | 14,000 10400
JAL AL 600 58% 9,200 400 1,600 | 9,200 12,400 600 | 9,200 12,400 | 22300 | 9,500 12,800
JAL JAL 400 61% 600 .800 4,600 200 12,400 .400 600 11,800 | 24,200 000 12,200
JAL AL 300 61% 800 500 3,300 800 11,500 ,300 800 11,500 | 24,100 200 11,900
JAL JAL 200 60% 800 400 25,000 200 12,800 .200 800 12,400 | 25,000 200 12,800
JAL AL 800 62% 600 200 22,800 600 11,200 | 22,800 600 11,200 | 23,600 100 11,500
JAL JAL 25,800 0% 900 .900 24,200 .100_13.100| 25,800 900 13,900 | 25,800 900 13,900
JAL AL 25,800 0 00 ,900 25,800 900 11,900 | 25,800 900 11,900 | 26,600 400 12,200
JAL JAL 26,300 7 ,700 600 26,300 700 13,600 | _27.900 500 _14.400 | 27.900 500 14,400
JAL AL 24,600 0 700 ,900 26,200 500 12,700 | 27,500 200 13,300 | 27,500 200 13,300
JAL JAL 26,900 4 500 .400 26,900 500 _13.400 | 26,900 500 _13.400 | 27700 900 13,800
JAL AL 26,100 56% 000 ,100 26,100 000 13,100 | 26,100 000 13,100 | 27,700 800 13,900
JAL JAL 25,400 57% ,700 700 26,600 300 13,300 | 25,800 900 12,900 | 26600 300 13,300
JAL AL 23,800 60% 1900 ,900 23,800 900 11,900 | 23,800 900 11,900 | 27,800 900 13,900
JAL JAL 25,000 59% 100 .900 25,800 500 13,300 | 25,000 100 12,900 | 27400 300 14,100
JAL AL 23,400 62% 100 ,300 24,200 500 11,700 | 24,200 500 11,700 | 23,400 100 11,300
JAL JAL 25,800 58% 400 .400 27.400 200 _14.200 | 25,800 400 13.400 | 29,000 900 15,100
JAL AL 25,000 59% 000 ,000 25,000 000 12,000 | 25,000 000 12,000 | 26,600 800 12,800
JAL JAL 25,600 61% 1400 4,200 26,400 800 14,600 | 25,600 400 14,200 | 28,800 | 12,800 16,000
JAL AL 25,600 61% 200 1,400 25,600 200 11,400 | 25,600 200 11,400 | 28,000 500 12,500
JAL JAL 26,600 59% 100 4,500 26,600 10014500 | 25,000 | 11.300 13,700 | 27.800 ,600 15,200
JAL AL 26,600 59% 500 2,100 26,600 500 12,100 | 26,600 500 12,100 | 28,600 600 13,000
JAL JAL 26,600 500 5,100 26,600 500 15,100 | 26,600 500 15,100 | 27,000 600 15,400
JAL AL 26,600 100 1,500 26,600 100 11,500 | 26,600 100 11,500 | 26,600 100 11,500
JAL JAL 25,800 K:26,600 500 A:11,900 14,300 714,700 26,600 900 14,700 | 26,600 900 14,700 | 27.800 400 15,400
JAL AL 24,600 00 ,000 24,600 600 11,000 | 24,600 600 11,000 | 27,800 400 12,400
JAL JAL 24,600 38 .000 600 27.400 200 15.200 | 24,600 000 13,600 | 27400 200 15,200
JAL AL 24,600 3 00 ,000 24,600 600 11,000 | 24,600 600 11,000 | 25,800 300 11,500
JAL JAL 26,600 1 500 100 26,600 500 15,100 | 26,600 500 15,100 | 27.800 ,000 15,800
P JAL AL 6,600 1 100 500 26,600 100 11,500 | 26,600 100 11,500 | 27,000 400 11,600
E=/ RER CHE)|[  JAL JAL 0,100 7 0,600 9,500 20,100 | 10,600 9500 | 20.100 [ 10,600 9,500 ,100 .700 10,400
INESFE (RE)| JAL AL 9,900 7 9,400 10,500 20,700 | 9,700 11,000 | 19,900 | 9.400 10,500 400 100 11,300
E=REL WEFE CRE)|  JAL JAL 0,900 62 9400 11,500 20900 | 9,400 11.500 | 20,900 | 9.400 11,500 300 | 9,600 11,700
FELLZE (RE)|[ JAL AL 1,600 61 11,900 9,700 22,400 | 12,300 10,100 600 | 11,900 9,700 ,200 | 12,800 10,400
HE=L8 =R (FE)|  JAL JAL 22,500 595 10,000 12,500 ,500 | 10,000 12,500 500 | 10,000 12,500 .300 | 10,300 13,000
5 (RE)|[ JAL AL 21,700 61% 12,100 9,600 .100__| 13,400 10,700 .700 | 12,100 9,600 ,300 | 13,000 10,300
ME=LOFH | HEE CRE)[ JAL JAL 22,500 62% 9,300 13,200 ,500 [ 9,300 13,200 500 | 9,300 13,200 100 | 10,000 14,100
WOFES [RRCAA)|  JAL AL 24,100 59% 4,100 10,000 ,700 4,400 10,300 100 4,100 10,000 | 25700 5,000 10,700
ME=HE REF [RRCEE)| JAL JAL 23,400 58% 0,300 13,100 23400 | 10,300 13.100 | 23,400 | 10.300 13,100 | 23.400 | 10,300 13.100
AR JAL JAC 25,100 52% 5,900 9,200 25100 | 15900 9,200 | 25100 | 15900 9,200 | 25100 | 15900 9,200
HEX  [EEE)| JAL JAL 20,500 63% 1.500 9,000 22100 | 12,400 _9.700 | 22,100 | 12400 9,700 | 22,100 | 12400 _9.700
KR (FFH[ JA AL 25,100 52% 9,200 ,900 25100 | 9,200 900 | 25,100 | 9,200 900 | 25,100 | 9,200 00
EES RCHA)| JAL JAL 24,400 55% 1,100 ,300 25100 | 11,400 13,700 | 25,100 | 11.400 13,700 | 24.400 .100_13,300
5 CHED| JAL AL 24,400 55% 3,300 .100 25100 | 13,700 11,400 | 24400 | 13300 11,100 | 25,100 700 11,400
EES (FE)| JAL JAL 22,100 59% 0,000 ,100 22500 | 10,200 12,300 | 22,500 | 10.200 12300 | _25.700 .700__14,000
5 CHED|__JAL AL 2,100 59% 2,100 ,000 22,900 | 12,500 10,400 | 22,100 | 12,100 10,000 | 24,700 500 11,200
[ Bz (E)|  JAL JAL 0,100 64% 8,800 ,300 20900 | 9,200 11.700| 20,100 | 8800 11.300 | 25.700 300 14,400
H1FE (RE)| JAL AL 300 58% 13,100 .200 700 | 13,800 10,900 ,300 | 13,100 10,200 | 25,700 400 11,300
E=RL EES CRE)| JAL JAL .700 62% 9400 ,300 500 | 9,800 12,700 .700 | 9,400 12,300 | 27.300 900 15,400
LI FE (RE)|[ JAL AL 300 59% 13,200 100 .100__| 13,600 10,500 ,300 | 13,200 10,100 | 25,700 500 11,200
ME=TAM LS CRE)| JAL JAL 900 61% 9,600 ,300 ,900 | 9,600 14,300 .900 | 9,600 14,300 | 27100 | 10,900 16.200
EZ Wk (RE)|[ JAL AL 700 60% 14,800 9,900 26,300 | 15,700 10,600 700 | 14,800 9,900 | 26,700 | 16,000 10,700
HE=X5 ELEE CHE)|[  JAL JAL ,300 61% 9,500 .800 23,300 | 9,500 13,800 ,300 | 9500 13,800 | 23300 | 9,500 ,800
E CRE)| JAL AL ,900 59% 14,700 ,200 25300 | 15,000 10,300 900 [ 14,700 10,200 | 27700 | 16,400 11,300
R (B[ JAL JAL 29,100 4 10,700 ,400 29100 | 10,700 18400 | 29,100 | 10.700 18,400 | 29,100 | 10,700 18,400
HE=FR& WEFX [ERGIHE)| JAL AL 24,900 1 9,600 ,300 24,900 | 9,600 300 | 24,900 | 9,600 300 | 25300 | 9.800 500
RER(BFD| JAL JAL 29,300 0 500 ,800 29,300 500 12,800 | 30,100 900 13.200 | 29,300 500 12,800
RE%E  [RmE(HE)| JAL AL 24,900 1 00 9,600 25,200 400 9,800 | 24,900 3009600 | 25,700 700__10,000
RER(BFD| JAL JAL 29,000 1 ,700 16,300 29,400 900 16,500 | 29,800 ,000 16,800 | 29,000 70016300
#E MEFX [ERGIHE)| JAL AL 24,900 59% 000 14,900 24,900 000 14,900 | 24,900 ,000 14,900 | 26,100 ,500 15,600
RER(BFD| JAL JAL 29,300 48% 7.100 12,200 29300 | 17.100 12,200 | 29,300 | 17100 12,200 | 29,300 | 17.100 12.200
AR [ERHE)|] JAL AL 22,900 63% 3,700 9,200 23,700 4,200 9500 | 22,900 3,700 _9.200 | 26,900 6,100 10,800
RE(BFD[ JAL JAL 29,300 48% 2,200 17.100 30700 | 12,800 17.900 | 29,300 | 12200 17.100 | 30.100 | 12,500 17.600
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ME=25 MEEX [RR(HE)| JAL AL 22,900 63% 9,200 13,700 22,900 | 9200 13,700 | 22,900 [ 9,200 13,700 | 26,100 0,500 15,600
RER(BFD| JAL JAL 29,800 47% 17,400 12,400 30700 | 17.900 12,800 | 29,800 | 17.400 12400 | 30.700 | 17.900 12,800
=EFE  [RRCEE)| JAL AL 22,900 63% 13,700 9,200 23700 | 14200 9500 | 22,900 | 13,700 9,200 | 24,900 | 14900 10,000
RER(BFD| JAL JAL 29,400 48% 12,200 17.200 30700 | 12,800 17.900 | 29,800 | 12400 17.400 | 29.400 | 12,200 17.200
MEH=ERB MEEX [Rm(HE)| JAL AL 24,900 61% 9,600 15,300 24900 | 9.600 15300 | 24,900 | 9.600 15300 | 26.100 100 16,000
RER(BFD| JAL JAC 29,000 52% 16,000 13,000 29400 | 16,200 13.200 | 29,000 | 16,000 13,000 | 29.400 .200_13,200
ERBE [RZ(HE)|] JAL AL 23,300 63 14,300 9,000 24,100 | 14800 9,300 | 23,300 | 14,300 9,000 | 26.100 ,000 10,100
RER(BFD| JAC JAL 28,600 52 12,800 15,800 31400 | 14.100 17.300 | 29,800 | 13400 16.400 | 28,600 800 15,800
W=/ nZ3 HCAE)|[ JAL AL 0,200 50¢ 9,200 11,000 20,200 9,200 11,000 | 20,200 9,200 11,000 | 22,200 100 12,100
INRFE CRE)|_ JAL JAL 0,000 50 10,900 9,100 20000 | 10,900 _9.100 | 20,000 | 10.900 9.100 | 20.700 | 11.300 _9.400
=ML P JAL AL 000 57 7,900 13,100 21,000 | 7,900 13100 21,000 | 7900 13,100 | 21,400 | 8100 13,300
JAL JAL .700 55% 13,500 8.200 21,700 | 13500 8.200 | 21700 | 13500 8,200 | 22,500 | 14.000 8,500
W =T5E8 JAL AL 600 4 8,400 14,200 22600 | 8400 14,200 | 22,600 | 8400 14,200 | 22,600 | 8400 14,200
JAL JAL 200 7 13,300 7.900 21,200 | 13,300 7.900 | 21.200 | 13,300 7.900 | 22,000 | 13,800 _8.200
W =LAFHE JAL AL 00 7 7,800 14,800 22600 | 7,800 14,800 | 22,600 | 7800 14800 | 24,200 | 8300 15,900
JAL JAL 200 4 15,900 8.300 24,200 | 15900 8300 | 24200 | 15900 8300 | 25000 | 16.400 8,600
WL =HE JAL AL 700 4 8,300 14,400 22700 | 8,300 14,400 | 22700 | 8300 14400 | 22,700 | 8300 14,400
JAL JAC 26,600 48 16,600 10,000 26,600 | 16,600 10,000 | 26.600 | 16.600 10,000 | 25000 | 15.600 _9.400
JAL AL 700 54% 14,400 8,300 22700 | 14400 8300 | 25900 | 16400 9,500 | 25900 | 16400 9,500
JAC JAL 400 54% 8,800 14,600 24200 | 9,100 15100 23400 | 8800 14600 | 24.200 | 9.100 15.100
L= JAL AL 700 50% 9,000 14,700 23700 | 9,000 14,700 | 23700 | 9,000 14700 | 23,700 | 9,000 14,700
JAL JAL 500 49% 15,200 9,300 24,500 | 15,200 9.300 | 24,500 | 15.200 9.300 | 25300 | 15,600 9.700
L =&h JAL AL 200 53% 8,500 13,700 22600 | 8,600 14,000 | 22,600 | 8600 14000 | 23400 | 8900 14,500
JAL JAL 22,200 53% 13,700 8,500 22200 | 13,700 _8.500 .200 | 13700 8,500 | 24300 | 15.000 _9.300
W= %0 JAL AL 00 56% 8,000 13,800 22,600 | 8,300 14,300 800 | 8000 13,800 | 21,800 | 8,000 13800
Wit =# 0 JAL JAL 800 6% 7.900 13,900 600 | 8,200 14,400 800 | 7.900 13,900 | 25100 | 9.100 _16.000
JAL AL 400 3% 14,900 8,500 ,400 | 14900 8,500 400 | 14900 8,500 | 25000 | 15900 9,100
=T AM JAL JAL 000 6% 8,000 16,000 000 | 8000 16,000 | 24.000 | 8000 16.000| 27.200 | 9.000 18,200
Wi =Xx% JAL AL 400 7% 7,900 15,500 400 | 7,900 15500 | 23400 | 7,900 15500 | 23400 | 7900 15500
JAL JAL 25,000 4% 16,500 8,500 600 | 16,300 8,300 | 25000 | 16,500 8500 | 27.000 | 17.900 9,100
=Ri& JAL AL 25,000 56% 8,000 17,000 25000 | 8000 17,000 | 25000 | 8000 17,000 | 25000 | 8000 17,000
JAL JAL 25,800 55% 14,300 11,500 26200 | 14500 11.700 | 26,200 | 14500 11700 | 24.600 | 13,600 11,000
JAL AL 5,000 56% 17,000 8,000 25000 | 17,000 8000 | 25000 | 17,000 8000 | 25000 | 17.000 8,000
Wi =R JAL JAL 3,000 58% 7.600 15,400 23000 | 7.600 15400 23,000 | 7600 15400 | 26.200 | 8700 17.500
JAL AL 7,300 51% 15,700 11,600 28900 | 16,600 12,300 | 25700 | 14,800 10900 | 28,900 | 16,600 12,300
JAL JAL 3,000 58% 15,400 7.600 23000 | 15400 _7.600 | 23,000 | 15400 7.600 | 26.200 | 17500 _8.700
JAL AL 7,700 50% 11,700 16,000 28500 | 12,100 16,400 | 27,700 | 11,700 16,000 | 29,100 | 12,300 16,800
WLt ==y JAL JAL 3,000 58% 7.600 15,400 23000 | 7.600 15400 | 23,000 | 7600 15400 | 26.200 | 8700 17.500
JAL AL 28,200 49% 16,200 12,000 29100 | 16,800 12,300 | 28,200 | 16,200 12,000 | 29,100 | 16,800 12,300
JAL JAL 3,000 58% 15,400 7.600 23000 | 15400 7.600 | 23,000 | 15400 7.600 | 24.200 | 16.200 8,000
JAL AL 7,800 50% 11,800 16,000 29,000 | 12,300 16,700 | 28,200 | 12,000 16,200 | 28,600 | 12,100 16,500
L =ERSE JAL JAL 3,400 59% 7.500 15,900 23400 | 7,500 15900 | 23400 | 7500 15900 | 26.600 | 8,500 18,100
JAL JAC 7,400 53% 1900 12,500 27,800 100 12,700 | 27,400 900 12,500 | 26,200 | 14,200 12,000
JAL JAL 3,400 59% 900 7500 23.400 900 7500 | 23,400 900 7.500 | 25400 | 17.300 8,100
JAC AL 7,000 54% 300 14,700 29,000 200 15,800 | 28,200 900 15,300 | 27,800 | 12,700 15,100
e=HE JAL JAC 1,800 56% ,400 8,400 .800 400 8,400 ,800 400 8,400 ,800 3,400 8400
JAC AL 9,800 60% 7,600 12,200 800 | 8400 13,400 800 | 8400 13,400 800 | 7,600 12,200
we=x% JAL JAL 0,600 59% 12,700 7,900 400 [ 13,200 8,200 400 [ 13,200 8,200 ,200 | 13,600 8,600
JAL AL 200 56% 8,600 13,600 800 | 9,200 14,600 800 | 9,200 14,600 600 | 9,500 15,100
e =FiE JAL JAL ,400 66% 10,600 8,800 20,600 1,200 9400 | 20,600 .200 9,400 1,400 .700 9,700
JAL AL 000 63% 9,600 11,400 23400 | 10,600 12,800 | 24,200 000 13,200 | 24,200 000 13,200
e =Rx JAL JAL 22,900 58% 3,000 9,900 23,300 3200 10100 | 22,900 000 9,900 4,900 00 10,800
JAL AL 700 56% 0,300 ,400 23,700 _| 10,300 00 | 23,700 0013400 | 25,700 00 00
e =28 JAL JAL 200 55% 3,700 500 25,400 4400 11,000 | 25,400 4,400 11,000 | 25,800 600 11,200
JAL AL 800 56% 0,300 500 4,200 500 13,700 | 24,200 500 13,700 | 25,800 200 14,600
We=ERS JAL JAC 400 59% 2,500 .900 4,200 ,900 11,300 4,200 ,900 11,300 3,400 ,500 10,900
JAC JAL 400 59% 0,900 500 4,200 300 12,900 | 24,600 400 13,200 | 24,300 1300 13,000
HE JAL JAC .000 56% 2,600 8,400 1,000 ,600__8.400 1,000 600 8.400 1,000 ,600__8.400
JAC AL 800 59% 7,900 11,900 9,800 | 7900 11900 | 19,800 | 7,900 11,900 19,800 | 7,900 11,900
JAL JAL 800 59% 11,900 7.900 9,800 | 11.900 7900 9,800 | 11.900 _7.900 9,800 | 11.900 _7.900
JAL AL 600 57% 8,200 12,400 20600 | 8,200 12,400 | 20600 | 8200 12400 | 20,600 | 8200 12,400
JAL JAL 22,100 60% 11,700 10,400 22100 | 11,700 10400 | 22,900 | 12100 10,800 | 22,100 | 11,700 10.400
JAL AL 20,200 63% 9,500 10,700 20600 | 9,700 10,900 | 21,000 | 9900 11,100 | 20,600 | 9,700 10,900
JAL JAL 22,100 58% 12,200 9,900 22100 | 12,200 9.900 | 22,100 | 12200 9.900 | 22,100 | 12,200 9,900
JAL AL 22,100 58% 9,900 ,200 22100 | 9,900 12,200 | 22,100 | 9900 12200 | 22,900 | 10,300 12,600
JAL JAL 23,400 55% 2,900 500 24,600 | 13.600 11,000 | 24,600 | 13.600 11.000 | 24.200 | 13,400 10.800
JAL AL 23,400 55% 0,500 ,900 24,200 | 10,800 13400 | 23400 | 10500 12900 | 24,200 | 10,800 13,400
ERS JAL JAC 22,600 59% 1,700 .900 23400 | 12,200 11.200 | 23,400 | 12,200 11,200 ,600 | 11,700 10,900
JA AL 21,400 62% 0,300 100 22600 | 10,900 11,700 | 22,600 | 10,900 11,700 400 | 10,300 11,100
M= JAL JAL 19,200 63% 8,100 .100 19,200 | 8100 11,100 .200 | 8,100 11,100 .800 | 7,900 10,900
JAL AL 21,200 59% 12,300 8,900 22,000 | 12,700 9,300 200 | 12,300 8,900 | 22700 | 13,100 9,600
IMA=IRE JAL JAL 22,000 58% 9.100 12,900 24,000 | 10,000 14,000 000 | 9,100 12,900 | 21.600 | 9.000 12,600
JAL AL 1,600 59% 12,600 9,000 23000 | 13,400 9,600 400 | 12500 8,900 | 22800 | 13,300 9,500
ME=ILOFE JAL JAL 0,800 63% 8,100 12,700 20800 | 8100 12700 | 20,800 | 8.100 12700 | 22,300 | 8,600 13.700
JAL AL 800 60% 14,000 8,800 23200 | 14200 9,000 | 22,800 | 14,000 8800 | 25200 | 15400 9,800
IMA=HE JAL JAL .700 59% 8,900 12,800 21,700 | 8,900 12,800 21,700 | 8900 12800 | 20.900 | 8,600 12.300
JAL AL 00 58% 13,200 9,200 22700 | 13400 9,300 | 24700 | 14,600 10,100 | 24,700 | 14,600 00
ME=TEE JAL JAL 23,500 4 10,000 13,500 25900 | 11,000 14.900 | 23,500 | 10.000 13,500 | 24.300 | 10.400 00
JAL AL 25,500 0 14,600 10,900 25500 | 14,600 10,900 | 25500 | 14,600 10900 | 25900 | 14,900 00
JAL JAL 22,000 7 9.400 12,600 .200 | 9,900 13,300 400 | 9,500 12,900 .200 | 9,900 300
JAL AL 2,000 7 12,600 9,400 ,200 | 13,300 9,900 ,200 | 13,300 9,900 ,200 | 13,300 9,900
JAL JAL 0,000 62 8,200 11,800 600 | 8,900 12,700 600 | 8,900 12,700 500 | 9,700 13,800
JAL AL 00 57 13,400 9,400 ,600 | 13,900 9,700 ,600 | 13,900 9,700 700 | 14,600 10,100
M= JAL JAL 600 60 8,800 12,800 .200 | 9,400 13,800 600 | 8,800 12,800 | 25000 | 10.200 14.800
JAL AL 400 55% 14,500 9,900 400 | 14500 9,900 400 | 14500 9,900 | 25100 | 14,900 10,200
M= M JAL JAL 000 61% 8,600 14,400 26200 | 9,800 16.400 000 | 8,600 14,400 | 24,600 | 9.200 15400
JAL AL 000 61% 14,400 8,600 ,600 | 15400 9,200 ,000 | 14,400 8,600 | 26,200 | 16,400 9,800
IME=K5 JAL JAL 22,800 60% 8,700 14,100 .200 | 8,800 14,400 .200 | 8,800 14,400 | 24300 | 9.300 15000
JAL AL 00 59% 14,600 9,000 ,600 | 14,600 9,000 ,600 | 14600 9,000 | 27,200 | 16,800 10,400
M= RIE JAL JAL 200 62% 8,400 14,800 .200 | 8,400 14,800 .200 | 8,400 14,800 | 23500 | 8500 15000
JAL AL 00 62% 14,800 8,400 ,000 | 15400 8,600 ,200 | 14800 8,400 | 25200 | 16.100 9,100
ME=FER JAL JAL 200 0% 8,700 14,500 .200 | 8,700 14,500 .200 | 8700 14500 | 24300 | 9.100 _15.200
JAL AL 200 0% 14,500 8,700 ,000 | 15,000 9,000 ,200 | 14500 8,700 | 25800 | 16,200 9,600
ME=EIE JAL JAL 200 0% 8,700 14,500 .200 | 8,700 14,500 .200 | 8700 14500 | 24300 | 9.100 _15.200
JAL AL 200 0% 14,500 8,700 ,000 | 15,000 9,000 ,200 | 14500 8,700 | 26400 | 16,500 9,900
MI=ERE JAL JAL 200 62% 8,400 14,800 .200 | 8,400 14,800 .200 | 8,400 14,800 | 24300 | 8,800 15500
P JAL AL 600 63% 500 8,100 22,600 500 8,100 | 22,600 | 14,500 8,100 | 25800 500 9,300
(& AL JAC 800 43% 500 11,300 25,600 000 11,600 | 24400 | 13300 11.100 | _24.400 300 11,100
Hi] AC AL 800 43% 300 13,500 800 1300 13,500 400 | 9700 11,700 | 25200 1400 13,800
Pk BER | JAC JAC 600 38% 0,400 .200 .800 | 10500 6,300 | 16900 | 10,600 _6.300 .800 | 10500 _6.300
K R ER AC JAC 600 38% 6,200 10,400 .800 | 6,300 10,500 900 | 6,300 10,600 600 | 6,200 10,400
i JAC JAC 500 48% 10,300 200 500 | 10,300 5,200 500 | 10,300 5,200 500 | 10,300 5,200
3 AC JAC 500 48% 5,200 300 500 | 5200 10,300 500 | 5200 10,300 500 | 5200 10,300
CRE) [JAL/JTA[_JAL 29,200 59% 800 400 30400 | 17.500 12,900 | 32,400 | 18,600 13,800 400 | 18,600 00
CRE)|[ JAL |JAL/JTA[ 28400 60% 100 300 31,100 200 17,900 | 30,500 | 12,900 17,600 600 | 14,300 00
CRE) [JAL/JTA[_JAL 27,600 61% 000 .600 28,800 700 12,100 | 30,800 | 17.900 12900 | 30.800 | 17.900 12,900
CRE)|[ JAL |JAL/JTA[ 26,400 62% 100 300 30,400 800 17,600 | 26400 | 11,100 15,300 | 32,800 800 19,000
CRE) [JAL/JTA[_JAL 25,900 60% 200 9,700 27,900 400_10,500 | 29,100 | 18.200 10,900 | 29,900 700 11,200
CRE)|[ JAL [JAL/JTA[ 24700 62% 9,300 15,400 4700 | 9300 15400 | 24,700 | 9,300 15400 31,100 700__19,400
TR (FRER) = L CRED[JAL/JTAl_JAL 26,000 56% 18,000 8,000 7.200 | 18800 8,400 | 29,200 | 20200 9,000 | 29.200 | 20,200 _9.000
JAL__[JAL/JTA| 24,000 59% 7,400 16,600 4,400 | 7500 16,900 | 24,000 | 7,400 16,600 | 30400 | 9.400 21,000
R GRE) =& [ JTA JAL 26,500 3% 10,300 16.200 7.300 | 10.600 16,700 | 27.300 | 10,600 16.700 | 26,500 | 10,300 16.200
JAL JTA 500 3 16,200 10,300 26,500 | 16,200 10,300 | 26,500 | 16,200 10,300 | 26,500 | 16,200 10,300
FEE (FRER) =/ JAL/JTA| _JAL 200 1 15,700 8,500 26200 | 17.000 9.200 | 27.400 | 17.800 9,600 | 29.400 | 19,100 10.300
JAL_[JAL/JTA 200 1 8,500 700 26,800 | 9,400 17,400 | 26,200 | 9,200 17,000 | 28,600 000 18,600
8 GIRER) TlE JTA JAL 600 52 200 1400 24,700 300 11,400 .700 300 _11.400 | 24,600 200 11,400
JAL JTA 600 52% 400 ,200 24,700 1400 13,300 700 400 13,300 | 24,700 1400 13,300
8 GIRER) =10 JTA JAC 600 49% 000 600 25,400 500 10,900 800 .100__10.700 | 23,400 ,300_10,100
I} Mﬁ] JAC JTA 600 49% 600 ,000 25,400 900 14,500 600 600 14,000 | 25,400 900 14,500
RR(NE) =BEAB|RR CHE) K| ER JAL JAC 700 55% 7.400 .300 28300 | 17.800 10.500 | 28,300 | 17.800 10,500 | 28,800 | 18,100 10.700
RER(FFD| JAL AL 2,900 44% _ A:33.800 2,600 A:13,000 20,300 720,800 34,700 | 13,300 21,400 | 34700 | 13,300 21400 | 32,900 | 12,600 20,300
BERER | ER JAC JAL 7,800 55% 0,400 17.400 27,800 0400 17.400 | 27.800 0,400 17.400 | 29,100 0,800 18,300
KB (BFD[ JAL AL 2,000 45% 9,700 12,300 32000 | 19,700 12,300 | 32,500 | 20,000 12,500 | 33,400 | 20,600 12,800




5A6H~12AIMFE#H# 5|28 EER JAL/JTA/JAC/RAC

N - . . [E— [E— [E—
=R SmiD BERM 5/9-12 g];g s EE EELE 5/6 EEE ESR 5/7 EEE ESR 5/8 EEE ESR
XED | RM@ i 0] @ @ @ i @
REPE) =BERB|RR(PE) %[ _ERE JAL JAC 0,800 51% 19,000 11,800 31,200 | 19,200 12000 | 31,200 | 19,200 12,000 | 31,200 | 19,200 12,000
BEXRE | JAL JAC 4,200 39% 28,400 5,800 35200 | 29200 6000 | 35200 | 29.200 6,000 | 34.300 | 28.400 5,900
ERBE | BERS JAC JAL 300 52% 11,700 18,600 30,800 800 19,000 | 30,800 ,800__ 19,000 | 30,800 | 11,800 19,000
TR () =8| Rm (HE) ¥ _ERS JAL JAC .700 52% 18,800 12,900 31,700 800 12,900 | 31,700 800 12,900 | 32,300 | 19.100 13,200
BEKS | JAL JAC 500 39% 28,300 8,200 37,600 2008400 | 37,600 2008400 | 36700 | 28,500 8,200
[FA-E ERE JAC JAL .700 52% 12,900 18,800 31,700 ,900 18,800 | 31,700 ,900 18,800 | 33,100 | 13,500 19.600
BEKS | JAC AL 500 39% 8,200 28,300 36700 | 8,200 28,500 | 36700 | 8200 28500 | 37.400 | 8400 29,000
RR(PE) =k RE| AR (A ¥ ERS JAL JAC ,900 50% 9.300 14,600 34400 | 19,600 14.800 | 34400 | 19.600 14,800 | 34.400 | 19,600 14.800
HKREE | EREE JAC AL ,400 51% 4,400 19,000 34,000 4,700 19,300 | 34,000 4,700 19,300 4,800 5000 19,800
BEXS | JAC JAL 700 39% 0,300 28,400 39,000 ,400 28,600 | 38,700 300 28,400 | 39,600 600 29,000
RRCAE) =5# [Ex (PR %] BERE AL JAC ,100 54% 7,900 14,200 34,900 400 15,500 | 34,900 400 15,500 | 32,700 ,200 14,500
5@m% ERE JAC JAL 500 54% 400 18,100 33,100 .700_18.400 | 33,100 .700__18.400 | 34,800 400 19,400
BEXE AC AL 400 39% 100 28,300 40,400 100 28,300 | 40,700 100 28,600 | 41,300 300 29,000
KR () =BZEAB| KR (B | ER JAC JAC 25,900 48% ,900 12,000 26,300 100 12,200 | 25,900 900 12,000 | 25,900 900 12,000
BERER | BER AC JAC 25,800 48% 1900 13,900 25,800 900 13,900 | 26,800 400 14,400 | 27,300 600 14,700
AR () =ERB| KR (B | _ER JAC JAC 28,100 45% .700 13.400 29,400 400 14,000 | 28,500 .900 13,600 | 28,500 ,900 13,600
EEX AL JAC 28,800 7% 800 6,000 29,800 600 6,200 | 29,800 600 6,200 | 28,900 900 6,000
ERBR ERE JAC JAC 28,500 4% 600 14,900 30,400 500 15,900 | 29,000 ,800 15,200 | 29,900 200 15,700
TBEXS AC JAL 28,800 7% 6,000 22,800 28900 | 6,000 22,900 | 28900 | 6,000 22900 | 29,700 | 6,200 23,500
KR () =2z B AR P %] ERE JAC JAC 29,000 6% 14,500 500 29900 [ 15000 14900 | 29,000 | 14500 14,500 | 29,000 | 14,500 14,500
BzB%E | ERS AC JAC 900 4% 14,900 ,000 30300 | 15,100 15,200 | 29,900 | 14,900 15,000 300 | 15,600 15,700
XE | JAC AL .100 7% 8,400 700 300 | 8,400 22,900 300 | 8,400 22,900 000 | 8,600 23.400
KR () =9k RE[ AR (B %[ B AC JAC ,200 45% ,900 ,300 ,600 5,500 17,100 .700 5,100 16,600 ,700 5100 16,600
SKEARE | R JAC JAC ,100 43% 800 ,300 800 7,200 15,600 ,600 7.100 15,500 500 7,600 15,900
AR (E =5# [XR(EHE|] & AC JAC ,600 45% .700 ,900 100 5,300 17,800 ,200 4,900 17,300 ,200 4,900 17,300
5 3 JAC JAC 500 44% 400 100 500 | 18,500 16.000 100 | 17.800 15,300 .900 | 18,200 15,700
EBE=EXXE E3 3 AC JAC 400 46% 0,000 400 1,500 | 9,600 11,900 500 | 9,600 11,900 | 22400 0,000 12,400
BERER | B JAC JAC 22,400 6% 2,400 ,000 22,400 | 12,400 10,000 ,400 | 12,400 10,000 | 22400 | 12,400 10,000
EE=ERE EEEES B AC JAC 24,600 3% 0,700 ,900 25,000 0800 14,200 100 0400 13700 | 24,100 0,400 13,700
BEXS | JAC JAC 26,300 7 0,300 6,000 26400 | 20400 6000 | 26.400 | 20400 6,000 | 26.400 | 20400 _6.000
EREE | BERS AC JAC 24,100 4 3,700 10,400 24,600 | 13900 10,700 | 24,600 | 13900 10,700 | 24,100 | 13,700 10,400
EEES ERE JAC JAC 25,500 4 0,400 15,100 25500 | 10400 15100 | 25500 | 10400 15.100 | 25500 | 10,400 15.100
ESN) AC JAC 28,600 7 0,200 8,400 28800 | 20400 8400 | 28800 | 20400 8400 | 28,800 | 20400 8,400
[FA-E ERE JAC JAC 25,200 4 4,900 10.300 25200 | 14,900 10300 | 25200 | 14900 10300 | 25200 | 14,900 10,300
BEXS AC JAC 28,600 7 8,400 20,200 28800 | 8400 20400 | 28800 | 8400 20400 | 28,600 | 8400 20,200
BR%E ERE JAC JAC 27,700 2 0,700 17,000 27800 | 10.800 17.000 | 27.800 | 10.800 17.000 | 28.200 | 10,900 17.300
KRR | EREE AC JAC 27,200 3% 6,700 10,500 7,800 7,000 10,800 | 27,800 7,000 10,800 | 27.200 6,700 10,500
BEXS | JAC JAC 30800 7% 0,600 20,200 1100 | 10,700 20,400 | 30,800 | 10.600 20,200 | 30,800 | 10,600 _20.200
&E=5# FLE AC JAC 28,100 3% 0,500 17,600 7,800 | 10400 17400 | 27,800 | 10,400 17,400 | 28,700 | 10,800 17,900
BEXS | JAC JAC 32,100 38% 12,200 19,900 32100 | 12200 19,900 32.100 | 12200 19.900| 32,100 | 12200 19,900




5A13H~31 A EHENGI28 IEER JAL/JTA/JAC/RAC
By OF akh A= 4
=R man® | BEER g5 BB = ERE ERE
EED | XE@ "
HR(PAE)=2% [Ex ) %[ JAL/JTA[JTA/RAC| 21,900 62% | £:22,500 15,300 [£:15,700 6,600 [£::6,800
= |04 (BB%) [J-TA/RAC[JAL/JTA| 21,800 63% | H:23,100 6,500 |H:6,900 15,300 [H:16,200
BER(HE)=F1E |Ex (F8E) %[ 5835 [JAL/JTA] JTA 22,300 65% |#:23,700, £:23,100 14,300 [£:15,200, £:14,800 8,000 [#:8,500, £:8,300
ABR (BS7E) | JAL JTA 25,800 64% | & 1:27,400 8,200 [%+:8700 17,600 [# £:18,700
FiEZE  [MEGEE| JTA [JAL/JTA] 23,200 64% 8,400 14,800
ABR (B8FE) [ JTA JAL 25,000 65% | H:28,200 17,100 [H:19,300 7,900 [H:8,900
KB (FF) =% @31 | KPR (R FD % RRCRE) | JAL JAL 22,800 64% % +:24,400, H:23,200 8,100 [% +:8,600. H:8,200 14,700 [# +£:15,800, H:15,000
ZimAlF |[EECHE)| JAL JAL 23,600 63% | A%:24,800, 1:24,400. 0:26,000] 15,300 [#:16000. +:15800, B:16800 | 8,300 |A%£:8800, :8,600. H:9,200
[ALIE (i Fa) | JAL JAL 24,800 60% | H:26,400 8,500 |H:9,000 16,300 [H:17,400
KBR (B8EE) =% 5% 3 | KR (BI78) & [4LIE i Faw) |  JAL JAL 23,200 63% 15,300 7,900
ZmAlE  [fEERTR)|  JAL JAL 24,800 60% | H:26,400 8,500 |H:9,000 16,300 [H:17,400
K (FFH =8I [ KPR (FFH R CEE) | JAL JAL 24,400 61% | F:24.400, % 1:25,300. H:22,600] 8,900 | H:8.900, £+:9200, H:8,200] 15,500 |5:15500, &£:16,100, H:14400
BINFE [RECHH)| JAL JAL 23,200 63% | A%:24,400, H:26,600 14,800 | A #:15,500, H:16,900 | 8,400 |A%:8,900, H:9,700
Khx (BE7E) =81l [ KXBR (B87E) | MR CHEA) | JAL JAL 24,400 61% | H:24.400, 2 1:25,300. H:22,600] 8,900 |H:8.900, £F:9200, H:8,200] 15,500 |B:15500, &£:16,100, H:14400
JBIIE [RECHE)| JAL JAL 23,200 63% | A%::24,400, H:26,600 14,800 [A%:15,500, H:16,900 | 8,400 |A%:8,900. H:9,700
KR (R FH) =8IE [ KBk (FFH) S [RRCHE)|  JAL JAL 21,000 66% @ 1:21,200, H:21,600 7,700 | +:7,800, H:7,900 13,300 % +:13,400, H:13,700
HIEEFE [WECHEH)| JAL JAL 21,800 64% | A£:23,000, 1:21,200. H:26,000| 13,800 |A:14,600, £:13400, H:16500 | 8,000 |A%:8,400, +:7,800, H:9,500
KR (FFH =5 [ KR (FFD F|RRCEA) | JAL JAL 24,800 59% | H:24,800, 1:22.000. H:24,000| 9,200 |H:9,200, £:8,100, H:8,900 | 15,600 |5:15600. +:13,900, B:15,100
ﬁ*rz\% EAC:D) JAL JAL 23600 61% K:24,800, £:25,600, 1:25200, H:24,400 | 14,900 |*:15600, £:16,100, +:15,900, B:15400 § 700 |74:9,200, %:9,500, +:9,300, H:9,000
AR (Bd) =% A wmEFE  |[RRERCHE)| JAL JAL 23,600 61% | A:24.800, £:25,600, +:25,200, H:24400 | 14,900 [A:15600. 16100, £:15500, B:15400 8,700 | 49,200, :9,500. +:9.300, 9,000
KR (FH) =EfE [ KR (7 S [RRECHE)|  JAL JAL 21,900 59% % +:23300. H:21,100 9,100 |4 +:9,700, H:8,800 12,800 (% +:13,600, H:12,300
BRAEH |EFCHHE)| JAL JAL 22,700 58% | A%:23,900. 1:21,300. H:25,900| 13,200 |A%£:13900. +:12400. H:15,100 | 9,500 |A&%:10,000. £:8,900, H:10,800
KRR (FH ==IR [ KR (FFH) S[ERCHE)| JAL JAL 21,800 58% :21,400 9,400 |H:9,300 12,400 | H:12,100
% |[HERCHE)| JAL JAL 22,600 57% | A%::23,800, H:23,400 12,800 [A%:13,500, H:13,300 | 9,800 |A#:10,300. H:10,100
% |ERCHHE)| JAL JAL 22,600 57% $:23,800, H:23,400 12,800 [A%:13,500, H:13,300 | 9,800 |A#:10,300. H:10,100
KB (D[ HE JAC JAC 16,600 47% 6,900, H:14,200 10,100 10,300, H:8,700 | 6,500 |% 1
[R5 HE JAC JAC 14,800 53% £ H:15,100 5,800 H:5,900 9,000 [£
KR () =BFE | XREFFDE| BRS JAC JAC 20,500 48% F:21,550, H:20,700 13,900 14,700, H:14,100 | 6,600 [
BrEX | BES JAC JAC 20,800 47% 1,050, +:21,600, H:22,550] 6,700 [£:6,750, :6,900. H:7,250 | 14,100 [%:14,300. £:14,700, B:15,300
KRR (BFH == [ABR(FF) S h4E (BB&H) | JAL [ITA/RAC| 19,200 63% 12,700 6,500
Eh% [ RE)|JTA/RAC| JAL 20,200 61% 6,800 13,400
Khx (BPE) == | ABR (B97E) 5| 448 (FBH) | JAL/JTA[JTA/RAC| 19,200 63% 12,700 6,500
Eh% |48 (FRE) [UTA/RAC|JAL/JTA[ 20,200 61% 6,800 13,400
KR (BFH =F1E [ KR ({FF) S04 (FR#ER) | JAL JTA 20,400 64% 12,200 8,200
RiEH  [REEBE])| JTA JAL 24,400 57% | H:25,700 9,800 [H:10,300 14,600 |H:15,400
KR (BEF) =F1E [ KXk (BF) %[44 (G [JAL/JTA]  JTA 20,400 64% 12,200 8,200
AiEHE  [REGRE)| JTA [JAL/JTA[ 24,400 57% | H:25700 9,800 [H:10,300 14,600 |H:15,400
BEE (&) =kH5 | B 5 E (hEh) R[HEFFR)|  JAL JAL 23,200 60% | +:24,000 14,700 [ £:15,300 8,500 [% +:8,700
ZEAIHE  [fEETHR)|  JAL JAL 26,500 55% | H:28,700 9,700 [H:10,500 16,800 [H:18,200
AHE(FH) =2h|2aERH) X PBFFHM) | JTA [JTA/RAC| 19,200 66% |2 1:20,200 13,200 % +:13,900 6,000 | +:6,300
Ea % [P GRE) [JTA/RAC]  JTA 19,400 65% | H:21,000 6,100 [H:6,600 13,300 [H:14,400
ZEE (R =FRiE[2&5E R @B EH) | JTA JTA 20,400 67% |#1:21,400, H:21,900 12,800 [£+:13,400, H:13,700 | 7,600 |% +:8,000. H:8,200
RiEH [REOEBE)|  JTA JTA 19,400 69% 7,200 12,200
FIRFHTFH) =/MAAUREGFH [ ERCAE) | JAL JAL 21,800 61% |%:22,600, H:23,400 13,200 [£:13,700. H:14,100 8,600 [#::8,900. H:9,300
MAE [RECHE)| JAL JAL 23,400 58% |4 +:24,000, H:21,800 9,300 [% +:9,500. H:8,600 14,100 [# £:14,500, H:13,200
FIRFHTFH) =MILUAREFH [ FRCAHE) | JAL JAL 22,800 64% |%:24,000, H:24,400 12,000 [£:12,600. H:12,900 10,800 [#:11,400, H:11,500
ML |[RFERCHH)| JAL JAL 23,600 63% 6,200, 1:24,400. H:22,700| 11,200 [£:12.400. £:11,500. B:10,700 12,400 |£:13,800. £:12,900, B:12,000
LIRFHTHR) =LBARETFH ([ ERCAR) | JAL JAL 23,600 63% |#:24,400, H:25500 12,300 [£:12,700, H:13,300 11,300 [#:11,700, H:12,200
LB% [HERERCHH)| JAL JAL 25,500 60% 4,600, H:25,200 12,200 [+:11,800. H:12,100 13,300 [£:12,800, H:13,100
IR FFa) =0T ARG FH) [ RRCAE) | JAL JAL 25,200 63% 3,600, H:26,800 12,400 [£:11,600. H:13,200 12,800 [£:12,000, H:13,600
WOFESE [RRCHE)|  JAL JAL 25,200 63% |%:27,400, 1:26,000 12,800 [£:13,900, £:13,200 12,400 [#:13,500, £:12,800
LIRFHTR) =HEAREGTFH [ ERCAE) | JAL JAL 25,700 60% |#:27,300, H:27,400 13,300 (£ H:14,100 12,400 [#:13,200, H:13,300
= HRECRED | JAL JAL 24,800 62% | %:27,400, 1:26,000, H:24,700| 12,000 |£:13,300, +:12,600 12,800 [£:14,100, £:13400, H:12,700
LIRFHTR) =FB ARG FH R ERCAR) | JAL JAL 26,300 58% | H:29,500 14,000 |H:15,700 12,300 [H:13,800
EE% [RRECHEH)| JAL JAL 28,700 54% |%:30,700, H:27,100 13,400 [£:14,400, H:12,700 15,300 |%:16,300. H:14,400
IRFHTR) =R [AREFH [ ERCAE) | JAL JAL 24,800 61% |%:25,600, H:26,800 13,200 [£:13,600, H:14,300 11,600 [#:12,000, H:12,500
E%  [RRECHE)| JAL JAL 24,400 61% |%:26,800, 1:26,000 11,400 [£:12,500, £:12,200 13,000 [#:14,300, £:13,800
LIRFHTHR) =M [ALREFH [ ERCAE) | JAL JAL 24,400 62% | £:25,200, H:26,000 12,600 [£:13,000, H:13,400 11,800 [#:12,200, H:12,600
EA%  [RRECHEH)| JAL JAL 25,200 61% |£:28,200, 1:26,800 12,200 [£:13,600, £:13,000 13,000 [%:14,600, £:13,800
IR FH TR =RLUAREFH (R CAE) | JAL JAL 25,200 61% |%:26,800, H:27,300 12,900 [£:13,700. H:14,000 12,300 [#:13,100, H:13,300
| e [EFERCEHE)| JAL JAL 27,300 58% |4::28,300. +:27,600. H:26,000| 13,300 |£:13.800. £:13500. B:12.700 14,000 |%:14,500, %:14,100. H:13,300
HIREFFR) =AMAREGTH R[ERCHE)| JAL JAL 25,800 63% | H:26,600 12,300 [£ H:12,700 13,500 [ H:13,900
JEAMHE [RERCHE)| JAL JAL 25,800 63% |4::29.100. +:26,200, H:26,600| 13,500 |£:15.200. £:13700. B:13.900| 12,300 |£:13,900, +:12,500. H:12,700
MIRFHTHR) =K ARG FH [ ERCAE) | JAL JAL 26,000 62% 4,400, H:27,600 12,600 [+:11,800. H:13,400 13,400 [£:12,600, H:14,200
An% [HRCHEH)| JAL JAL 28,300 59% |+ H:26,800 14,600 [+ H:13,800 13,700 [+ H:13,000
MIRFHTH) =RB ARG FH [ ERCAE) | JAL JAL 26,000 64% | H:26,800 12,000 [H:12,400 14,000 [H:14,400
RE% [RRCHE)| JAL JAL 27,800 62% |%:30,100, £ H:26,800 14,900 [£:16,200, £ H:14,400 | 12,900 [%:13,900, £ H:12,400
MIRFH TR =RARGEFH [ ZRCAR) | JAL JAL 26,000 63% 12,400 13,600
REA® [HRCHHE)| JAL JAL 26,000 63% |%:27,800 13,600 [£:14,500 12,400 [#:13,300
IRFHTHR) =B AREFEFH [ ERCAE) | JAL JAL 24,400 65% |%:26,800, H:27,600 11,600 [£:12,800, H:13,200 12,800 [#:14,000, H:14,400
BiEF  [FEFERCHA)| JAL JAL 27,800 60% |+ H:26,800 14,500 [+ H:14,000 13,300 [+ H:12,800
HRFTFR) =ERS[ARFTHR[ERHE)| JAL JAL 26,000 64% | H:27,600 12,000 [H:12,800 14,000 [H:14,800
BEREH [HERCHHE)| JAL JAL 25,200 65% |%:27,400, 1:26,400. H:26,000| 13,500 |£:14,700. £:14,200, H:14000] 11,700 |£:12,700. £:12,200, H:12,000
HIREHTR) =R @B ARG TR R ERCHE) | JAL  [JAL/JTA| 27,000 64% |£:29,600, 1:29.000. H:26,600] 12,200 [£:13,300. £:13,100, H:12,000| 14,800 |#:16,300. £:15900. H:14,600
KB (B8#E) [ JAL [JAL/JTA| 25,000 67% | H:26,600 13,700 [H:14,600 11,300 [H:12,000
£HE(PE)|  JAL JTA 22,600 70% |&+£:23.400 11,100 (£ £:11,500 11,500 [# £:11,900
[ JAL JTA 24,300 69% 15,800 8,500
B (RE) & [ (HHE) [JAL/JTA[  JAL 27,000 64% |2 H:29,100 14,800 [£ H:16,000 12,200 [£ H:13,100
KBR (BS78) [JAL/JTA[  JAL 27,400 64% | H:29,000 12,400 [H:13,100 15,000 [H:15,900
2EHE (P JTA JAL 23,800 69% |%:24,600, H:27,000 12,100 [£:12,500, H:13,700 11,700 [#:12,100, H:13,300
12 JTA JAL 25,900 67% |&1:26,700 9,100 [% +:9,300 16,800 | £:17,400
2 = 2 Bl EREFE  [RECHE)| JAL JAL 26,800 66% | A1:27,600, £:29,200, H:28,400[ 12,600 |A+:13000. :13,800. B:13400 | 14,200 [A£:14600. $:15400, H:15000
HIEF TR JAL JAL 25,700 65% 18,100 7,600
i | RECEE)| JAL JAL 26,000 67% |#1£:30,000, H:29,200 13,700 (£ £:15,800, H:15,400 | 12,300 % +:14,200. H:13,800
AIREFR) | JAL JAL 24,900 66% | H:25,600 7,300 [H:7.600 17,600 [H:18,000
= =heJll B [RECHE)| JAL JAL 25,000 67% | % 1:28,800, H:26,200 12,000 (£ £:13,900, H:12,600 | 13,000 |4 +:14,900. H:13,600
HBJIFE |EFCHHE)| JAL JAL 25,600 66% | A£:27,200, £:29,600, H:30,600| 13,300 |A=:14,100, £:15300, B:15900 | 12,300 |A=:13,100, £:14,300, B:14,700
RS EERE  [RERCHE)| JAL JAL 25,000 67% | 425,800, £ H:26,800, 1:24,400| 12,100 |A:12500, % H:13,000, +:11,800 | 12,900 | 413,300, % H:13,800, £:12,600
IR [WERCHH)| JAL JAL 25,000 67% | A:25800, £1:26,800. H:30,000] 12,900 [#:13.300. #+:13800, H:15400 | 12,100 |:125500, #%:13,000, H:14,600
& =55 fErE%  [RECHE)| JAL JAL 27,600 63% | A%::28,400, £:26,800 13,500 [A%:13,900, £:13,100 | 14,100 [A%:14,500, £:13,700
wmhEFE  |[RRERCHE)| JAL JAL 26,000 65% A H:27,600, % 1:30,800 13,300 | A H:14,100, £+:15,700 | 12,700 | A H:13,500, % +:15,100
2 = e B [RECHE)| JAL JAL 25,100 63% |%:28,300, £:27,300 13,500 [£:15,300, £:14,700 11,600 [#:13,000, £:12,600
BAER [RRECHHE)| JAL JAL 25,300 63% | & 1:26,900. H:29,100 11,700 (£ £:12,400, H:13,400 | 13,600 [% +:14,500, H:15,700
EE=5F% EEFE  [RECHE)| JAL JAL 27,400 50% | %::30,600. 1:25,.800. H:28,800] 15,100 |%:16,800. %:14200, B:15,800] 12,300 |%:13,800, 11,600, H:13,000
ABR(FFD|  JAL JAL 29,800 49% 11,100 18,700
BHR%E  [EERCHH)| JAL JAL 27,400 59% |7 H:28,200. %:28,800 12,300 A H:12,700, £:13,000 | 15,100 [A H:15,500, %:15,800
ABRUFFD|  JAL JAL 28,200 52% |4 H:31,000 17,700 [£ H:19,400 10,500 [£ H:11,600
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By OF i A A
=R man® | BEEE g5y BB = ERE ERE
EED | XE@ -
2 R HRECRED|  JAL JAL 25,000 62% | H:26,600 13,900 [£ H:14,700 11,100 [# H:11,900
RERECHE)|[ JAL JAL 25,000 62% | At H:26,600, :27,400 11,100 [A£ B:11,900, %:12,200 | 13,900 | A+ H:14,700. £:15,200
B =15 ABRUFFD | JAL JAL 26,600 53% 10,200 16,400
ABRUFFD | JAL JAL 26,600 53% | H:27,800 16,400 (£ H:17,100 10,200 [# H:10,700
2 =FE R CHE)|  JAL JAL 23,300 62%  |%:25,700, £:22,500. H:24,700] 13,900 |%:15400. %:13,500, H:14,800] 9,400 |%:10,300, £:9,000, H:9.900
MEFE [RECHH)]| JAL JAL 24,100 61% A< +:24,900, B:22,500 9,700 | A% +:10,000, H:9,000 14,400 |A%+:14,900, H:13500
ABRUFFD | JAL JAL 28,200 49% |% H:31,000 17,000 [ H:18,600 11,200 [ H:12,400
2 =L BEH ["RRCEE)| JAL JAL 23,400 57% | H:25,000, £:22,600 15,600 [£xH:16,700, £:15,100 | 7,800 |4 H:8,300, £:7,500
ABRUFFD | JAL JAL 26,600 51% | H:25,000 10,800 [H:10,200 15,800 [H:14,800
W% [EECRE)| JAL JAL 23,400 57% |&1£:25,000 7,800 [# +:8,300 15,600 [# £:16,700
ABRUFFD | JAL JAL 26,600 51% | H:27,800, £:25,000 15,800 [£ H:16,500, £:14,800 | 10,800 |4 H:11,300, £:10,200
2 =% B [ KBRUFFD| JAL JAL 20,200 60% 8,700 11,500
FiRFE | KRUEEFD| JAL JAL 20,200 60% % H:21,400 11,500 | H:12,200 8,700 % H:9,200
[EEEUNA EREFE  [RERCHE)| JAL JAL 23,200 60%  |%:24,800. 1:22,800. H:24,000] 14,500 |%:15,500. +:14300, B:15000] 8,700 |%:9,300. +:8,500. H:9,000
AR [RECHE)| JAL JAL 23,200 60% |7 H:24,000, £:24,500 8,700 [A H:9,000. %:9,200 14,500 [A H:15,000, £:15,300
EE==0a FEEES 48 (ARF) | JTA [JTA/RAC| 17,200 62% 10,500 6,700
Eo R [P GRER) [JTA/RAC]  JTA 17,300 62% | H:18,900 6,700 [% H:7.300 10,600 [# H:11,600
‘BE=H1E BEE [MEBE;)| JTA JTA 18,400 64% |%:19,400, H:20,400 10,000 [£:10,600, H:11,100 8,400 [#::8,800. H:9,300
RiEH [REORE)|  JTA JTA 18,400 64% 8,400 10,000
ZimA =& ZUmAIH R ETR)|  JAL JAL 23,900 52% 10,300 13,600
=3 LIR BT JAL JAL 23,900 52% 13,600 10,300
iR = /MR Al | RECHE)| JAL JAL 23,400 63% |2 125200, H:26,600 15,300 (£ +:16,400, H:17,400 | 8,100 |% +:8,800. H:9,200
NAE [RECHE)| JAL JAL 23,400 63% | & 1:25000. H:24,100 8,100 [% +:8,700. H:8,400 15,300 [# £:16,300, H:15,700
iR =0 Al | RECHE)| JAL JAL 24,400 66% |%:25,600, H:26,800 14,100 [£:14,800. H:15,500 10,300 [#:10,800, H:11,300
RS [FEFERCHA)| JAL JAL 24,300 66% | H:25,900 10,300 [H:10,900 14,000 [H:15,000
JETTETNA BINFE [ERCEE)| JAL JAL 23,000 63% |£:23800, H:27,600 14,800 [£:15,300, H:17,800 8,200 [#::8,500, H:9,800
NAE [RFECHE)| JAL JAL 23,000 63% | & 1:26,000, H:22,900 8,200 [%+:9,300 14,800 [# £:16,700, H:14,700
B =Rl JBIIE  [RECHE)| JAL JAL 24,000 66% | £:25,200, H:28,600 13,600 [£:14,300. H:16,200 10,400 [#:10,900, H:12,400
FELF  [FEFERCHA)| JAL JAL 23,900 66% | & 1:27,200 10,300 [£ £:11,800 13,600 [# +£:15,400
Slpg =/ IR [WECHEH)| JAL JAL 21,800 64% | £:22,400, 1:22.000. H:26,600| 13,900 |£:14,300, £:14100, B:17000 7,900 |£:8,100, H:9,600
NAE [RECHE)| JAL JAL 21,600 64% |#+:21,800, H:22,500 7,800 [£+:7,900. H:8,100 13,800 [# £:13,900, H:14,400
3% =L HIEEFE [WECHH)| JAL JAL 22,600 67% 3,800, +:22,800, H:26,800| 12,700 |:13400. :12900, B:15,100] 9,900 |£:10,400, H:11,700
FELF  [REFERCHE)| JAL JAL 23,300 66% :23,500, H:24,300 10,200 (£ £:10,300, H:10,600 | 13,100 % +:13,200. H:13,700
HIR=/MR #HEFE [RRECHE)| JAL JAL 23,400 61% |2 1:26,000, H:24,200 14,900 [£+:16,600, H:15,400 | 8,500 |% +:9,400. H:8,800
R HRECRED|  JAL JAL 23,400 61% | H:23,300 8,500 14,900 [H:14,800
HIL=ML HEFE  [RECHE)| JAL JAL 24,400 64% |% 1:26,800 13,700 [£ £:15,000 10,700 [# £:11,800
fELF  [HEFERCHE)| JAL JAL 24,300 65% | H:25,100 10,700 [H:11,000 13,600 [H:14,100
AR =/ BAEH [RECHHE)| JAL JAL 22,500 58% |%:23,300, H:26,300 13,300 [£:13,700, H:15,500 9,200 [#::9,600. H:10,800
NAE [RECHE)| JAL JAL 22,500 58% |4 +:24,000, H:21,700 9,200 [%+:9,900. H:8,900 13,300 [#£:14,100, H:12,800
EHEE=R L BAEH [RECHHE)| JAL JAL 23,500 62% |%:24,700, H:26,700 12,000 [£:12,600, H:13,600 11,500 [#:12,100, H:13,100
FILF [RFCRHE)| JAL JAL 23,400 62% | & +:26,200 11,500 | +:12,800 11,900 |4 +:13,400
EEE=dt AN BAEH [RECHHE)| JAL JAL 25,900 62% |%:26,500, H:28,900 11,900 [£:12,200. H:13,300 14,000 [#:14,300, H:15,600
EAMFE [RRCHE| JAL JAL 24,400 64% | H:25,200 13,100 [£ H:13,600 11,300 [# H:11,600
HiE=X% BAEH [RECHHE)| JAL JAL 26,700 60% |+:25300, H:29,900 12,500 [+:11,900. H:14,000 14,200 [+:13,400, H:15,900
AnFE  |[WERCHH)| JAL JAL 26,700 60% 9,900, 1:29,.800. H:25,100| 14,200 [£:15,900. £:15800, B:13300] 12,500 | +:14,000, H:11,800
HiE=RI& BEEER [RWECHHE)| JAL JAL 26,900 62% 9,100 12,000 | H:13,000 14,900 | H:16,100
R% ["RCHEH)| JAL JAL 24,700 65% & +£:27,900 13,700 [ £:15,400 11,000 [# £:12,500
HEE=REA BEER [WECHHE)| JAL JAL 26,100 62% A% 1:26,900, H:29,100 12,000 | A% £:12,400, B:13,400 | 14,100 | A% £:14,500, B:15,700
REA% [HRECHHE)| JAL JAL 24,700 64% | % 1:27,800 13,300 [ £:15,000 11,400 [# £:12,800
HE=2& BAER [RECHHE)| JAL JAL 24,900 63% |#:27,500, H:29,900 11,500 [£:12,700. H:13,800 13,400 [#:14,800, H:16,100
BIEF [FEFERCHA)| JAL JAL 25,900 62% |&1:27,800 14,000 [ £:15,000 11,900 [£ +£:12,800
HE=ERS BEEER [RWECHHE)| JAL JAL 26,900 62% | H:29,900 12,000 | H:13,400 14,900 | H:16,500
BREEE |HRCHE)| JAL JAL 26,700 62% |& 1:28,300 14,800 [£ £:15,700 11,900 [# £:12,600
BEHR=/I0 EAHE  [RRCHE)| JAL JAL 25,100 52% 14,500 10,600
MAE [RFECHE)| JAL JAL 24,000 54% % H:25,100 10,100 [£ H:10,600 13,900 [# H:14,500
BEHR=REL EHHE  [RRECHE)| JAL JAL 25,000 58% |%:26,800, 1:23,400 12,500 [£:13,400, £:11,700 12,500 |#:13,400, £:11,700
FELF  [FEFERCHA)| JAL JAL 24,900 59% | H:25,700 12,400 [H:12,800 12,500 [H:12,900
BEHR=L85 BEHFE  |[RERCHHE)| JAL JAL 25,800 58% | %:28,200, 1:25,000, H:26,600| 12,800 |:13,900, +:12.400, B:13,100] 13,000 |%:14,300, £:12,600, H:13,500
| | kEB% |[EFERCHAHE)| JAL JAL 26,600 56% |4::28,800, +:25000, H:27,000| 13,500 |£:14,600. +£:12,600. B:13700| 13,100 |£:14,200, +:12,400. H:13,300
EH=ILOFE BEHE  |[RERCHH)| JAL JAL 27,400 58% | 4:28,800, 1:25,000 12,700 |%:13,400, +:11,600 14,700 |%:15,400, +:13,400
WOFERSE [RECEE)|  JAL JAL 27,400 58% | H:28,200 14,700 [H:15,100 12,700 [H:13,100
BEHR=HE EHRHE  [ERCGEE)| JAL JAL 25,900 58% 12,700 13,200
ABR(FFD|  JAL JAC 28,200 50% 18,500 9,700
HE HHECHE)| JAL JAL 26,900 56% 13,700 13,200
ABR(FFD | JAC JAL 28,200 50% |+:27.400, H:28,300 9,700 [+£:9,400 18,500 [+:18,000, H:18,600
EHR=HS BHFE  |[HERCHHE)| JAL JAL 28,500 52% % H:30,100, 1:27,700 14,400 (€ H:15,200, 1:14,000 | 14,100 % H:14,900, 1:13,700
BER [ERERCHH)| JAL JAL 28,500 52% 14,100 14,400
EH=mi BAFE  |[WERCHHE)| JAL JAL 27,000 55% | 4::28,300. :25,800. H:27,800] 13,600 |%:14,300. %:13,000, B:14,000] 13,400 |%:14,000, 12,800, H:13,800
BiF  [EECHHE)| JAL JAL 26,600 55% 13,200 13,400
EHR=2H EAHE  [RRECHE)| JAL JAL 26,600 57% | %::28,800. £:25,000. H:27,400] 13,000 |%:14,100. %:12,200, B:13.400] 13,600 |%:14,700, 12,800, H:14,000
=A% [RRECHE)| JAL JAL 26,600 57% | H:27,400 13,600 [ H:14,000 13,000 [ H:13,400
BEHR=mL BHFE  [HERCHHE)| JAL JAL 27,400 56% | 4:29,000, 1:25,800 13,300 |#:14,100, 1:12,500 14,100 |%:14,900, +:13,300
WILF  [RRECHE)| JAL JAL 27,400 56% |4 H:28,800 14,100 [ H:14,800 13,300 | H:14,000
BEH=dAM BAFE  |[WERCHH)| JAL JAL 28,000 58% | 4:30,400, 1:26,400 12,600 |#:13,700, +:11,900 15,400 |%:16,700, +:14,500
JdAMFE ["RCHE| JAL JAL 28,000 58% |4 H:28,800 15,400 |4 12,600 | H:13,000
BEHR=KXo BEHFE  |[WERCHHE)| JAL JAL 28,200 57% | %:29,800, 1:27,000 12,900 |4 15,300 |4:16,100, +:14,600
A% [HERECHH)| JAL JAL 28,200 57% 15,300 12,900 [£:12,700
EHR=R& BEAFE |[RECHH)| JAL JAL 27,400 60% & 12,000 15,400 |%:16,300
ABR(FFD|  JAL JAL 29,300 53% | 1:30,100 17,200 [+ 12,100 [+:12,400
REF  [EERCHE)| JAL JAL 28,200 59% 15,900 12,300
ABRUFFD | JAL JAL 27,400 56% | +:27,800, H:29,400 11,300 (£ £:11,400, H:12,100 | 16,100 % +:16,400. H:17,300
BEHR=REX BEHFE  |[WERCHHE)| JAL JAL 27,400 59% |4:29,000 12,300 |#:13,100 15,100 |%:15,900
REAR® [EECHH)| JAL JAL 28,200 58% 15,500 12,700
ABRUFFD | JAL JAL 29,300 51% | H:31,700 11,400 [H:12,400 17,900 [H:19,300
EHR=525 BEAFE |[RECHHE)| JAL JAL 26,200 61% |%:27,800. £:25400. H:28,200] 11,800 |4:12,500. %:11,400, B:12,700] 14,400 |%:15:300, 14,000, H:15,500
ABRUFFD | JAL JAL 29,800 50% | H:31,400 18,200 [H:19,100 11,600 [H:12,300
BEH  [EERCHA)| JAL JAL 26,200 61% | H:27,400 14,400 [H:15,100 11,800 [H:12,300
ABRUFFD | JAL JAL 29,400 51% | H:31,000 11,500 [H:12,100 17,900 [H:18,900
EHR=EBRS EH%  [ERERCEAE)| JAL JAL 27,400 60% |#:29,300, H:28,200 12,000 [£:12,800, H:12,300 15,400 |#:16,500, H:15,900
ABRUFFD | JAL JAC 29,000 54% | H:29,400 16,800 [£ H:17,000 12,200 [£ H:12,400
BREXE |[ERCHHE)| JAL JAL 27,400 60% | H:28,200 15,400 [H:15,900 12,000 [H:12,300
ABRFFD | JAC JAL 28,600 55% |+:29,800, H:31,400 12,100 [+:12,600. H:13,300 16,500 [+:17,200, H:18,100
SIR=/R =R% [RRECHH)| JAL JAL 22,400 56% | H:23,200 12,900 [ H:13,300 9,500 [£ H:9,900
MAE [RFECHE)| JAL JAL 21,600 58% | H:22,300 9,200 [H:9,500 12,400 [H:12,800
ZiR=RL ZiR% [RERRECHH)| JAL JAL 23,400 61% |%:24,600 11,600 [£:12,200 11,800 [#:12,400
FELF  [FEFERCHAAE)| JAL JAL 23,300 61% | H:24,100 11,800 [H:12,200 11,500 [H:11,900
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ZR=ILE5 HRECRED|  JAL JAL 24,200 60% | H:25,000 11,800 [£ H:12,200 12,400 [£ H:12,800
HHECHE)| JAL JAL 22,800 62% 11,600 11,200
ZR=1LOFE R CHE)[  JAL JAL 25,800 60% | 1:24,200 11,900 [£:11,100 13,900 [+:13,100
HRECRED | JAL JAL 25,800 60% | H:26,600 13,900 [H:14,400 11,900 [H:12,200
SR=HZE HRECRED|  JAL JAL 26,300 57% | H:27,900 12,700 [£ H:13,500 13,600 | H:14,400
HRECRED|  JAL JAL 24,600 60% |2 1:26,200 12,700 [£ £:13,500 11,900 [#+£:12,700
ZR=%5 HRECRE | JAL JAL 26,900 54% | H:28,500 13,500 | H:14,300 13,400 [H:14,200
HHECHE)| JAL JAL 26,100 56% 13,000 13,100
ZiR=B-i HRECRED|  JAL JAL 25,400 57% | H:26,200 12,700 (£ H:13,100 12,700 [# H:13,100
HHECHE)| JAL JAL 23,800 60% 11,900 11,900
ZiR=m% HHECHE)| JAL JAL 25,000 59% 12,100 12,900
HRECRED | JAL JAL 23,400 62% | % 1:24,200 12,100 [£ £:12,500 11,300 [#+£:11,700
ZiR=#L HRECRED|  JAL JAL 25,800 58% | H:27,400 12,400 [£ H:13,200 13,400 [£ H:14,200
HHECHE)| JAL JAL 25,000 59% 13,000 12,000
ZR=dthm HRECRE | JAL JAL 25,600 61% |%:26,400 11,400 [£:11,800 14,200 [%:14,600
HHECHE)| JAL JAL 25,600 61% 14,200 11,400
ZiR=K% HRECRED|  JAL JAL 26,600 59% | +:25,000 12,100 [£:11,300 14,500 [+:13,700
HHECHE)| JAL JAL 26,600 59% 14,500 12,100
ZiR=R& HRECRED|  JAL JAL 26,600 61% 11,500 15,100
HHECHE)| JAL JAL 26,600 61% 15,100 11,500
ZiR=REX HRECRED|  JAL JAL 25,800 61% | A% 1:26,600 11,500 (A% +:11,900 14,300 | AR +:14,700
HHECHE)| JAL JAL 24,600 63% 13,600 11,000
ZiR=E2I4 HRECRED|  JAL JAL 24,600 63% |%:27,400, H:26,600 11,000 [£:12,200. H:11,900 13,600 [#:15,200, H:14,700
HRECRED | JAL JAL 24,600 63% | H:25,800 13,600 | H:14,300 11,000 [H:11,500
ZR=ERS R CHE)|  JAL JAL 26,600 61% 11,500 15,100
HHECHE)| JAL JAL 26,600 61% 15,100 11,500
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HRECRED|  JAL JAL 19,900 57% |%:20,700, H:21,400 9,400 [£:9,700. H:10,100 10,500 [#:11,000, H:11,300
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HRECRED|  JAL JAL 21,600 61% |%:22,400, H:23,200 11,900 [£:12,300, H:12,800 9,700 [£:10,100, H:10,400
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REAR® [EECHH)| JAL JAL 23,000 58% 15,400 7,600
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Rig% [KREFFD| JAL JAL 20,200 63% | H:20,600, 1:21,000 9,500 [% H:9,700. £:9,900 10,700 [# H:10,900, £:11,100
FR=REX Fia% [ KBRUFFD| JAL JAL 22,100 58% 12,200 9,900
BEARE [ KRUEFD| JAL JAL 22,100 58% | H:22,900 9,900 |H:10,300 12,200 |H:12,600
FR=2& FinFE | KRUEEFD| JAL JAL 23,400 55% |4 1:24,600, H:24,200 12,900 (% +:13,600, H:13,400 | 10,500 '€ +:11,000, H:10,800
=iEF [ RBRURFD| JAL JAL 23,400 55% |4 H:24,200 10,500 [ H:10,800 12,900 [# H:13,400
FR=ERS FinFE [ KRUEEFD| JAL JAC 22,600 59% & 1:23400 11,700 | % +:12,200 10,900 € +:11,200
BREE |ABRUFFD| JAC JAL 21,400 62% |+ H:22,600 10,300 [+ H:10,900 11,100 [+ H:11,700
AN =FELLI MAE [RECHE)| JAL JAL 19,200 63% | H:19,100 8,100 [H:8,000 11,100
RS [FEFERCHA)| JAL JAL 21,200 50% |%:22,000 12,300 [£:12,700 8,900 [£:9,300
IMA=TRE AE [RECHE)| JAL JAL 22,000 58% |%:24,000, H:22,400 9,100 |%:10,000, H:9,300 12,900 |4:14,000, H:13,100
LS |[RECHH)| JAL JAL 21,600 59% |4::23,000, +:21,400. H:22,400| 12,600 |£:13.400. £:12,500. B:13.100] 9,000 |4:9.600. +:8,900. H:9,300
IMA=ILAFER AT [RRECHE)| JAL JAL 20,800 63% | H:21,500 8,100 |H:8,300 12,700 |H:13,200
WOFERSE [RRCHE)|  JAL JAL 22,800 60% |£:23,200, H:24,000 14,000 [£:14,200, H:14,700 8,800 [£::9,000. H:9,300
IMR=HE MAE [RECHE)| JAL JAL 21,700 59% | H:20,900 8,900 [H:8,600 12,800 [H:12,300
HEH [FERERCHA)| JAL JAL 22,400 58% | H:22,700 13,200 [ H:13,400 9,200 [% H:9,300
M= AT [RRECHE)|  JAL JAL 23,500 54% |4 H:25,900 10,000 % H:11,000 13,500 |4 H:14,900
BER [HERECHH)| JAL JAL 25,500 50% 14,600 10,900
INR=FH NAE [RECHE)| JAL JAL 22,000 57% | H:23,200 9,400 [4 12,600 [# H:13,300
=% [RRECHE)| JAL JAL 22,000 57% & 1:22,800, H:22,400 12,600 |4 H:12,900 | 9,400 [%+:9,700, H:9,500
INA=F MMAE  [ERCGEE)| JAL JAL 20,000 62% |&+:21,600, B:20,700 8,200 |4 :8,500 11,800 [#£:12,700, H:12,200
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IMNR=K% NAE [RRECHE)| JAL JAL 22,800 60% |2 123,200, H:23.100 8,700 [+ H:8,800 14,100 [# £:14,400, H:14,300
A% [HRCHEH)| JAL JAL 23,600 50% |4 H:24,000 14,600 [£ H:14,900 9,000 [£H:9,100
IMNE=FIE NAE [RFECHE)| JAL JAL 23,200 62% | H:22,400 8,400 [H:8,100 14,800 [H:14,300
RE% [RRECHEH)| JAL JAL 23,200 62% |4 H:24,000 14,800 [£ H:15,400 8,400 [% H:8,600
IMR=FER NAE [RRECHE)| JAL JAL 23,200 60% | H:22,400 8,700 [H:8,400 14,500 [H:14,000
REA® [HRCHHE)| JAL JAL 23,200 60% |%:24,000 14,500 [£:15,000 8,700 [#::9,000
IMNR=TF 5 NAE [RFECHE)| JAL JAL 23,200 60% | H:22,400 8,700 [H:8,400 14,500 [H:14,000
BiEF  [FEFECHA)| JAL JAL 23,200 60% |%:24,000 14,500 [£:15,000 8,700 [#::9,000
IMR=ERS AT [RRECHE)|  JAL JAL 23,200 62% | H:23,100 8,400 | H:8,300 14,800
BREEE |RRCHE)| JAL JAL 22,600 63% | H:24,000 14,500 | H:15,400 8,100 [H:8,600
BH=2 B [ JAL JAC 24,800 43% |$:25,600, 1+ H:24,400 13,500 |4:14,000, + H:13,300 | 11,300 |%:11,600, &+ H:11,100
e 1B JAC JAL 24,800 43% |£:25,200, H:22,200 11,300 [£:11,400, H:10,100 13,500 [#:13,800, H:12,100
EXKRBE=5# | EEZXEH | HKkBE [ JAC JAC 16,600 38% € H:17,100 10,400 (% H:10,700 6,200 % H:6,400
T SPKEER [ JAC JAC 16,600 38% |+:17,100 6,200 [£:6,400 10,400 [+:10,700
BERS=HKRE| EXXEH EE S JAC JAC 15,500 48% 10,300 5,200
ok RARFE i JAC JAC 15,500 48% 5,200 10,300
PR (HRER) =F & 8 (A8 F|RRCHEA) [JAL/JTA|  JAL 29,200 59% |4 H:30,600 16,800 (% H:17,600 12,400 % H:13,000
ER%E  (Em(FHE)| JAL [JAL/JTA] 28400 60% |#:31,100, £:30,500 12,100 [£:13,200, £:12,900 16,300 |#:17,900, £:17,600
SRR (BRER) = =R |48 (ARER) | R CHHE) [JAL/JTA|  JAL 27,600 61% | H:30,800 16,000 | H:17,900 11,600 | H:12,900
=R%¥ [WEmECHE)] JAL [JAL/JTA| 26,400 62% |%:30,400 11,100 [£:12,800 15,300 [#:17,600
SRR (IRER) =RKE [hEE (ARER) | R CHHA) [JAL/JTA|  JAL 25,900 60% | % H:26,500 16,200 % H:16,500 9,700 % H:10,000
E%E [Ex(EHE)| JAL [JAL/JTA] 24,700 62% 9,300 15,400
SRR (BRER) =LAy [hdE (ARER) | SR CHHE) [JAL/JTA]  JAL 26,000 56% | H:29,200 18,000 | H:20,200 8,000 |H:9,000
W%  [ERCGEE)| JAL [JAL/JTA[ 24,000 50% | %::24,400 7,400 [£:7,500 16,600 |%:16,900
R IRE) =lA [PEGRE | &R JTA JAL 26,500 63% % 1:27,300 10,300 % +:10,600 16,200 % 1:16,700
=3 [l JAL JTA 26,500 63% 16,200 10,300
B (IRER) =/ [PEE (IRER) 5[ BRR CFIE) [JAL/JTA[  JAL 24,200 61% | %:25000, H:26,600 15,700 |4:16,300, H:17,300 8,500 |%:8,700, H:9,300
MRFE  |EFCHE)| JAL  [JAL/JTA| 24,200 61% 6,800, 1:26,200, H:23,800] 8,500 [£:9,400. £:9,200. H:8,300 | 15,700 [%:17,400. £:17,000, B:15,500
HREIB) =28 MEGREH) %] e JTA JAL 24,600 52% & 1:24,700 13,200 € +:13,300 11,400
= FE [ JAL JTA 24,600 52% |&+ H:24,700 11,400 13,200 %+ H:13,300
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EXRER | ER JAC JAL 27,800 55% | H:28,600 10,400 | H:10,700 17,400 | H:17,900
ABRUFFD | JAL JAL 32,000 45% | H:33,400 19,700 [H:20,600 12,300 [H:12,800
RRCHE) =ERS|RR(HE) % ERS JAL JAC 30,800 51% %+ H:31,200 19,000 |4 11,800 €+ H:12,000
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s = s T 4 B26800, 226, 900 [$:14.400, +:14.100 | 12,000 [%:12.400, £:12.200
R (F =258 Jﬁ,ﬁ AG o & :1 900 +:12400, H:12.600 | 13900 +:14.400, B:14.700
Jﬁix s I g 4700 $+:15400, B:14900 | 13400 % +:14.000, H:13.600
gg;( JAC [ 28500 44% % H:30,400, +:29,000 fg ggg EY ﬁ gg% i;fg,goo A DR
_ AL 500 e TN £0: . £:13,800 | 14900 % H:15,900, £:15.200
S GE =EZE J@E =Al 2800 S 900, H:29.800 6,000 | H:6,200 22,800 | 1:22,900, H:23,600
Jﬁ,ﬁ g o900 ot ::ggg g_iﬂs 000 14,500 [ £:14,900
S Eigc% AL e - 450 E.:15 100, B:15,600 | 15,000 [£:15,200, H:15700
KB | BERS JAC 31,200 45% | % +:32,600, H:31,700 14.900 @;700 22100 ML 2500, H2n0m
- ERE g S PEORRE = e _ 2 £:15,500. H:15.100 | 16,300 [#+:17,100, H:16.600
KR (B =5% B “AG 31600 e Zl‘j:-vss 160 .EZ_,SOO, H:34,000( 16,800 |%:17,200, £:17,100, B:17,800 15,300 |%:15600, +:15500, H:16,200
M B “AG 52500 . izgg fgg 14.700 [ $:15300, H:14.900 16900 $F:17.800, B:17.300
= B o JAC 32500 4 CPHAAALL 17400 % H:18,500, £:17.800 | 15,100 % H:16,000, £:15300
Ss—— Jﬁ s s o :(z)ggg + H:9,600 12,400 |+ H:11,900
Bl =& R JAC 24,600 43% |£:25000, £ H:24,100 10,700 [£: 13500
=335 “AC 26300 e T3 BTy 10.700 £:10.800, £8:10400 | 13,900 [%:14.200,  H:13.700
—EE=EIE ﬁb:b? JAC 24,100 YTE 13700 & SRR 0
EE=TE TEES s e - 18,700 2+ H:13.900 10,400 [£ £ H:10.700
| BEXS JAGC 28,600 37% 15190
R s e 3 fg ggg £ £ H:20,400 8,400
— JAC 28,600 37% |4 10900
akE =ihK RED JAC 27,700 42% _[%:28,200, £ H:27,800 6700 % 20200 S+ 820400
JAG 57200 vETRE . L H: :0 700 #:10900, £ H:10,800 | 17.000 [:17.300
SR “AC 50500 TTRE 18(7580 . 10,500 £+ H:10,800
ER=5m JAG | 28100 | 43% | £:28700, T H:27,800 03 20200 £.20.100
SAC %2100 o 28,700, £ H: 10,500 |£:10,800, £ H:10,400 | 17.600 [£:17.900, £ H:17.400
, ] 12,200 19.900 ‘
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6A1B~9AIF#EI5128 JEEX JA/JTA/JAG/RAG
[ = =
=R @D 6/1-6/9  BHH e ERE ERA
RED | RE " @ @
HRCHE)=82% [RZECAMA)Z|$ 4 (A8H) [JAL/JTA[JTA/RAC| 21,900 62% |£:22,500 15,300 [£:15,700 6,600 |%:6,800
Bo% | #GRER) [JTA/RAC|JAL/JTA| 21,800 63% | H:23,100 6,500 | H:6,900 15,300 | H:16,200
RR(HHE) =AE Eﬁm(:ﬂﬂa)%_yﬁ(ﬁni‘s) JAL/JTA[ JTA 22,300 65% 423,700, £:23,100 14,300 |%:15,200, 1:14,800 8,000 [£:8500, 1:8,300
KBz (B8FE) | JAL JTA 25,800 64% |4 +:27,400 8,200 £ +£:8,700 17,600 |4 +:18,700
RiEX [HE@B)| JTA [JAL/JTA[ 23700 63% 8,500 15,200
Mri(liém) JTA JAL 25,000 65% | H:28,200 17,100 [ H:19,300 7,900 |H:8,900
KR (A =% 3 | KB (A B JAL JAL 22,800 64% |4 +:24,400, H:23,200 8,100 £ +:8,600. H:8,200 14,700 |4 +:15,800, H:15,000
ESEES JAL JAL 23,600 63% | A%$:24,800, T:24400. H:26,000 | 15,300 |A%:16,000, +:15800, H:16,800 8,300 | A%:8.800. +:8,600, H:9,200
JAL JAL 25,600 59% | H:27,200 8,700 |H:9,300 16,900 | H:17,900
KR (BET) =% A | ABR (B 7E) % JAL JAL 23,200 63% 15,300 7,900
ESTRES JAL JAL 25,600 59% | H:27,200 8,700 | H:9,300 16,900 | H:17,900
KB (D) =181 | KBR () % JAL JAL 24,400 61% | H:24,400, £ 1:25300, H:22,600 | 8,900 |5:8900, % +:9,200, H:8,200 | 15,500 |F:15,500. % +:16.100, H:14,400
FEIES JAL JAL 23,200 63% | A%:24,400, H:26,600 14,800 | A%:15,500, H:16,900 8,400 |A%:8,900, H:9,700
Kz (BE#) =hEJIl | KPR (B97E) 5 JAL JAL 24,400 61% | H:24,400, £ 1:25300, H:22,600 | 8,900 |/5:8900, & +:9,200, H:8,200 | 15,500 |F:15.500. % +:16.100, H:14,400
FEIES JAL JAL 23,200 63% | A%:24,400, H:26,600 14,800 | A%:15,500, H:16,900 8,400 |A%:8,900, H:9,700
KB (D) =8I | KXBR (7 % JAL JAL 21,000 66% | +:21,200, H:21,600 7,700 [ +:7,800. H:7.900 13,300 [ +:13,400, H:13,700
HIERF JAL JAL 21,800 64% | K%£:23,000, T:21,200, H:26,000 | 13,800 |A%:14,600, +:13400, B:16,500 8,000 |A %8400, 7,800, H:9,500
KR () =®IA | KR (RFD JAL JAL 24,800 59% | H:24,800, £:22,000, H:24,000 9,200 |B:9,200, *:8,100, H:8,900| 15,600 | A:15,600, +:13,900, B:15,100
%mﬁ-ﬁ JAL JAL 23,600 61% A:24,800, %:25,600, £:25,200, H:24,400| 14,900 |#:15600, £:16.100, +:15900, B:15400 | 8 700 |#:9,200, £:9,500, £:9,300, H:9,000
KB (BETR) =5 HILF JAL JAL 23,600 61% | A:24,800, £:25600, 1:25,200, H:24400] 14,900 |:15600, £:16.100, £:15900, B:15.400 | 8 700 |A:9,200, :9,500, +:9,300, H:9,000
KB (5 =R | KB (B F) % JAL JAL 21,900 59% |4 +:23,300, H:21,100 9,100 |£+:9,700, H:8,800 12,800 [ +:13,600, H:12,300
BEEEF JAL JAL 22,700 58% | A£:23,900, +:21,300, H:25,900 | 13,200 |A%£:13900, +:12,400, B:15,100| 9,500 |A%:10,000, +:8900, H:10,800]
KBx (R F}) 58 JAL JAL 21,800 58% | H:21,400 9,400 |H:9,300 12,400 [H:12,100
% BE JAL JAL 22,600 57% %:23,800, H:23,400 12,800 [A#:13,500, B:13,300 9,800 [A#£:10,300, H:10,100
R |[EECHE)| JAL JAL 22,600 57% 123,800, H:23,400 12,800 3,500, H:13,300 9,800 ,300, H:10,100
AR(RFDFE| HE JAC JAC 16,600 47% 6,900, H:14,200 10,100 0,300, H:8,700 6,500 |4 600, H:5,500
[ECES ] JAC JAC 14,800 53% 115,100 5,800 :5,900 9,000 [£+ H:9,200
KR (R =BFES|XBEUFMHE| BERS JAC JAC 20,500 48% % +:21,550, H:20,700 13,900 4,700, H:14,100 6,600 & +t:6,850
BYEX | BRS JAC JAC 20,800 47% | %:21,050, +:21,600, H:22,550 6,700 |£:6,750, £:6,900. H:7,250 | 14,100 |£:14,300. *£:14,700, H:15,300
KR () =2 | ABRGRFD 5|4 R#H) | JAL |JTA/RAC| 19,200 63% 12,700 6,500
Ea%E |48 (%) [JTA/RAC]  JAL 20,200 61% 6,800 13,400
Kix (BfE) == | ABR (B978) 5| 48 (FBFR) [JAL/JTA|JTA/RAC| 19,200 63% 12,700 6,500
B %8 GR%) [JTA/RAC|JAL/JTA[ 20,200 61% 6,800 13,400
KR () =R1E | ARGREFD | H#EGRE) | JAL JTA 20,400 64% 12,200 8,200
AiEH [H@EB)| JTA JAL 24,400 57% | H:25700 9,800 [H:10,300 14,600 | H:15,400
Kz (B#E) =R1E | ABR(BF) 5|48 GRER) [JAL/JTA]  JTA 20,400 64% 12,200 8,200
RiEH  [HEGE)| JTA [JAL/JTA[ 24400 57% | H:25700 9,800 [H:10,300 14,600 | H:15,400
ZEE (hE) =%l | &S E (hEp) 2[R FH TR |  JAL JAL 25,000 57% |4 +:27,800 15,900 |%+:17,700 9,100 [£+£:10,100
| Z@pls [URGTER| JAL JAL 28,900 51% | H:30,900 10,500 | H:11,300 18,400 | H:19,600
ZEHE(PE) =20 (2RI PEEGRE)| JTA [JTA/RAC| 19,200 66% | % +:20,200 13,200 | £ +:13,900 6,000 |£+:6.300
Ea% |48 (%) [UTA/RAC]  JTA 19,400 65% | H:21,000 6,100 | H:6,600 13,300 | H:14,400
2EE (P =RiE|2&EGH 2 FE@H) | JTA JTA 20,400 67% |4 +:21,400, H:21,900 12,800 |4 +:13,400, H:13,700 7,600 |4 +:8,000, H:8,200
RiES ¢‘f§(§n§;‘s> JTA JTA 19,400 69% 7,200 12,200
IR FFm) =/ MR ARGFTR) % JAL JAL 21,800 61% 422,600, H:23,400 13,200 [%::13,700. H:14,100 8,600 |£:8,900, H:9,300
AN FE JAL JAL 23,400 58% |4 1:24,000, H:21,800 9,300 :9,500, H:8,600 14,100 |% +:14,500, H:13,200
AR FFr) =L ARGFTR % JAL JAL 22,800 64% |%::24,000, H:24,400 12,000 2,600, H:12,900 10,800 [%:11,400. H:11,500
] L1 5 JAL JAL 23,600 63% | %:26,200, 1:24,400, H:22,700 11,200 400, +:11,500, H:10,700 | 12,400 [%:13,800, £:12,900, H:12,000
IR EF T =LB[ARFTR % JAL JAL 23,600 63% 424,400, H:25,500 12,300 2,700, H:13,300 11,300 [4:11,700. H:12,200
INEES JAL JAL 25,500 60% | +:25100, H:25,200 12,200 2,000, H:12,100 13,300
AR FFR) =ILOFH | AL F TR % JAL JAL 25,200 63% | +:23,600, H:26,800 12,400 1,600, H:13,200 12,800 | £:12,000. H:13,600
WA FEF JAL JAL 25,200 63% 427,400, 1:26,000 12,800 3,900, 1:13,200 12,400 [%::13,500, 1:12,800
IR FFm) =HELRFGTR R JAL JAL 25,700 60% |4:27,300, H:27,400 13,300 4,100 12,400 [4:13,200. H:13,300
| HEFE | JAL JAL 24,800 62% | £:27,400, 1:26,000, H:24,700 12,000 [£:13,300, 1:12,600 12,800 [£:14,100, +:13,400. H:12,700
AL G F %) =ES AR TR % JAL JAL 26,300 58% | H:29,500 14,000 |H:15,700 12,300 | H:13,800
BEH JAL JAL 28,700 54% |%::30,700, H:27,100 13,400 [%::14,400. H:12,700 15,300 |4:16,300, H:14,400
IR F T = [ARGFTR % JAL JAL 24,800 61% 425600, H:26,800 13,200 3,600, H:14,300 11,600 |4:12,000, H:12,500
EIFE JAL JAL 24,400 61% |4:26,800, 1:26,000 11,400 2,500, 1:12,200 13,000 |4:14,300, 1:13,800
IR F T =2 ARFTR % JAL JAL 24,400 62% | %:25,200. H:26,000 12,600 3,000, H:13,400 11,800 [4::12,200, H:12,600
= JAL JAL 25,200 61% | %:28,200, 1:26,800 12,200 3,600, 1:13,000 13,000 [%:14,600, £:13,800
AR FFm) =L ARGFTR % JAL JAL 25,200 61% 426,800, H:27,300 12,900 3,700, H:14,000 12,300 [%:13,100. H:13,300
1 NIIE. S JAL JAL 27,300 58% |%:28,300, 1:27,600, H:26,000 13,300 |£:13,800, 1:13,500, H:12,700 | 14,000 |£:14,500. £:14,100, H:13,300
AR FF ) =AM AR FFR) % JAL JAL 25,800 63% |4 H:26,600 12,300 |4 H:12,700 13,500 |4 H:13,900
A FE JAL JAL 27,400 61% |#:29,100, +:28,200, H:26,600 14,300 5,200, +:14,700, H:13,900 | 13,100 |#:13,900, 1:13,500, B:12,700
IR FFm) =KD [ARFTR % JAL JAL 26,000 62% 124,400, H:27,600 12,600 1,800, H:13,400 13,400 [1:12,600. H:14,200
ADH JAL JAL 28,300 59% |+ H:26,800 14,600 |+ H:13,800 13,700 |+ H:13,000
AL G F %) = RIG | ALIR BTl % JAL JAL 26,000 64% | H:26,800 12,000 | H:12,400 14,000 | H:14,400
RIGH JAL JAL 27,800 62% 430,100, £ H:26,800 14,900 |%::16,200, 1 H:14,400 12,900 [%::13,900. 1+ H:12,400
AL G F %) =RA[ AR FHFR) % JAL JAL 26,000 63% 12,400 13,600
REAR JAL JAL 26,800 62% 427,800, £:27,600, H:26,000 14,000 |£:14,500, +:14,400, H:13,600 | 12,800 |%:13,300, £:13,200, H:12,400
IR F T =SB ARFTR % JAL JAL 24,400 65% |4:26,800, H:27,600 11,600 2,800, H:13,200 12,800 |4
EGE JAL JAL 27,800 60% |+ H:26,800 14,500 :14,000 13,300 |1
ARFFR) =ERB[ARFTR E JAL JAL 26,000 64% | H:27,600 12,000 | H:12,800 14,000 | H:14,800
BRER JAL JAL 26,000 64% 427,400, 1:26,800 14,000 [%:14,700, £:14,400 12,000 [%:12,700, £:12,400
AL (HT T %) = /4 (IBER) | ALOR BT F i) 36 JAL |JAL/JTA| 27,000 64% |%:29,600, £:29,000, H:26,600 12,200 |#£:13,300, £:13,100, H:12,000 | 14,800 |£:16,300, +:15,900, H:14,600
JAL _|[JAL/JTA| 25,800 66% |4 1:27,400, H:26,600 14,100 |4 +:15,000, H:14,600 11,700 % +:12,400, H:12,000
AEE(PE)| JAL JTA 22,600 70% | % +:23,400 11,100 :11,500 11,500 |4
[ JAL JTA 24,300 69% 425100, H:25,800 15,800 6,300, H:16,800 8,500 |4
SR8 (FRFR) 5[ (FH) [JAL/JTA]  JAL 27,000 64% |4 H:29,100 14,800 :16,000 12,200 | &
KBR (B878) [JAL/JTA|  JAL 27,400 64% | H:29,000 12,400 [H:13,100 15,000 | H:15,900
AEE(PE)| JTA JAL 25,100 67% 425900, H:28,300 12,800 [%:13,200, H:14,400 12,300 [%:12,700. H:13,900
[ JTA JAL 25,900 67% | 1:26,700 9,100 [£+£:9,300 16,800 % +:17,400
& = % Al EEF  [EECHHE)| JAL JAL 26,800 66% | A1:27,600, £:29.200, H:28.400 | 12,600 |A+:13,000, %:13,800, H:13400 | 14,200 |A&:14,600, &:15,400, H:15,000
AIRFFR) | JAL JAL 25,700 65% 18,100 7,600
ZiERR [RERCHE)| JAL JAL 26,000 67% |4 1:30,000, H:29,200 13,700 |4 +:15,800, H:15,400 12,300 |4 +:14,200, H:13,800
HEGEFE | JAL JAL 25,700 65% | H:26,400 7,600 [H:7,800 18,100 | H:18,600
1= =heJI FEEES JAL JAL 25,000 67% % 1:28.800, H:26,200 12,000 |4 +:13,900, H:12,600 13,000 |4 +:14,900, H:13,600
HBJII5E JAL JAL 25,600 66% | AT:27,200, £:29,600, H:30,600 | 13,300 |A:14,100, £:15,300, B:15900 | 12,300 [A£:13,100, %:14,300, H:14,700
12 = B [ JAL JAL 25,000 67% | A:25800, £ H:26,800, T:24.400 | 12,100 |4:12,500, % H:13,000, £:11,800 | 12,900 |7:13,300, % H:13,800, £:12,600
SR JAL JAL 25,000 67% |7K:25,800, £ 1:26,800, H:30,000 | 12,900 |*:13,300, $:+:13,800, H:15400 | 12,100 |A:12,500. $:+:13,000, H:14,600
&R ="5I5 2] JAL JAL 27,600 63% | A#£:28,400, 426,800 13,500 | A%:13,900, £:13,100 14,100 | A%:14,500, £:13,700
IR FE JAL JAL 26,000 65% | A H:27,600, :30,800 13,300 [ A H:14,100, £ £:15,700 | 12,700 [ A H:13,500, % +:15,100
[T BEFE |[RFCHE| JAL JAL 25,100 63% 428,300, :t 27 300 13,500 5,300, 1:14,700 11,600 |%:13,000, £:12,600
BEER |[RECHE)| JAL JAL 25,300 63% |4 1:26,900, H:29,100 11,700 :12,400, H:13,400 13,600 |4 +:14,500, H:15,700
BE=FH EEF  [REECHHE)| JAL JAL 27,400 59% |£:30,600, +:25.800, H:28,800 15,100 |£:16,800, +:14,200, B:15,800 | 12,300 |%:13,800, %:11,600, H:13,000
KBR (RFH|  JAL JAL 29,800 49% 11,100 18,700
EHRFE [RERGH)| JAL JAL 27,400 59% | H:28,200, £:28,800 12,300 | A H:12,700, £:13,000 15,100 | A H:15,500, £:15,800
ARRRFD[  JAL JAL 28,200 52% |4 H:31,000 17,700 (& RB: 10,500 (£ H:1
mE==iR R CHED | JAL JAL 25,000 62% |4 H:26,600 13,900 14, 11,100 (& H:11,
HRCHE [ JAL JAL 25,000 62% | A+ H:26,600, £:27,400 11,100 [A+ H:11,900, %:12,200 | 13,900 [ A+ H:14,700. £:15,200
1B =1 KBR (RFH)|  JAL JAL 26,600 53% 10,200 16,400
KBR (RFH]|  JAL JAL 26,600 53% |4 H:27,800 16,400 (% H:17,100 10,200 |4 H:10,700




-
6A1B~9AIFE# 5|28 JEE X JA/JTA/JAC/RAC
[ = =
R FHBO 6/1-6/0 | BHA e Ea Ea
SRR @ ®
&R =FE EEFE  [RFECHHE) 23,300 62% |£:25,700, +:22,500, H:24,700 13,900 [#:15,400, +:13,500, B:14,800 | 9,400 |%:10,300, £:9,000, H:9,900
MEFX [RRH) 24,100 61% | A% +:24,900. H:22,500 9,700 [A % £:10,000. H:9,000 | 14,400 [ A% +:14,900, H:13,500
KB (R F}) 28,200 49% £ H:31,000 17,000 |4 H:18,600 11,200 (£ H:
&R =L wEH [ER(HH) 23,400 57% |4 H:25,000, 1:22,600 15,600 :16,700, £:15,100 7,800 |4
KB (R F}) 26,600 51% | H:25000 10,800 | H:10,200 15,800 | H:14,800
W% [RECHEA) 23,400 57% | % 1:25,000 7,800 % 1:8,300 15,600 |4 +:16,700
KB (R F}) 26,600 51% |4 H:27,800, :25,000 15,800 |4 H:16,500, 1:14,800 10,800 |4 H:11,300, £:10,200
1BRE=%8 fEEFE [ KR (FF) 19,400 62% 8,300 11,100
i KB (R F}) 20,200 60% |4 H:21,400 11,500 |4 H:12,200 8,700 £ H:9,
&R =Mk fEEFE  [RFECHHE) 23,200 60% |£:24,800, +:22,800, H:24,000 14,500 | #:15,500, +:14,300, B:15000 | 8,700 |%:9,300, 1:8,500, H:9,000
RFE R (CHE) 23,200 60% | A:24,000, £:24,500 8,700 |A:9,000. £:9,200 14,500 | A:15,000, £:15,300
BE==5 [ P8 (IRE) 17,200 62% 10,500 6,700
2o |[MEEER) 17,300 62% |4 H:18,900 6,700 | H:7,300 10,600 |4 H:11,600
B =h18 12 F PR (IRE) 18,400 64% 419,400, H:20,400 10,000 |£:10,600, H:11,100 8,400 |%:8,800. H:9.300
RiEH |48 G5) 18,400 64% 8,400 10,000
Ziwhl =& iR S [HLIREF TR 23,900 52% 10,300 13,600
(=3 *Lrﬁ(*’rﬁt) 23,900 52% 13,600 10,300
ESTENIN A i 23,400 63% | % 1:25200. H:26.600 15,300 |4 +:16,400, H:17,400 8,100 £ +:8,800. H:9,200
23,400 63% % 1:25000, H:24,100 8,100 ,700, H:8,400 15,300 |4 +:16,300, H:15,700
2 B =L 24,400 66% | %:25,600, H:26,800 14,100 [%:14,800. H:15,500 10,300 [4::10,800. H:11,300
24,300 66% | H:25900 10,300 | H:10,900 14,000 | H:15,000
TBII=11vi 23,000 63% 423,800, H:27,600 14,800 |%:15,300, H:17,800 8,200 |£:8500, H:9,800
23,000 63% % 1:26,000, H:22,900 8,200 9,300 14,800 |4 +:16,700, H:14,700
JETTE AT 24,000 66% | 2:25200, H:28,600 13,600 4,300, H:16,200 10,400 |%: 10 900, H:12,400
23,900 66% |4 1:27,200 10,300 11,800 13,600 |&
FIEEEINA 21,800 64% 422,400, £:22,000, H:26,600 13,900 ,300, 14,100, H:17,000 | 7,900 |
21,600 64% |4 +:21,800, H:22,500 7,800 [#+:7,900, H:8,100 13,800 (& +:1
g ="F1L 22,600 67% |£:23,800, +:22,800, H:26,800 12,700 |£:13,400, +:12,900, B:15,100 | 9,900 |£:10,400, H:11,700
23,300 66% |2 1:23500, H:24,300 10,200 |4 +:10,300, H:10,600 13,100 |4 3,200, H:13,700
HIR=MA 23,400 61% % 1:26,000, H:24,200 14,900 |4 +:16,600, H:15,400 8,500 £ +:9,400, H:8,800
23,400 61% | H:23,300 8,500 14,900 | H:14,800
L =FEW 24,400 64% % 1:26,800 13,700 |4 £:15,000 10,700 |4 +:11,800
24,300 65% | H:25,100 10,700 13,600 | H:14,100
EEIRA 22,500 58% 423,300, H:26,300 13,300 :15,500 9,200 [£:9,600, H:10,800
22,500 58% |4 1:24,000, H:21,700 9,200 . B:8,900 13,300 [%+:14,100, H:12,800
=ML 23,500 62% |%:24,700, H:26,700 12,000 :13,600 11,500 [4:12,100, H:13,100
23,400 62% % 1:26,200 11,500 11,900 |4 +:13,400
EEE=db A 25,900 62% 426,500, H:28,900 11,900 14,000 |£:14,300, H:15,600
EZES 24,400 64% |4 H:25,200 13,100 , 11,300 % H:11,600
HE=X% EEE R 26,700 60% |+:25,300, H:29,900 12,500 1900, H:14,000 14,200 | +:13,400. H:15,900
Ao % 26,700 60% |%:29,900, £:29,800, H:25,100 14,200 | £:15,900. 115,800, H:13,300 | 12,500 14,000, H:11,800
HE=RIE AR R 26,900 62% |H:29,100 12,000 14,900 6,100
RIG% 24,700 65% |4 1:27,900 13,700 11,000 12,500
EEE=RX ENER R 26,100 62% | A% +:26,900, H:29,100 12,000 14,100 +:14,500, B:15,700
REAHE 24,700 64% |4 +:27,800 13,300 11,400 |4 ,800
HE==IK EER R 24,900 63% |%:27,500, H:29,900 11,500 13,400 |£:14,800, H:16,100
HIFS 25,900 62% |4 +:27,800 14,000 11,900 % +:12,800
HE=ERS EREE 3 26,900 62% | H:29,900 12,000 14,900 | H:16,500
BRER 26,700 62% |4 +:28,300 14,800 ﬁils 700 11,900 [ +:12,600
BH=/MR EHRR 25,100 52% 14,500 10,600
AN FE 24,000 54% |4 H:25,100 10,100 |4 H:10,600 13,900 |4 H:14,500
EH=ML EHRR 25,000 58% 426,800, 1:23,400 12,500 |4:13,400, +:11,700 12,500 |4:13,400, £:11,700
[iE] LLI 58 24,900 59% | H:25,700 12,400 | H:12,800 12,500 | H:12,900
BEHR=L5 EHR 25,800 58% | %:28,200, £:25,000. H:26.600 12,800 |£:13,900, +:12,400, B:13,100 | 13,000 |%:14,300, %:12,600, H:13,500
| LE% 26,600 56% |5%:28,800. 5,000, H:27,000 13,500 |#£:14,600, +:12,600, H:13,700 | 13,100 |£:14,200, +:12,400, H:13,300
BEH=WLOFH EHRR 27,400 58% |4:28,800, £:25,000 12,700 |4:13,400, £:11,600 14,700 |£:15,400, 1:13,400
I=EZE3 BE 27,400 58% | H:28,200 14,700 [H:15,100 12,700 [H:13,100
BEHR=HE EHRE (RE(BH) 25,900 58% 12,700 13,200
Mﬁ(ﬁiﬂ) 28,200 50% 18,500 9,700
HE 26,900 56% 13,700 13,200
28,200 50% | +:27,400, H:28,300 9,700 [+:9,400 18,500 [+:18,000, H:18,600
ER=ES EHR 28,500 52% |4 H:30,100, £:27,700 14,400 |4 H:15,200, 1:14,000 14,100 [ H:14,900, £:13,700
BER 28,500 52% 14,100 14,400
EHx=mk EHRR 27,000 55% | £:28,300, +:25,800, H:27,800 13,600 |£:14,300, +:13,000, H:14,000 | 13,400 |%:14,000, +:12,800, H:13,800
EIFE 26,600 55% 13,200 13,400
AR==4 EHRR 26,600 57% |£:28,800, +:25,000, H:27,400 13,000 |£:14,100, +:12,200, B:13,400 | 13,600 |&:14,700, +:12,800, H:14,000
EHFE 26,600 57% |4 H:27,400 13,600 13,000 |4 H:13,400
BEH=L EHRR 27,400 56% |4:29,000, £:25,800 13,300 14,100 |£:14,900, 1:13,300
[NTIES 27,400 56% |4 H:28,800 14,100 13,300 (£ H:
BRa=dtam EHRR 28,000 58% |4::30,400, 1:26,400 12,600 15,400 |4
EZES 28,000 58% |4 H:28,800 15,400 12,600 |4
BEHR=X% EHRR 28,200 57% |£:29,800, 1:27,000 12,900 3,700, +:12,400 15,300 |4
PN 28,200 57% |+ 15,300 5,100 12,900
EHR=RIK EHR 27,400 60% 12,000 2,700 15,400
29,300 53% |t 17,200 | £:17,700 12,100
KI5 28,200 59% 15,900 12,300
27,400 56% |4 1:27,800, H:29,400 11,300 % +:11,400, H:12,100 16,100 |4 +:16,400, H:17,300
BEHR=EX EHRR 27,400 59%  |£:29,000 12,300 [£:13,100 15,100 [£:15,900
REAR 28,200 58% 15,500 12,700
29,300 51% | H:31,700 11,400 | H:12,400 17,900 | H:19,300
BEHR=EK EHR 26,200 61% |£:27,800, +:25400, H:28,200 11,800 |£:12,500, +:11,400, B:12,700 | 14,400 |%:15,300, %:14,000, H:15,500
29,800 50% | H:31,400 18,200 [ H:19,100 11,600 | H:12,300
EHEES 26,200 61% | H:27,400 14,400 [H:15,100 11,800 | H:12,300
29,400 51% | H:31,000 11,500 [ H:12,100 17,900 | H:18,900
ER=ERS 27,400 60% 429,300, H:28,200 12,000 |£:12,800. H:12,300 15,400 |£:16,500, H:15,900
29,000 54% |4 H:29,400 16,800 |4 H:17,000 12,200 |4 H:12,400
27,400 60% | H:28,200 15,400 | H:15,900 12,000 | H:12,300
28,600 55% | +:29,800, H:31,400 12,100 [+:12,600, H:13,300 16,500 |+:17,200. H:18,100
ZIR=/ 22,400 56% |4 H:23,200 12,900 |4 H:13,300 9,500 |4 H:9,900
21,600 58% | H:22,300 9,200 |H:9,500 12,400 | H:12,800
ZR=FW 23,400 61% 424,600 11,600 |%:12,200 11,800 |%:12,400
FRCRA) 23,300 61% | H:24,100 11,800 | H:12,200 11,500 | H:11,900
ZR=L5 RECHH) 24,200 60% |4 H:25,000 11,800 |4 H:12,200 12,400 |4 H:12,800
R P 22,800 62% 11,600 11,200
ZR=WAFE 25,800 60% | +:24,200 11,900 [£:11,100 13,900 [+:13,100
25,800 60% | H:26,600 13,900 | H:14,400 11,900 | H:12,200
R=HZE 26,300 57% |4 H:27,900 12,700 |4 H:13,500 13,600 |4 H:14,400
24,600 60% | 1:26,200 12,700 |4 +:13,500 11,900 (£ +:12,700
ZR=15 BE 26,900 54% | H:28,500 13,500 | H:14,300 13,400 | H:14,200
FIRCRMA) 26,100 56% 13,000 13,100




6A1B~9AIFE# 5|28 JEE X JA/JTA/JAC/RAC
[ = =
R FHBO 6/1-6/0 | BHA e Ea Ea
SRR @ ®
ZiR=@" 25,400 57% |4 H:26,200 12,700 |4 H:13,100 12,700 |4 H:13,100
23,800 60% 11,900 11,900
ZR==H 25,000 59% 12,100 12,900
23,400 62% |4 +:24,200 12,100 [%+:12,500 11,300 (£ +:11,700
ZIR=#l 25,800 58% |4 H:27,400 12,400 |4 H:13,200 13,400 |4 H:14,200
25,000 59% 13,000 12,000
ZR=dc M 25,600 61% |%:26,400 11,400 [%::11,800 14,200 |%:14,600
25,600 61% 14,200 11,400
R=K% 26,600 59% | +:25000 12,100 [£:11,300 14,500 [+:13,700
26,600 59% 14,500 12,100
ZR=FI& 26,600 61% 11,500 15,100
26,600 61% 15,100 11,500
SR=8EX 25,800 61% | A% 1:26,600 11,500 [A=£+:11,900 14,300 | K£1:14,700
24,600 63% 13,600 11,000
R=215 24,600 63% |%:27,400, H:26,600 11,000 [4:12,200. H:11,900 13,600 |4:15,200, H:14,700
24,600 63% | H:25800 13,600 | H:14,300 11,000 |H:11,500
ZR=EBRS 26,600 61% 11,500 15,100
BRER 26,600 61% 15,100 11,500
A=/ FhEF 20,100 57% 10,600 9,500
AN FE 19,900 57% |%:20,700, H:21,400 9,400 [£:9,700, H:10,100 10,500 [4:11,000. H:11,300
FE=MRL FhEF 20,900 62% 9,400 11,500
[iE] LLI 58 21,600 61% |%:22,400, H:23,200 11,900 [4::12,300. H:12,800 9,700 [£:10,100, H:10,400
ME=L8 FUEAF 22,500 59% |H:21,100 10,000 | H:9,400 12,500 [ H:11,700
LE5% 21,700 61% |%:24,100, H:22,900 12,100 |%:13,400. H:12,700 9,600 [£:10,700, H:10,200
ME=LOFEH PEES 22,500 62% 9,300 13,200
WAFE% |RR(HH) 24,100 59% |%::24,900, H:24,700 14,100 [%::14,600, H:14,400 10,000 |4 H:10,300
ME=HE MERE ([RRH) 23,400 58% 10,300 13,100
KB (R F}) 25,100 52% 15,900 9,200
HER |RECHH) 20,500 63% % +:22,100 11,500 [ +:12,400 9,000 |$+:9,700
KB (R F}) 25,100 52% 9,200 15,900
ME=ES FEFE [RFECHH) 24,400 55% |4 1:25100 11,100 [ £ £:11,400 13,300 [
mER ¥ 24,400 55% | < H:25,100 13,300 :13,700 11,100 |4
ME=Fh FUEAF 22,100 59% |4 +:22,500 10,000 0,200 12,100 |4
B 22,100 50% |4::22,900, H:22,700 12,100 2,500, H:12,400 10,000 |4
MHE=8 FUEAF 20,100 64% < H:20,900 8,800 :9,200 11,300 |
EHFE 23,300 58% |%:24,700, H:23,700 13,100 3,800, H:13,300 10,200 |4
FE=#L RS 21,700 62% < H:22,500 9,400 ,800 12,300 |4
[NITES 23,300 59% |& H:24,100 13,200 |4 H:13,600 10,100 |4 H:10,500
=L S P 23,900 61% 9,600 14,300
E&ES ERLE:D) 24,700 60% |4 H:26,300 14,800 |4 H:15,700 9,900 [£ H:10,600
ME=X% ERE |[RR(HH) 23,300 61% 9,500 13,800
A% |[EE(HH) 24,900 59% |4 H:25,700, 1:24,500 14,700 |4 H:15,200, £:14,500 10,200 |4 H:10,500, £:10,000
KB (R F}) 29,100 44% 10,700 18,400
ME=RIK MERE [(RRH) 24,900 61% 9,600 15,300
KB (R F}) 29,300 50% | +:30,100 16,500 | +:16,900 12,800 |4
RIEFE [ERECHH) 24,900 61% |% H:25200 15,300 :15,400 9,600 |£H:9,
KB (R F}) 29,000 51% 429,400, £:29,800 12,700 [4:12,900. £:13,000 16,300 |%:16,500, 1:16,800
ME=FX MERE [(RRH) 24,900 59% 10,000 14,900
KB (R F}) 29,300 48% 17,100 12,200
A [ERZECHH) 22,900 63% | < H:23,700 13,700 |4 H:14,200 9,200 |% H:9,500
KB (R F}) 29,300 48% | #::30,700. H:30,100 12,200 |4::12,800. H:12,500 17,100 [4:17,900. H:17,600
ME==I MERE ([RRHH) 22,900 63% 9,200 13,700
KB (R F}) 29,800 47% £ H:30,700 17,400 12,400 [# H:12,800
BEF [RE(HH) 22,900 63% 423,700, H:24,900 13,700 9,200 [£:9,500, H:10,000
KB (R F}) 29,400 48% % +:29,800 12,200 17,200 |4 +:17,400
MHE=ERS MERE ([RRHH) 24,900 61% 9,600 15,300
KB (R F}) 29,000 52% |4 H:29,400 16,000 |4 H:16,200 13,000 |4 H:13,200
ERGE%X [RZE(RH) 23,300 63% 424,100, H:25,700 14,300 4,800, H:15,700 9,000 [£:9,300, H:10,000
KB (R F}) 28,600 52% |%::30,200, £ H:29,800 12,800 3,500, £ H:13,400 15,800 |4:16,700, 1 H:16,400
IE2NA W% |RRCHH) 20,200 50% 9,200 11,000
CP 20,000 50% | H:20,700 10,900 [H:11,300 9,100 |H:9,400
Wit =Ha Ll 21,000 57% 7,900 13,100
21,700 55% | H:22,500 13,500 | H:14,000 8,200 |H:8,500
W =I58 22,600 54% | H:21,200 8,400 | H:7,900 14,200 | H:13,300
21,200 57% 13,300 7,900
Wiz =LAFER 22,600 57% 7,800 14,800
24,200 54% | H:25000 15,900 | H:16,400 8,300 | H:8,600
IWi=HZE 22,700 54% 8,300 14,400
26,600 48% | H:25,000 16,600 | H:15,600 10,000 | H:9,400
22,700 54% 14,400 8,300
23,400 54% |4 H:24,200 8,800 £ H:9,100 14,600 |4 H:15,100
Wk =#5 23,700 50% 9,000 14,700
24,500 49% 15,200 9,300
== 22,200 53% 8,500 13,700
22,200 53% 13,700 8,500
Wi ==%0 21,800 56% 8,000 13,800
Wi =1l 21,800 56% 7,900 13,900
23,400 53% 14,900 8,500
Wiz =4t 24,000 56% 8,000 16,000
Wik =X%5 23,400 57% 7,900 15,500
25,000 54% | 1:24,600 16,500 |+:16,300 8,500 |+:8,300
Wi =Ri& 25,000 56% 8,000 17,000
25,800 55% |4 1:26,200. H:24,600 14,300 |4 +:14,500, H:13,600 11,500 [%+:11,700, H:11,000
RIBE [RECHH) 25,000 56% 17,000 8,000
Wi =geX W% |[mRECHBA) 23,000 58% 7,600 15,400
KB (A1) 27,300 51% |4 H:28,900, :25,700 15,700 |4 H:16,600, 1:14,800 11,600 |4 H:12,300, £:10,900
A [EZECHH) 23,000 58% 15,400 7,600
KB (A1) 27,700 50% |%::28,500, H:29,100 11,700 [4::12,100. H:12,300 16,000 |4:16,400. H:16,800
Wi ==18 W% |[mECHR) 23,000 58% 7,600 15,400
KB (R F}) 28,200 49% £ H:29,100 16,200 |4 H:16,800 12,000 |4 H:12,300
EEH | RECHH) 23,000 58% | H:24,200 15,400 | H:16,200 7,600 | H:8,000
KB (R F}) 27,800 50% |4 H:28,600 11,800 |£ H:12,100 16,000 |4 H:16,500
W=ERS W% |[mECHR) 23,400 59% 7,500 15,900
KB (A1) 27,400 53% |%:27,800, H:26,200 14,900 [4:15,100. H:14,200 12,500 [4:12,700. H:12,000
BERSH |[RZE(CHHA) 23,400 59% | H:25,000 15,900 | H:17,000 7,500 | H:8,000
pNAC =) 27,000 54% |£:27,800, +:28,200, H:29,000 12,300 [#:12,700, +:12,900, B:13,200 [ 14,700 [£:15,100, +:15,300, B:15,800
E=HZE (= pNACGEE)) 21,800 56% 13,400 8,400
HE KPR (B FH) 19,800 60% & +:21,800 7,600 | +:8,400 12,200 |4 +:13,400
E=xX% (= KPR (B FH) 20,600 59% |% H:22,200, +:21,400 12,700 3,600, +:13,200 7,900 |£ H:8,600, 1:8,200
Ao% | KREFFD 22,200 56% |4 1:23,800, H:24,600 8,600 |£+:9,200, H:9,500 13,600 [ +:14,600, H:15,100




6A1E~9BIF#E 528 EER

JA/JTA/JAC/RAC

[ = =
=R 0] 6/1-6/9 BHH fE ERA ERA
RED | REQ - (O] @
e =Rz hEFK [ KERUEFFD| JAL JAL 19,400 66% | < H:21,400, 1:20,600 10,600 [€ H:11,700, £:11,200 8,800 |£ H:9,700, £:9,400
EIG% | XRUFFD| JAL JAL 21,000 63% |%:23,400, 1:24,200, H:22,200 9,600 |£:10,600, +:11,000, B:10,100 | 11,400 |£:12,800, +£:13,200, H:12,100
s ==X EFK [ KERUFFD| JAL JAL 22,900 58% | < H:24,900 13,000 [€ H:14,100 9,900 |%
A | KRUEFFD| JAL JAL 23,700 56% 425,300, H:25,700 10,300 0,900, H:11,100 13,400 |4
E== EFK [ KERUEFFD| JAL JAL 24,200 55% | £:26,200, +:25400, H:25,800 13,700 ,900. £:14,400, H:14,600 | 10,500 |:11,300, +:11,000, B:11,200
=% | RBERUFFD|  JAL JAL 23,800 56% |4 H:25800, 1:24,200 10,300 |4 H:11,200, £:10,500 13,500 |4 H:14,600, £:13,700
WE=ERS Es [ RERAEFFD| JAL JAC 23,400 59% 12,500 10,900
ARUFFD | JAC JAL 23,400 59% |%:26,200, 1:24,200, H:24,800 10,900 |#:12,200, +:11,300, B:11,500 | 12,500 |#:14,000, +:12,900, H:13,300
FR=HE KBR (RFH) | JAL JAC 21,000 56% 12,600 8,400
KB (RFH)| JAC JAL 18,800 61% 7,500 11,300
FR=X% RBR (RFH | JAL JAL 19,800 59% 11,900 7,900
KBR (RFH | JAL JAL 20,600 57% 8,200 12,400
FiR=RIK AR (R | JAL JAL 22,100 60% |+:22,900 11,700 10,400 |1
RBR (RFH) | JAL JAL 20,200 63% |4 H:20,600, +:21,000 9,500 10,700
FiR=REX ABR(RF) | JAL JAL 22,100 58% | & H:22,500 12,200 9,900 ,
RBR (RFH) | JAL JAL 22,100 58% | H:22,900 9,900 12,200 | H:12,600
FR== RBR (RFH) | JAL JAL 23,400 55% |4 +:24,600 12,900 10,500 |4 +:11,000
JAL JAL 23,400 55% |4 H:24,200 10,500 12,900 [&
FR=ERS JAL JAC 22,600 59% | % +:23,400 11,700 10,900 |4
JAC JAL 21,400 62% |+ H:22,600 10,300 |1 11,100 [+
My =FE L JAL JAL 19,200 63% | H:19,100 8,100 11,100
JAL JAL 21,200 59% |%:22,000 12,300 | 8,900 [£:9,300
IMNA=TRE JAL JAL 22,000 58% 424,000, H:22,400 9,100 [£:10,000, H:9,300 12,900 [%:14,000, H:13,100
JAL JAL 21,600 59% |4::23,000, £:21,400, H:22,400 12,600 |£:13,400, +:12,500, B:13,100 | 9,000 |£:9,600, 1:8,900, H:9,300
MR=I1LOFER JAL JAL 20,800 63% | H:21,500 8,100 12,700 | H:13,200
JAL JAL 22,800 60% | %:23,200. H:24,000 14,000 [%:14,200, H:14,700 8,800 [£:9,000, H:9,300
IMA=HE JAL JAL 21,700 59% | H:20,900 8,900 |H:8,600 12,800 |H:12,300
JAL JAL 22,400 58% |4 H:22,700 13,200 |4 H:13,400 9,200 [ H:9,300
INA=1EE JAL JAL 23,500 54% |4 H:25,900 10,000 |4 H:11,000 13,500 |4 H:14,900
JAL JAL 25,500 50% 14,600 10,900
IMNR=F JAL JAL 22,000 57% |% H:23,200 9,400 9,900 12,600 |
JAL JAL 22,000 57% % 1:22,800, H:22,400 12,600 3,100, H:12,900 9,400 |4
INR=F JAL JAL 20,000 62% |4 +:21,600, H:20,700 8,200 900, H:8,500 11,800 |4
JAL JAL 22,800 57% |4 +:23,600, H:23,200 13,400 3,900, H:13,700 9,400 |4
INR=HL JAL JAL 21,600 60% | £:23,200, H:23,900 8,800 [£:9,400, H:9,700 12,800 |4
JAL JAL 24,400 55% | H:22,800 14,500 | H:13,500 9,900 [H:9,300
MR =FE T JAL JAL 23,000 61% |%:26,200, H:23,800 8,600 ,800, H:8,900 14,400 |4
JAL JAL 23,000 61% |4 H:24,600 14,400 8,600 |4
INR=K5 JAL JAL 22,800 60% | 1:23,200. H:23,100 8,700 14,100 |4
JAL JAL 23,600 59% |4 H:24,000 14,600 | & 9,000 (£ H:9,100
M= RIG JAL JAL 23,200 62% | H:22,400 8,400 |H:8,100 14,800 | H:14,300
JAL JAL 23,200 62% |4 H:24,000 14,800 |4 H:15,400 8,400 | H:8,600
INR=RER JAL JAL 23,200 60% | H:22,400 8,700 | H:8,400 14,500 | H:14,000
JAL JAL 23,200 60% |%:24,000 14,500 |%:15,000 8,700 [£:9,000
INR=TEIR JAL JAL 23,200 60% | H:22,400 8,700 | H:8,400 14,500 | H:14,000
HIES JAL JAL 23,200 60% |%:24,000 14,500 |%:15,000 8,700 [£:9,000
IME=ERS [/ EE JAL JAL 23,200 62% |H:23,100 8,400 | H:8,300 14,800
BRS% |BEECHHE)| JAL JAL 22,600 63% | H:24,000 14,500 | H:15,400 8,100 | H:8,600
BAH== EEF [T JAL JAC 24,800 43% |%:25,600, 1 H:24,400 13,500 4,000, + H:13,300 11,300 [£:11,600, + H:11,100
= JAC JAL 24,800 43% | £:25200, H:22,200 11,300 1,400, H:10,100 13,500 |4:13,800. H:12,100
EEXRE=5#H JAC JAC 16,600 38% |€H:17,100 10,400 :10,700 6,200 |%
JAC JAC 16,600 38% | +:17,100 6,200 400 10,400 |1
EERE="KRE JAC JAC 15,500 48% 10,300 5,200
JAC JAC 15,500 48% 5,200 10,300
R (MH) =F JAL/JTA| JAL 29,200 59% |4 H:30,600 16,800 |4 H:17,600 12,400 |4 H:13,000
JAL _|JAL/JTA| 28,400 60% 431,100, £:30,500 12,100 [%:13,200, £:12,900 16,300 |%:17,900, £:17,600
R (A ==iR JAL/JTA| JAL 27,600 61% | H:30,800 16,000 | H:17,900 11,600 | H:12,900
JAL _|[JAL/JTA| 26,400 62% |%::30,400 11,100 |%:12,800 15,300 |%:17,600
s GRE) =% |4 R CHEA) [JAL/JTA]  JAL 25,900 60% < H:26,500 16,200 |4 H:16,500 9,700 | H:10,000
RRCHE)|[ JAL [JAL/JTA| 24,700 62% 9,300 15,400
s (GRE) =R |4 R CHEA) [JAL/JTA]  JAL 26,000 56% | H:29,200 18,000 | H:20,200 8,000 |H:9,000
W% [RER(GEE)| JAL [JAL/JTA| 24,000 59% | %:24,400 7,400 [%:7,500 16,600 |%:16,900
PR RE) =WlE PGB R  EE JTA JAL 26,500 63% |&+:27,300 10,300 |4 +:10,600 16,200 | +:16,700
=3 [l JAL JTA 26,500 63% 16,200 10,300
PR (BRER) =/ |48 IRER) 5| B CRIE) [JAL/JTA[  JAL 24,200 61% | 4:25000, H:26,600 15,700 |4:16,300. H:17,300 8,500 |%:8,700. H:9.300
MAFE RFERCHE)| JAL [JAL/JTA| 24,200 61% |£:26,800, +:26,200, H:23,800 8,500 1400, £:9,200, H:8,300] 15,700 |%:17,400. £:17,000, H:15,500
RS == PGB R EE JTA JAL 24,600 52% | +:24,700 13,200 :13,300 11,400
EENFE 1= JAL JTA 24,600 52% |4+ H:24,700 11,400 13,200 [% 1 H:13,300
SRR (RE) =L PEGRE) | EE JTA JAC 24,600 49%  |%:25400, 1:24,800, H:23,400 14,000 |£:14,500, +:14,100, B:13,300 | 10,600 |%:10,900, +:10,700, H:10,100
ALLF 1= E JAC JTA 24,600 49% £ H:25,400 10,600 14,000 |4
R (HE) =&ZXE|RRCHE)%| BERE JAL JAC 27,700 55% |4 +:28,300 17,400 10,300 |4 £:10,500
KRUFRFD[  JAL JAL 32,900 44% | A:33,800, % +:34,700 12,600 [A:13,000, £ +:13,300 20,300 [A:20,800, £ +:21,400
BEXER | ERE JAC JAL 27,800 55% | H:28,600 10,400 17,400 | H:17,900
KB (RFH | JAL JAL 32,000 45% | H:33,400 19,700 12,300 | H:12,800
RRCPAR) =ERS|RR(FE)%| BRE JAL JAC 30,800 51% &+ H:31,200 19,000 11,800 &+ H:12,000
EEXS | JAL JAC 34,200 39% 5,200, H:34,300 28,400 5800 £ +:6,000, H:5900
ERER BRS JAC JAL 30,300 52% |+ H:30,800 11,700 18,600 | &+ H:19,000
RRCPAR) =BzB8|RR(AE)%| BRE JAL JAC 31,700 52% 18,800 12,900
EEKRS | JAL JAC 36,500 39% 28,300 8,200 £ +:8,400
BeBER BERS JAC JAL 31,700 52% 12,900 18,800
EEKRS | JAC JAL 36,500 39% 8,200 | H:8,400 28,300 | £:28,500, H:29,200
R (CHE) =Kk RH$|RACHE #| BRS JAL JAC 33,900 50% 19,300 :19,600 14,600 |% + H:14,800
HAREE | BREE JAC JAL 33,400 51% 14,400 + H:14,700 19,000 |€+ H:19,300
wEXE | JAC JAL 38,700 39% 10,300 0,400, H:10,600 28,400 8,600, H:29,000
RRCHE) =55 B JAL JAC 32,100 54% 17,900 9,400, H:18,200 14,200 |4 +:15,500, H:14,500
Bim% BERE JAC JAL 32,500 54% 14,400 [ +:14,700, H:15,500 18,100 |4 ,400, H:19,400
EEKRS | JAC JAL 40,400 39% 440,700, H:41,600 12,100 | H:12,400 28,300 |£:28,600, H:29,200
KR (D =&ZXE|XRUFDH| BERS JAC JAC 25,900 48% |%:26,800, 1:26,300 13,900 4,400, £:14,100 12,000 [4:12,400, £:12,200
BEEAEX | BERE JAC JAC 25,800 48% | 1:26,800, H:27,300 11,900 2,400, H:12,600 13,900 4,400, H:14,700
AR (R =ERE|XR(FMM R _ERE JAC JAC 28,100 45% | € +:29,400, H:28,500 14,700 5,400, H:14,.900 13,400 |4 +:14,000, H:13,600
EEKRS | JAL JAC 28,800 37% |4 +:29,800, H:28,900 22,800 :23,600, H:22,900 6,000 |% 16,200
ERER BERS JAC JAC 28,500 44% % H:30,400, £:29,000 13,600 |4 H:14,500, £:13,800 14,900 |4 H:15,900, £:15,200
EEKRS | JAC JAL 28,800 37% % 1:28,900, H:29,800 6,000 | H:6,200 22,800 [% £:22,900, H:23,600
KR () =@z 8| KR (FD#E| BES JAC JAC 29,000 46% |€1:29,900 14,500 | +:15,000 14,500 | +:14,900
BeBER BRS JAC JAC 29,900 44%  |£:30,300, H:31,300 14,900 |£:15,100, H:15,600 15,000 |4:15,200, H:15,700
EEKRS | JAC JAL 31,100 37% |4 +:31,300, H:32,200 8,400 |H:8,700 22,700 [£ £:22,900, H:23,500
KIR () =ik RER | KBR (FFD | ERES JAC JAC 31,200 45% | % +:32,600. H:31,700 14,900 % +:15,500, H:15,100 16,300 |%+:17,100, H:16,600
MABREE | BRES JAC JAC 32,100 43%  |%:32,800, 1:32,600, H:34,000 16,800 |£:17,200, +:17,100, B:17,800 | 15,300 |%:15,600, +:15,500, H:16,200
KR () =5 [ ABR(B%| BERS JAC JAC 31,600 45% € +:33,100, H:32,200 14,700 |4 +:15,300, H:14,900 16,900 [ +:17,800, H:17,300
5im% BRS JAC JAC 32,500 44% % H:34,500, £:33,100 17,400 |4 H:18,500, :17,800 15,100 |4 H:16,000, £:15,300




6A1B~9AIFE# 5|28 JEE X JA/JTA/JAC/RAC
B S A= =
=40 mep® | SERH 6/1-6/9 fﬁ;t% = Ea Ea
=3 R - ) @
[ SEPNE] 12 E F BRS JAC JAC 22,400 46% |+ H:21,500 10,000 |+ H:9,600 12,400 |+ H:11,900
BEEAER | BERE JAC JAC 22,400 46% 12,400 10,000
BR=ER5 EES BERE JAC JAC 24,600 43% |%:25000, + H:24,100 10,700 [4::10,800. £ H:10,400 13,900 |%::14,200, £ H:13,700
EEKRS | JAC JAC 26,300 37% %+ H:26,400 20,300 [ £ H:20,400 6,000
ERER BERES JAC JAC 24,100 44% %+ H:24,600 13,700 |% 1 H:13,900 10,400 [% 1 H:10,700
BE=1E28 [EEES BERE JAC JAC 25,500 44% 10,400 15,100
EEKRS | JAC JAC 28,600 37% %+ H:28800 20,200 [ £ H:20,400 8,400
BeBER BERE JAC JAC 25,200 44% 14,900 10,300
EEKRS | JAC JAC 28,600 37% %+ H:28800 8,400 20,200 £ £ H:20,400
12 =k RAR [EEES BREE JAC JAC 27,700 42% |%:28,200, + H:27,800 10,700 [£:10,900, + H:10,800 17,000 [£:17,300
MKREE | BRE JAC JAC 27,200 43% |#&+ H:27,800 16,700 &+ H:17,000 10,500 |+ H:10,800
BERE | JUAC JAC 30,800 37% | +:31,100 10,600 [+:10,700 20,200 | £:20,400
wBE=5#H BEFE BRE JAC JAC 28,100 43% |%:28,700, + H:27,800 10,500 |4:10,800. £ H:10,400 17,600 |4:17,900, + H:17,400
S5m% BEAE | JUAC JAC 32,100 38% 12,200 19,900




6HA108~308 r%ﬂ%ﬂ% | 28J5§E§ JALJTA/JAC/RAC

[N - S .
=B PO BERM XA 6/10-6/30 fﬁ;ﬁ e EBEH BEHE
XEO | XEQ | KO | XE = 1 @
HR(PE) =2 [RECHE) %548 (3B#) [JAL/JTA[JTA/RAC[HNDOKA[OKAMMY| 25,900 56% |%::20,000 18,100 [£:20.300 7.800 [£:8.700
Bt 8 (33%3) | JTA/RAC| JAL/JTA[MMYOKA| OKAHND| 24,500 58% |H:29,100 7,400 [H:8.700 17.100 [H:20,400
RRCRE) =8 |RxCHE) X[ 78 %) |JAL/JTA| JTA [HNDOKA[ OKAISG | 25,500 60% |%::30,200, £:27.100 16,300 |£:19.300, £:17.300 9,200 [#:10,900, £:9.800
BR (B#E) [  JAL JTA | HNDKIX | KIXISG | 27.400 61% & +:29,000 8,700 |£+:9.200 18.700 | £ +:19,800
RERX [FEGRE)| JTA [JAL/JTA[ ISGOKA [OKAHND| 25,700 60% | H:27,000 9,300 [H:9.700 16,400 [ H:17.300
AR (B7R) | JTA JAL | ISGKIX | KIXHND | 28,200 60% | H:29,800 19,300 | H:20,300 8,900 |H:9.500
R () =Xl | KB () [ CRE) | JAL JAL | ITMHND [HNDMMB| 22,800 64% |€1:26,000. H:23.200 8,100 |£+:9.200. H:8,200 14,700 | 1:16.800. H:15.000
wimA % [RECEE)|  JAL JAL _[MMBHND| HNDITM 23,600 63% | A:24,800, £:26,400, 1:26,000, H:27,600 | 15,300 |#:16000. %:17.100. +-16800. 817800 | 8 300 |:8,800, £:9.300., 39,200, B:9,800]
LIREFTFR) | JAL JAL _|MMBSPK| SPKITM | 27,200 57% | H:28,800 9,300 [ H:9.800 17.900 [H:19,000
KR (B8) =% Bl | KR (B78) SE[ AR GBFa) | JAL JAL | KIXSPK [SPKMMB]| 24,000 62% 15,800 8,200
e FIE FFR|  JAL JAL _|MMBSPK| SPKKIX | 27,200 57% | H:28,800 9,300 [ H:9.800 17.900 [H:19,000
KB (FFH =)l [ AR () %8R (BR) | JAL JAL | ITMHND [HNDAKJ| 24.400 61% | 3:24,400, % +:25300, H:22,600 | 8,900 |5:8,900, %1:9.200, H:8,200 | 15,500 |5:15500, 16,100, B:14.400)
ENTES CRA)| JAL JAL [ AKJHND [ HNDITM | 24,000 61% | AK#£:25200, H:26.600 15,300 [A£:16.100, H:16.900 | 8,700 |A%:9,100, H:9.700
KB (BS78) =f8)Il | AR (BAFE) %[ (BH)| JAL JAL | KIXHND [HNDAKJ| 24.400 61% | :24,400, % +:25300, H:22,600 | 8,900 |B:8,900, %1:9.200, H:8,200 | 15,500 |5:15500, £:16,100, B:14.400)
ENIES CRA)| JAL JAL | AKJHND | HNDKIX | 24,000 61% | AK#£:25200, H:26.600 15,300 [ A£:16.100, H:16.900 | 8,700 |A£:9,100, H:9.700
KBr () =88 | XBR (RFH | RFCHA) | JAL JAL [ ITMHND [HNDKUH| 21,000 66% & +:21,200, H:21,600 7.700 |#+:7.800, H:7.900 13,300 | +:13,400, H:13,700
SR CRRE)|[  JAL JAL _[KUHHND| HNDITM | 21,800 64% | A£:23,000, £:21,200, H:26,100 | 13,800 [A=%:14.600, +:13400, B:16500 8,000 |A%£:8400, 1:7.800, H:9,600
KB (FFH =K [ ARG % [ER(BHA) | JAL JAL _|ITMHND [HNDOBO| 24800 59% | H:24,800, £:22,000, H:24.000 | 9,200 [H:9.200. £:8.100. H:8.900] 15,600 [A:15.600. +£:13.900. H:15.100]
EIN CHE)|[ JAL JAL [OBOHND| HNDITM | 23,600 61% | A:24800, £:25,600, +:25.200, H:24,400 | 14,900 [#:15600. 216,100, +:15900. 815400 | 8,700 |A:9.200, £:9.500. 39,300, B:9.000]
KB (BS7E) =k HILF CRA)| JAL JAL _|OBOHND| HNDKIX | 23,600 61%  |A:24.800, £:25.600, £:25,200, 524,400 | 14,900 | 715600 216,100, 15000 815400 | @ 700 | 49200, £:9,500. 9,300, H:9.000)
KR () =&fE | KRR FE|RFCHA) | JAL JAL [ ITMHND [HNDHKD| 21,900 59% |€+:23,300, H:21,100 9.100 |#+:9.700, H:8,800 12,800 | +:13,600, H:12,300
AR F CRHE)| JAL JAL _[HKDHND| HNDITM [ 22,700 58% | A%£:23,900, +:21,300, H:26,200 | 13,200 |A#:13.900, +:12.400, H:15300] 9500 |A%:10.000, +:8900, H:10,900
KR () ==iR | KRR FE|RZCHA)| JAL JAL [ ITMHND [HNDMSJ| 21.800 58% B 9.400 | H:9.300 12,400
3 CRE)|  JAL JAL _|MSJHND[ HNDITM| 22,600 57% K 12,800 [A£:13,500, H:13.300 [ 9,800 . H:10,100
X (B7) * CRE)| JAL JAL _|MSJHND[ HNDKIX | 22,600 57% |k 12,800 3,300 | 9,800 . H:10,100
KB (D) =18k [ AR (B %[ | JAC JAC | ITMIZO | IZOOKI | 16,600 47% & 10,100 700 | 6,500 600, H:5,500
[R% 5 JAC JAC | OKIIZO | IZOITM | 14,800 53% |& 5,800 9000 [&
KR (R =BT B[ XR(F % JAC JAC | ITMKOJ [KOJTNE[ 20,500 48% | % +:21,550, H:20,700 13,900 4,700, H:14,100 | 6,600 |&+:6.850
JAC JAC | TNEKOJ| KOJITM [ 20,800 47% |%:21050. £:21600. H:22550 | 6.700 |%:6.750. £:6,900. H:7.250| 14,100 |£:14.300, £14.700. H:15.300
AR (B =8% JAL _[JTA/RAC[ ITMOKA |[OKAMMY| 22,200 57% 14,700 7.500
JTA/RAC|JAL _|MMYOKA| OKAITM| 22,900 56% | H:23,200 7,800 [H:7.900 15,100 [H:15,300
KR (BHE) ==& 8 (FR3R) | JAL/JTA[JTA/RAC[ KIXOKA |[OKAMMY[ 22,200 57% 14,700 7,500
#8 (BB¥R) | JTA/RAC| JAL/JTA[MMYOKA[ OKAKIX | 22,900 56% | H:23,200 7,800 [H:7.900 15,100 [H:15,300
KB (F#FH =FR1E #E (BT | JAL JTA | ITMOKA [ OKAISG | 23400 59% 14,000 9,400
#RE) | JTA JAL | ISGOKA | OKAITM | 27,300 52% | H:28,700 11,000 [H:11,500 16,300 | H:17.200
KR (%) =H1E @ (FR¥R) [JAL/JTA]  JTA [ KIXOKA | OKAISG [ 23.400 59% 14,000 9,400
RIER [FEGRE)| JTA [JAL/JTA[ ISGOKA [ OKAKIX | 27.300 52% | H:28,700 11,000 [H:11,500 16,300 | H:17.200
ZEE(PE) =%H5 [ BEE (PE R[AREGTTFE | JAL JAL _|NGOSPK|[SPKMMB]| 25600 56% |2 +:30.200 16.300 | & £:19.200 9,300 [££:11,000
ZmAIE [AREETR)|  JAL JAL _|MMBSPK|SPKNGO| 28900 51% |H:30,900 10,500 |H:11.300 18,400 [H:19,600
Z2HE(PE) == A2 (P#) %[ P48 GBE) | JTA |ITA/RACINGOOKA|OKAMMY| 24,200 57% |&+:25200 16,700 [££:17.300 7,500 |£1:7,900
EE% | P#(RER)[JTA/RAC|  JTA [MMYOKA[OKANGO| 23400 58% | H:25,000 7,300 [H:7.800 16.100 [H:17.200
2HE(PE) =FH1E|AHE (PR X PEGRR) | JTA JTA _|NGOOKA[ OKAISG | 25400 59% |€1:26.400. H:26.900 15,900 [£+:16,500, H:16.900 | 9,500 |£+:9.900, H:10.000
GiE% WO JTA JTA | ISGOKA [OKANGO| 24,400 60% 9,100 15.300
FLIR G F %) =/MAAURF T %[ R CHE) | JAL JAL | SPKHND [HNDKMQ| 21,800 61% |£:22,600, H:24.300 13,200 [£:13,700, B:14,700 8,600 |£:8,900, H:9.600
AN FE CRHE)| JAL JAL [KMQHND[HNDSPK| 23,400 58% | A:23,800, & 1:24,000, H:22,600 | 9,300 |4:9,400. % +:9,500, H:8,900 [ 14,100 [#:14.400, £+:14500, H:13,700
AR FTR) =FALUARFETH E[RmFH)| JAL JAL | SPKHND[HNDOKJ| 22,800 64% |%::24,000, H:25.300 12,000 [£:12,600, H:13.300 | 10,800 [£:11,400. H:12.000
[EIES CRHE)| JAL JAL _[OKJHND[HNDSPK| 23,600 63% | /K:24,000, £:26,200, 1:26,000 | 11,200 [4:11,400, £:12,400, £:12.300] 12,400 [A:12,600, %:13,800, +:13,700)
ARG =S [fURE TR X[ HRCHE)|  JAL JAL | SPKHND| HNDHIJ | 23,600 63% | £:24,400. H:25.500 12,300 [£:12,700, B:13,300 11,300 |£:11,700, H:12,200
LE% CBE)|  JAL JAL | HIJHND [HNDSPK]| 25500 60% | H:25,200 12,200 [H:12.100 13,300 [H:13,100
AR (T ) =IO FE IR T8 | RECHE) | JAL JAL | SPKHND [HNDUBJ| 25,200 63% | +:23,600, H:27,300 12,400 [£:11,600, H:13,400 12,800 [£:12,000, H:13.900
ME=ESE GHE)|  JAL JAL _|UBJHND|[HNDSPK]| 25200 63% | A:25,600, & £:27.600 12,800 [/:13,000, ££:14,000 [ 12,400 2,600, £ 1:13.600
LR FTR) =HENRFTHE[Rm(FH)| JAL JAL | SPKHND[ HNDIZO | 25700 60% [%::27,300, H:27.400 13,300 & H:14.100 12,400 [%:13,200, H:13.300
HER HE)| JAL JAL | IZOHND [HNDSPK]| 24,800 62% | A:25,200, & £:27.400 12,000 |A:12,200, £ £:13,300 | 12,800 [A:13,000, £+:14.100
ARG TR =RS[HRE TR X[ HRCHE)|  JAL JAL | SPKHND [HNDTKS| 26.300 58% | H:29,700 14,000 | H:15.800 12,300 |H:13,900
EE%R CRE)| JAL JAL | TKSHND [HNDSPK| 29,200 54% 0,700, 1:30,300, H:27,900 | 13,700 |%:14,400. £:14,200. B:13,100] 15500 |£:16.300, +:16,100, H:14,800)
ARG TR =S [URE TR %[ RR CHE)|  JAL JAL | SPKHND [HNDTAK| 24,800 61% 5,600, H:26.800 13,200 [£:13.600, H:14,300 11,600 2,000, H:12,500
BIASE CBE)| JAL JAL | TAKHND[HNDSPK]| 24,400 61% |A:24,800, % +:26,800 11,400 [/:11.600, ££:12,500 | 13,000 3,200, £1:14.300
ARG TR =24 [URE TR %[ HR CHE)|  JAL JAL | SPKHND [HNDKCZ| 24.400 62% | £:25,200, H:26.300 12,600 |%:13,000, H:13,600 11.800 2,200, H:12,700
FEPE HE)| JAL JAL _|KCZHND|[HNDSPK]| 25200 61% | A:25,600, & £:28.400 12,200 |K:12,400, £ £:13,700 | 13,000 [A:13,200, £ +:14.700
R FTR) =RLARFETH [Rm (FH)| JAL JAL | SPKHND[HNDMYJ| 25200 61% |#::26,800, H:27.300 12,900 |£:13,700, H:14.000 | 12,300 [£:13,100, H:13.300
[T HE)| JAL JAL _|MYJHND[HNDSPK| 27,300 58% | +:28,300, H:26.000 13,300 [&+:13.800, H:12,700 | 14,000 [ +:14,500, H:13.300
ARFFR) =AM [ARFEFHR[HRCARA) | JAL JAL | SPKHND[HNDKKJ| 25800 63% |£::26,600, H:28,200 12,300 |£:12,700, H:13500 | 13,500 [£:13,900, H:14,700
LN F CRHE)| JAL JAL [KKJHND [HNDSPK| 27,400 61% | A:27,800. £:30,600, +:29,800 | 14,300 |#:14,500, £:16,000, £:15,600] 13,100 |:13,300, 14,600, +:14,200)
ARG TR =K [fURE T %[ HR CHE) |  JAL JAL | SPKHND | HNDOIT | 26,000 62% | £:24.400. H:28.300 12,600 [£:11.800, B:13,700 13,400 |£:12,600, H:14.600
D% CBE)| JAL JAL | OITHND [HNDSPK]| 28,300 59% | H:26,800 14,600 |H:13,800 13,700 [H:13,000
ARG =R [LREF TR %[ HRCHE)|  JAL JAL | SPKHND [HNDNGS| 26.000 64% | H:28,400 12,000 | H:13.100 14,000 |H:15,300
R CRHE)| JAL JAL [NGSHND|HNDSPK| 28,900 60% |£:30,300, 1:28,000, H:26,800 | 15,500 [#:16,300, +:15,000, A:14,400] 13,400 [%:14,000, +£:13,000, B:12.400)
FLIR G %) =REA[AURH T %[ R CHE) | JAL JAL | SPKHND [HNDKMJ| 26,000 63% | H:27,600 12,400 | H:13.200 13,600 |H:14,400
AR CHE)| JAL JAL _|KMJHND[HNDSPK]| 26,800 62% | A:27.200, % 1:27,800, F1:26,000 | 14,000 |A:14.200, &:14500. B:13600 12,800 |:13000, %:13,300, 5:12400
IR FTR) =—=B[ARFETH E[Rm (PH)| JAL JAL | SPKHND [ HNDKMI| 24,400 65% |4::26,800, H:27.800 11,600 |£:12.800, H:13.300 | 12,800 [%:14,000, H:14.500
G CRE)|[  JAL JAL | KMIHND [HNDSPK]| 27,800 60% | H:26,800 14,500 | H:14,000 13,300 [H:12,800
ARFTFR) —ERB[ARFGTHR[RRCAR) | JAL JAL | SPKHND[HNDKOJ| 26,000 64% | H:28,300 12,000 [H:13,100 14,000 [H:15.200
ERER HE)| JAL JAL _|KOJHND|[HNDSPK]| 26,400 64% | A:26,800, & +:27.800 14,200 | K:14,400, % £:14,900 | 12,200 [A:12,400, £ +:12,900
LR (37 F ) =04 (B | ALIR (3 F#) %3 CRIE) | JAL | JAL/JTA[ SPKHND |HNDOKA[ 30,600 59% |4::32,600, £:32,000 13,800 |%:14,700, £:14.400 | 16,800 [%:17.900, £:17.600
ABR(BF)| JAL |JAL/JTA| SPKKIX | KIXOKA | 28,200 63% |2 +:20,800, H:29.000 15.400 & +:16.300, H:15,900 | 12,800 [& +:13,500, H:13.100
SEE(PE)|  JAL JTA | SPKNGO[NGOOKA| 27,500 64% | & +:28,300 13,500 | £:13.900 14,000 [ £:14,400
] JAL JTA | SPKFUK|FUKOKA| 25,100 68% |%::25,900, H:26.600 16.300 8,800 [#::9.100, H:9,300
R4 (%) | == (FH) [JAL/JTA[  JAL |OKAHND|HNDSPK| 30600 59% [%:31,900, H:32,700 16,800 13,800 [%:14,400, H:14.700
AR (BH78) [JAL/JTA[  JAL | OKAKIX | KIXSPK | 29,800 61% |H:31,400 13,500 16,300 [H:17.200
SHEE(PH)|  JTA JAL _|OKANGO|[NGOSPK| 30000 60% |%::30,800, H:33.200 15,300 |£:15,700, H:16.900 | 14,700 [£:15,100. H:16.300
15 JTA JAL | OKAFUK| FUKSPK| 26,700 66% |2 +:27.500 9,300 [£1:9.600 17,400 [ £:17,900
B =% R FHRES RRCHE)|[  JAL JAL [ FUKHND |[HNDMMB| 26,800 66% | A:27.600, £:30,800, +:29.200, H:28,400 | 12,600 [#:13000. £:14500. +:13800. 513400 | 14,200 [:14.600. £:16.300. 15400, 8:15000
LIREFTFR)|  JAL JAL | FUKSPK [SPKMMB] 25700 65% 18,100 7,600
ZiGR% |RECHA)| JAL JAL _|[MMBHND[HNDFUK| 26,000 67% 431,600, £:31,100, H:30,800 | 13,700 |£:16,700, +:16.400, B:16,300] 12,300 |#:14900, £:14,700, B:14,500]
FFR)|  JAL JAL _|MMBSPK| SPKFUK| 25700 65% | H:26,400 7,600 [ H:7.800 18,100 [H:18,600
=R =18 [EEES CRE)|[ JAL JAL _[FUKHND [HNDAKJ| 25,000 67%  |%:30,400. 1:29,300, H:26,200 | 12,000 |%:14.600. +:14,100. H:12.600 13,000 |%:15.800. +:15.200. H:13,600]
jEES CRHE)| JAL JAL _[AKJHND |HNDFUK| 26,400 65% | 428000, £:30,400, £:27,200, B:30,600 | 13,700 |A14500. 15800 £14100, 515900 | 12,700 | 13500, £:14600, 13,100, 14700
12 =8 [EEES CRE)|[  JAL JAL _[FUKHND [HNDKUH| 25,000 67% | A:25.800, % H:26,800, £:24,400 | 12,100 |A:12500, £ H:13.000. £:11.600 12,900 |A:13.300. % H:13,800. £:12.600)
FEEa CRHE)| JAL JAL [KUHHND[HNDFUK| 25,000 67% | A:25,800, % 1:26,800, H:30,100 | 12,900 [#:13300, £:+:13800, B:15500] 12,100 [A:12.500, £:13000, H:14,600
BE =%k EEE (FE)|[ JAL JAL | FUKHND [HNDOBO| 27,600 63% | A%:28,400, £:26.800 13,500 [ A £:13.900, £:13,100 | 14,100 [A%:14,500, £:13.700
Hh%E CHHE)| JAL JAL _|OBOHND|HNDFUK| 26.000 65% | K H:27,600. £ 1:30,800 13,300 | AH:14,100, £+:15,700| 12,700 [A H:13,500, £ +:15,100
1aRE =FfE [ElRE (FE)|[ JAL JAL | FUKHND [HNDHKD]| 25,100 63% |%::29,900, £:27.300 13,500 |£:16.100, £:14.700 | 11,600 [%:13,800, £:12.600
AR GHE)| JAL JAL _|HKDHND|HNDFUK| 25300 63% |& +:26,900. H:30,200 11,700 [&+:12.400, H:13,900 | 13,600 [ +:14,500, H:16.300
wE=F% w\EF |[EZRCEA)| JAL JAL _[FUKHND [HNDAOJ| 27.400 59%  |%:30,600, T:25,800, H:28,800 | 15,100 |%:16:800, +:14,200, H:15800] 12,300 |%:13.800. :11,600. H:13000]
AR (FFD| JAL JAL | FUKITM [ITMAOJ| 29,800 49% 11,100 18,700
R CRE)| JAL JAL _|AOJHND[HNDFUK| 27.400 59% 8,200, £:28.800 12,300 [ A H:12,700, £:13,000 | 15.100 5,500, £:15.800
AR (FFD| JAL JAL | AOJITM [ ITMFUK | 28,200 52% 1,000 17.700 :19.400 10,500 1,600
BE==R EACEN N JAL | FUKHND [HNDMSJ| 25,000 62% 6,600 13,900 [£ H:14.700 11,100 £ H:11,900
R CRE)| JAL JAL _|MSJHND[HNDFUK]| 25,000 62% | A H:26,600, £:27.400 11,100 |A£ H:11,900, £:12,200 | 13,900 [ A+ B:14,700, %:15.200
BE=7% RERFFD[ JAL JAL | FUKITM [ ITMHNA| 26,600 53% 10,200 16,400
AR (FFD| JAL JAL | HNAITM [ ITMFUK | 26,600 53% | H:27.800 16.400 |& H:17.100 10,200 [ H:10,700
1B =%mE RRCHAE)[  JAL JAL | FUKHND [HNDAXT| 23300 62% 5,700, +:22,500, H:24,700 | 13,900 | &:15.400, £:13500. H:14800 9400 |%:10,300, £:9,000, H:9.900
R CRE)| JAL JAL | AXTHND[HNDFUK| 24,100 61% | A% £:24900, H:22,500 0,700 [A% +:10,000. H:9,000] 14,400 | A% £:14,900. H:13.500
AR (FFD| JAL JAL | AXTITM [ ITMFUK | 28,200 49% |% H:31,000 17.000 | % H:18.600 11,200 [ H:12,400
8k =T RRCHAE)|  JAL JAL | FUKHND [HNDGAJ| 23400 57% |€ H:25,000, £:22,600 15,600 [£ H:16.700, £:15,100 | 7,800 | H:8,300, £:7.500
AR (FFD| JAL JAL | FUKITM [ ITMGAJ| 26,600 51% |H:25,000 10,800 |H:10.200 15,800 | H:14,800
FRECRE)| JAL JAL |GAJHND|HNDFUK| 23.400 57% & +:25000 7.800 |£1:8.300 15,600 | +:16,700
RRF]  JAL JAL | GAJITM [ ITMFUK | 26,600 51% | H:27.800, £:25.000 15,800 |4 H:16,500, £:14,800 | 10,800 [ H:11,300, £:10.200
BE =35 KER(FFD[ JAL JAL | FUKITM | ITMKIJ | 19.400 62% 8,300 11,100
AR (FFD| JAL JAL | KIJITM [ ITMFUK | 20,200 60% | H:21,400 11,500 | H:12.200 8700 |4 H:9.200
1R =/ EEFE [RRCAE)| JAL JAL | FUKHND [HNDKMQ|  23.200 60% 4,800, 1:22,800, H:24,000 | 14,500 |%:15500. +:14300. B:15000] 8700 |%:9,300, 18,500, H:9,000)
A% [RFRCEE)[ JAL JAL _|KMQHND[HNDFUK| 23200 60% | 7K:24,000, %:24.500 8,700 [A:9.000, £:9.200 14,500 [A:15.000, £:15.300
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JALJTA/JAC/RAC

[N - S .
X BERM XA 6/10-6/30 ?;,;2 e EBEH BEHE
XEO | XEQ | KO | XE - i ®
BE=2% JTA _[JTA/RAC| FUKOKA[OKAMMY| 19,200 57% 11,700 7,500
JTA/RAC| JTA |MMYOKA| OKAFUK| 18,900 58% |4 H:20,500 7,300 [£ H:8,000 11,600 [ H:12,500
BRE=AE JTA JTA | FUKOKA[ OKAISG | 20.400 60% [%£::21,400, H:22.400 11,100 |£:11.700, H:12,200 9,300 [#:9.700, H:10,200
JTA JTA | ISGOKA [ OKAFUK| 20,400 60% 9,300 11,100
Zimhl =& JAL JAL _|MMBSPK| SPKSDJ| 23900 52% 10.300 13,600
JAL JAL | SDJSPK[SPKMMB]| 23900 52% 13,600 10.300
ESSEEDRA JAL JAL _|MMBHND[HNDKMQ| 23,400 63% |2 +:26,800, H:28.200 15,300 [&+:17.500, H:18,400 | 8,100 [ +:9,300. H:9.800
JAL JAL _|KMQHND[HNDMMB| 23,400 63% |2 +:26,600, H:24,100 8,100 |%+:9,200. H:8.400 | 15,300 |%& +:17,400. H:15,700
23 A = L JAL JAL _|MMBHND|HNDOKJ| 24,400 66% | 4::25600, H:28,400 14,100 |#:14.800, H:16.400 | 10,300 [%:10,800. H:12.000
JAL JAL | OKJHND [HNDMMB| 24,300 66% | H:25,900 10,300 |H:10,900 14,000 [H:15,000
FBJI=/E2 JAL JAL | AKJHND [HNDKMQ| 23,800 61% |%::24,600, H:27,600 15,300 |£:15.800, H:17.800 8,500 |£:8.800. H:9.800
JAL JAL _|KMQHND[HNDAKJ| 23,000 63% |2 +:26,000, H:22.900 8,200 [£+:9.300 14,800 [ +:16,700. H:14.700
FEJI=MRW JAL JAL | AKJHND [HNDOKJ| 24,800 64% |4::26,000, H:28,600 14,100 |£:14.800, H:16.200 | 10,700 [£:11,200, H:12.400
JAL JAL | OKJHND|[HNDAKJ| 23900 66% | & +:28,200 10,300 & £:12.200 13,600 [ +:16,000
EIEENA JAL JAL _|KUHHND[HNDKMQ| 21,800 64% 222,400, 122,000, H:27,100 | 13,900 |%:14,300, £:14,100, B:17,300 7,900 |%:8.100. H:9.800
JAL JAL _|KMQHND[HNDKUH| 21,600 64% |%+:21,800, H:22,500 7,800 [£+:7.900. H:8,100 | 13,800 |&+:13900, H:14.400
BIER =Rl JAL JAL _|KUHHND[HNDOKJ| 22,600 67% |%:23,800, 122,800, H:28,100 | 12,700 |%:13,400, £:12900, B:15800 9,900 | 2:10,400. H:12.300
JAL JAL | OKJHND[HNDKUH| 23,300 66% | & +:23,500. H:24,300 10,200 | +:10.300, H:10,600 | 13,100 [ +:13,200, H:13.700
HE=/MA JAL JAL _|OBOHND|[HNDKMQ| 23,400 61% |2 +:26,000, H:24,200 14,900 [£+:16.600, H:15.400 | 8,500 |4 +:9,400. H:8.800
JAL JAL _|KMQHND[HNDOBO| 23,400 61% |H:23,300 8,500 14,900 [H:14,800
HLE=RW JAL JAL _|OBOHND|HNDOKJ| 24,400 64% % +:26,.800 13,700 [& £:15.000 10,700 [£ £:11,800
JAL JAL | OKJHND[HNDOBO| 24,300 65% | H:25,100 10,700 13,600 [H:14,100
AR =/ JAL JAL _|HKDHND[HNDKMQ| 22,500 58% |£:23,300. H:26.300 13,300 9,200 |£:9.600. H:10,800
JAL JAL _|KMQHND[HNDHKD| 22,500 58% | +:24,000, H:21,700 9,200 13,300 (£ £:14,100, H:12,800
AR =R JAL JAL _|HKDHND[HNDOKJ| 23500 62% |%::24,700, H:28.200 12,000 11,500 [£:12,100, H:13.800
JAL JAL | OKJHND[HNDHKD]| 23,400 62% | & +:26,200 11,500 11,900 [ £:13,400
EEE=JLAM JAL JAL _|HKDHND[HNDKKJ| 25900 62% |%::26,500, H:30,500 11,900 14,000 [£:14,300, H:16.400
JAL JAL | KKJHND [HNDHKD]| 24,400 64% | % H:25.200 13,100 | H:13.600 11,300 [ H:11,600
EWEE=X% JAL JAL__|HKDHND| HNDOIT | 26,700 60% |+:25300, H:31,200 12,500 .900, H:14,600 | 14,200 [+:13400, H:16.600
JAL JAL OITHND |HNDHKD| 26,700 60% :30,300, 1:29,800, H:25,100 [ 14,200 |£:16,100, £:15800, H:13,300] 12,500 |%:14,200, £:14,000, H:11,800)
AR =RIA JAL JAL _|HKDHND[HNDNGS| 26,900 62% 12,000 14,900 [H:17,000
JAL JAL _|NGSHND[HNDHKD| 24,700 65% 13,700 11,000 [ +:13,200
HAE=REA JAL JAL _|HKDHND|HNDKMJ| 26,100 62% 12,000 14,100 [ A2 +:14,500. B:16.500
JAL JAL _|KMJHND[HNDHKD]| 24,700 64% 13,300 11,400 [ £:12,800
HAE=E15 JAL JAL _|HKDHND| HNDKMI| 24,900 63% 11,500 13,400 [£:14,800, H:16.500
JAL JAL | KMIHND [HNDHKD]| 25900 62% 14,000 11,900 [£ +:12,800
HE=ERE JAL JAL _|HKDHND[HNDKOJ| 26,900 62% 12,000 [H:14.100 14,900 [H:17.400
JAL JAL _|KOJHND|[HNDHKD]| 26,700 62% 14,800 [& £:15.700 11,900 [£ +:12,600
BHR=IR JAL JAL _|AOJHND[HNDKMQ| 25,100 52% 14,500 10.600
JAL JAL _|KMQHND[HNDAOJ| 24,000 54% |% H:25,100 10,100 | H:10.600 13,900 [ H:14,500
HEHR=EL JAL JAL _|AOJHND[HNDOKJ| 25,000 58% |4::26,800, £:23400 12,500 |£:13,400, £:11.700 | 12,500 [:13,400, £:11,700
JAL JAL | OKJHND[HNDAOJ| 24,900 59% | H:25,700 12,400 [H:12.800 12,500 [H:12,900
EHR=LE JAL JAL _|AOJHND[ HNDHIJ | 25800 58% | 428,200, £.25.000. H:26,600 | 12,800 |%:13.900, £:12.400, B:13.100 13,000 |%:14300, £:12.600. H:13,500
JAL JAL HIJHND |HNDAOJ| 26,600 56% 8,800, 1:25,000, H:27,000 | 13,500 |£:14,600, £:12,600, B:13,700| 13,100 |£:14.200, +£:12.400, H:13,300]
EHR=ILOFH JAL JAL _|AOJHND[HNDUBJ| 27.400 58% |4::28,800, £:25000 12,700 |%:13,400, £:11,600 | 14,700 [£:15,400, £:13.400
JAL JAL _|UBJHND[HNDAOJ| 27.400 58% | H:28,200 14,700 [H:15.100 12,700 [H:13,100
EA=HE E JAL JAL _|AOJHND[ HNDIZO | 25900 58% 12,700 13,200
7 JAL JAC | AOJITM | ITMIZO | 28,200 50% 18,500 9,700
JAL JAL | IZOHND [HNDAOJ| 26,900 56% 13,700 13,200
JAC JAL | 1ZOITM [ITMAOJ| 28200 50% |1:27,400, H:28.300 9,700 [+:9.400 18,500 [1:18,000, H:18.600
EA=EE JAL JAL _|AOJHND[HNDTKS| 28500 52% | H:30,100, £:27.700 14,400 | H:15.200, £:14,000 | 14,100 [& H:14,900, £:13.700
JAL JAL | TKSHND [HNDAOJ| 28,500 52% 14,100 14,400
EHR=mh JAL JAL _|AOJHND[HNDTAK]| 27,000 55% | 428,300, £.25.800. H:27.800 | 13,600 |%:14.300, £:13,000, H:14000 13,400 |%:14.000, 12,800, H:13,800
JAL JAL | TAKHND [HNDAOJ| 26,600 55% 13,200 13,400
BEHR=mH JAL JAL |AOJHND|HNDKCZ| 26.600 57% £:28,800, £:25,000, H:27,400 | 13,000 |£:14,100, +:12,200, H:13.400| 13,600 |£:14,700, £:12,800, H:14,000}
JAL JAL _|KCZHND[HNDAOJ| 26,600 57% | % H:27.400 13,600 | & H:14.000 13,000 [ H:13,400
BHR=HL JAL JAL _|AOJHND[HNDMYJ| 27.400 56% |4::20,000, £:25,800 13,300 |£:14.100, £:12.500 | 14,100 [£:14,900. £:13.300
JAL JAL _|MYJHND[HNDAOJ| 27.400 56% | H:28,800 14,100 13,300 [ H:14,000
EHR=TAM JAL JAL _|AOJHND[HNDKKJ| 28,000 58% |%::30,400, £:26.400 12,600 15,400 [%:16,700, £:14.500
JAL JAL | KKJHND [HNDAOJ| 28,000 58% |4 H:28,800 15.400 12,600 [ H:13,000
BEHR=KS JAL JAL _|AOJHND[ HNDOIT | 28,200 57% 12,900 15,300 [£:16,100, £:14.600
JAL JAL | OITHND [HNDAOJ| 28,200 57% 15,300 12,900 2,700
EHR=RB JAL JAL _|AOJHND[HNDNGS| 27.400 60% 12,000 15,400 6,300
JAL JAL | AOJITM [ ITMNGS | 29,300 53% 17.200 12,100 2,400
JAL JAL _|NGSHND[HNDAOJ| 28,200 59% 15,900 12,300
JAL JAL | NGSITM [ ITMAOJ | 27.400 56% | +:27,800, H:29.400 11,300 [&+:11.400, H:12,100 | 16,100 [ +:16,400, H:17.300
EHR=RX JAL JAL _|AOJHND[HNDKMJ| 27,400 59% |£::20,000 12,300 |£:13.100 15,100 [£:15,900
JAL JAL _|KMJHND[HNDAOJ| 28,200 58% 15,500 12,700
JAL JAL | KMJITM [ ITMAOJ | 29,300 51% |H:31,700 11,400 |H:12.400 17.900 [H:19,300
EHR=8215 JAL JAL _|AOJHND| HNDKMI| 26,200 61% | 227,800, £.25.400. H:28.200 | 11,800 |%:12.500, £:11400, B:12.700 14,400 |%:15300, £:14.000. H:15,500
JAL JAL | AOJITM [ ITMKMI | 29,800 50% | H:31,400 18,200 [H:19.100 11,600 [H:12,300
JAL JAL | KMIHND [HNDAOJ| 26,200 61% 14,400 11,800
JAL JAL | KMITM [ITMAOJ| 29.400 51% |H:31,000 11,500 17.900
EHR=-ERBE JAL JAL _|AOJHND[HNDKOJ| 27.400 60% | %::29,300, H:28,200 12,000 15,400
JAL JAC | AOJITM | ITMKOJ [ 29,000 54% | H:29,400 16.800 | H:17.000 12,200 [ H:12,400
JAL JAL _|KOJHND[HNDAOJ| 27.400 60% | H:28,200 15,400 |H:15.900 12,000 [H:12,300
JAC JAL | KOJITM [ ITMAOJ| 28,600 55% |+:29,800, H:31.400 12,100 [£:12,600, H:13.300 | 16,500 [+:17.200. H:18.100
ZiR=/R JAL JAL _|MSJHND[HNDKMQ| 22,400 56% | H:23,200 12,900 | H:13.300 9500 |4 H:9,900
JAL JAL _|KMQHND[HNDMSJ| 21,600 58% | H:22,300 9,200 [H:9.500 12,400 [H:12,800
ZR=RW JAL JAL _|MSJHND[HNDOKJ| 23400 61% [£:24,600 11,600 |£:12.200 11,800 [%:12,400
JAL JAL | OKJHND[HNDMSJ| 23,300 61% |H:24,100 11,800 |H:12.200 11,500 [H:11,900
ZiR=IE8& JAL JAL _|MSJHND[ HNDHIJ | 24,200 60% |4 H:25,000 11,800 | H:12.200 12,400 | H:12,800
JAL JAL | HIJHND [HNDMSJ| 22,800 62% 11,600 11,200
ZR=WAFH JAL JAL _|MSJHND[HNDUBJ| 25800 60% |1:24,200 11,900 [£:11.100 13,900 [£:13,100
JAL JAL _|UBJHND[HNDMSJ| 25800 60% | H:26,600 13,900 | H:14.400 11,900 [H:12,200
ZR=HZ JAL JAL _|MSJHND[ HNDIZO | 26,300 57% | % H:27,900 12,700 | H:13,500 13,600 | H:14,400
JAL JAL | IZOHND [HNDMSJ| 24,600 60% | & +:26,200 12,700 [& £:13.500 11,900 (£ £:12,700
ZR=%#5 JAL JAL _|MSJHND[HNDTKS| 26900 54% | H:28,500 13,500 | H:14.300 13,400 [H:14.200
JAL JAL | TKSHND [HNDMSJ| 26,100 56% 13,000 13,100
ZiR=®"0 JAL JAL _|MSJHND[HNDTAK]| 25400 57% | H:26.200 12,700 [& H:13.100 12,700 [£ H:13,100
JAL JAL | TAKHND [HNDMSJ| 23800 60% 11,900 11,900
JAL JAL _|MSJHND[HNDKCZ| 25,000 59% 12,100 12,900
JAL JAL _|KCZHND|[HNDMSJ| 23400 62% | % +:24,200 12,100 [& £:12.500 11,300 [£ £:11,700
JAL JAL _|MSJHND[HNDMYJ| 253800 58% | H:27.400 12,400 | H:13.200 13,400 | H:14,200
JAL JAL _|MYJHND[HNDMSJ| 25,000 59% 13,000 12,000
JAL JAL | MSJHND[HNDKKJ| 25,600 61% |%£::26,400 11,400 |£:11.800 14,200 [£:14,600
JAL JAL | KKJHND [HNDMSJ| 25,600 61% 14,200 11,400
JAL JAL _|MSJHND[ HNDOIT | 26,600 59% | +:25,000 12,100 [£:11,300 14,500 [£:13,700
JAL JAL | OITHND [HNDMSJ| 26,600 59% 14,500 12,100
JAL JAL _|MSJHND[HNDNGS| 26,600 61% 11,500 15,100
JAL JAL _|NGSHND[HNDMSJ| 26,600 61% 15,100 11,500
JAL JAL _|MSJHND[HNDKMJ| 25800 61% | A% +:26,600 11,500 [ A€ £:11.900 14,300 [ A& £:14,700
JAL JAL _|KMJHND[HNDMSJ| 24,600 63% 13,600 11,000
JAL JAL _|MSJHND[ HNDKMI| 24,600 63% |£:27,400. H:26.600 11,000 [#:12.200, B:11,.900 | 13,600 [:15,200, H:14.700
JAL JAL | KMIHND [HNDMSJ| 24,600 63% | H:25,800 13,600 | H:14.300 11,000 [H:11,500
JAL JAL _|MSJHND[HNDKOJ| 26,600 61% 11,500 15,100
JAL JAL _|KOJHND[HNDMSJ| 26,600 61% 15,100 11,500
WE=/ML JAL JAL | AXTHND [HNDKMQ| 20,100 57% 10,600 9,500
JAL JAL _|KMQHND|[HNDAXT| 19.900 57% |%::20,700, H:21.400 9,400 [£:9.700, H:10,100 10,500 [£:11,000, H:11.300
WA= JAL JAL | AXTHND[HNDOKJ| 20,900 62% 9,400 11,500
JAL JAL | OKJHND[HNDAXT| 21,600 61% [£:22,400, H:23.200 11,900 |£:12.300, H:12,800 9,700 [%:10,100. H:10.400
ME=LE JAL JAL _|AXTHND| HNDHIJ | 22,500 59% |H:21,100 10,000 | H:9.400 12,500 |H:11,700
JAL JAL | HIJHND [HNDAXT] 21,700 61% [2::24,100, H:22.900 12,100 |£:13.400, H:12,700 9,600 [#:10,700, H:10.200
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[N - S .
=B PO BERM XA 6/10-6/30 fﬁ;i e EBEH BEHE
XEO | XEQ@ | XKD | XEQ@ = 1 @
WE=LAFH MERE [RRCHAE)| JAL JAL _[AXTHND|[HNDUBJ| 22,500 62% 9,300 13,200
WOFE% [RR(FBE)|  JAL JAL _|UBJHND [HNDAXT| 24,100 59% |%::24,900, H:24,700 14,100 |£:14.600, H:14.400 | 10.000 [ H:10,300
ME=HE MEFX |[ERCHA)| JAL JAL _|AXTHND| HNDIZO | 23400 58% 10,300 13,100
AR (| JAL JAC | AXTITM | ITMIZO | 25,100 52% 15,900 9,200
HERX [ERERE@H)| JAL JAL | IZOHND [HNDAXT| 20,500 63% |£+:22,100 11,500 [ +:12.400 9,000 |£+:9,700
AR (| JAC JAL | IZOITM [ ITMAXT | 25,100 52% 9,200 15,900
ME=E8 =R RCHE)| JAL JAL _|AXTHND|[HNDTKS| 24,400 55% | % +:25,100 11,100 [& +:11.400 13,300 [£ £:13,700
BHZE CRE)|  JAL JAL | TKSHND [HNDAXT| 24,400 55% | H:25,100 E 11,100 [ H:11,400
B 5 HE)| JAL JAL | AXTHND[HNDTAK]| 22,100 59% | +:22500 E 12,100 [£ +:12,300
W HE)| JAL JAL | TAKHND [HNDAXT| 22,100 59% |%::22,900, H:22,700 E 10.000 [£:10,400, H:10.300
HNE=54 N=E HE)| JAL JAL | AXTHND[HNDKCZ| 20,100 64% |2 H:20,900 E 11,300 [& H:11,700
e HE)| JAL JAL _|KCZHND[HNDAXT| 23300 58% |%::24,700, H:23,700 E 10,200 [£:10,900, H:10.400
WA= N=E HE)| JAL JAL _|AXTHND[HNDMYJ| 21,700 62% | % H:22,500 . E 12,300 [£ H:12,700
W% CRE)| JAL JAL _|MYJHND[HNDAXT| 23300 59% | H:24,100 13,200 | H:13.600 10.100 [ H:10,500
#ME=JtAM K CRA)| JAL JAL _|AXTHND [ HNDKKJ| 23900 61% 9,600 14,300
Bl CRE) | JAL JAL | KKJHND [HNDAXT| 24,700 60% | H:26,300 14,800 | H:15.700 9,900 [£ H:10,600
ME=X% ES CRA)| JAL JAL _|AXTHND | HNDOIT | 23,300 61% 9,500 13,800
AH%E  [EERE)|] JAL JAL | OITHND [HNDAXT| 24,900 59% |4 H:25,700, £:24,500 14,700 | H:15.200, £:14,500 | 10,200 [ H:10,500, £:10,000
AR (| JAL JAL | OITITM [ ITMAXT | 29,100 44% 18,400
HE=RIE TEFE [EREE)| JAL JAL _[AXTHND [HNDNGS| 24.900 61% 15.300
AR (| JAL JAL | AXTITM [ ITMNGS | 29,300 50% t 12,800 [+:13,200
RIS [RERCHAE)| JAL JAL _|NGSHND|HNDAXT| 24.900 61% & H:15.400 9,600 |4 H:9,800
RER(F]  JAL JAL | NGSITM [ ITMAXT | 29,000 51% %:12.000, £:13,000 | 16,300 |£:16,500, £:16.800
ME=REX TEFE [ERHE)| JAL JAL _[AXTHND [HNDKMJ| 24,900 59% 14,900
AR (| JAL JAL | AXTITM [ ITMKMJ | 29,300 48% , 12,200
BAZE  [EmEE)| JAL JAL _|KMJHND[HNDAXT| 22900 63% | H:23,700 13,700 | & H:14.200 9200 [ H:9,500
RER(F]  JAL JAL | KMJITM [ ITMAXT | 29,300 48% |%::30,700, H:30.100 12,200 |£:12.800, H:12.500 | 17,100 [£:17.900, H:17.600
HME==5 TEHE [EREE)| JAL JAL _[AXTHND | HNDKMI| 22,900 63% 9,200 13,700
AR (| JAL JAL | AXTITM [ ITMKMI | 29,800 47% |% H:30,700 17.400 | H:17.900 12,400 [ H:12,800
=R [EERCEE)] JAL JAL | KMIHND [HNDAXT| 22,900 63% |%::23,700, H:24.900 13,700 |£:14.200. H:14,900 9,200 [#:9.500, H:10,000
RER(F]  JAL JAL | KMIITM | ITMAXT | 29,400 48% % +:29,800 12,200 | & £:12.400 17,200 [ £:17,400
ME=ERS TEFE [ERGHE)| JAL JAL _[AXTHND [HNDKOJ| 24,900 61% 9,600 15.300
AR (| JAL JAC | AXTITM | ITMKOJ [ 29,000 52% |4 H:29,400 16,000 | & H:16.200 13,000 4
ERER [EmRE)|] JAL JAL _|KOJHND[HNDAXT| 23300 63% |::24,100, H:25700 14,300 |£:14.800, H:15,700 9,000 |%:
KR(FA] JAC JAL | KOJITM [ ITMAXT | 28,600 52% |%::30,200, £ H:29.800 12,800 |£:13,500, £ H:13.400 | 15,800 [£:16.700. £ H:16.400
LWifg =/ It 23 RCPA)| JAL JAL | GAJHND [HNDKMQ| 20,200 50% 9.200 11,000
IMAFE RCHE)| JAL JAL _|KMQHND[HNDGAJ| 20,000 50% | H:20,700 10,900 [H:11.300 9,100 [H:9.400
Wi =M Ltz 5 RCPA)| JAL JAL _|GAJHND[HNDOKJ| 21,000 57% 7.900 13,100
[ RCHE)| JAL JAL | OKJHND[HNDGAJ| 21,700 55% | H:22,500 13,500 | H:14,000 8,200 |H:8,500
=58 Itz RCHE)| JAL JAL | GAJHND[ HNDHIJ | 22,600 54% |H:21,200 8,400 | H:7.900 14,200 [H:13,300
LE% RCAE)| JAL JAL | HIJHND [HNDGAJ| 21,200 57% 13,300 7.900
I ZE=ES Iz RCAE)| JAL JAL | GAJHND[HNDUBJ| 22,600 57% 7,800 14,800
RCAE)| JAL JAL _|UBJHND[HNDGAJ| 24,200 54% | H:25,000 15,900 | H:16.400 8,300 |H:8,600
Wiz =HE [RECHA)| JAL JAL _|GAJHND| HNDIZO | 22,700 54% 8,300 14,400
AR (| JAL JAC | GAJITM | ITMIZO | 26,600 48% | H:25,000 16,600 | H:15.600 10,000 [H:9,400
HE FECRE| JAL JAL | IZOHND [HNDGAJ| 22,700 54% 14.400 8,300
AR (| JAC JAL | IZOITM [ITMGAJ| 23400 54% | % H:24.200 8,800 [£H:9.100 14,600 [£ H:15,100
=8 T2 RCPA)| JAL JAL _|GAJHND[HNDTKS| 23700 50% 9,000 14,700
e HE)| JAL JAL | TKSHND [HNDGAJ| 24,500 49% 15,200 9,300
Iz HE)| JAL JAL | GAJHND[HNDTAK]| 22,200 53% 8,500 13,700
BINE HE)| JAL JAL | TAKHND[HNDGAJ| 22,200 53% 13,700 8,500
L2 =40 Iz HE)| JAL JAL | GAJHND[HNDKCZ| 21,800 56% 8,000 13,800
g =#2 1L Iz HE)| JAL JAL | GAJHND[HNDMYJ| 21,800 56% 7,900 13,900
[N HE)| JAL JAL _|MYJHND[HNDGAJ| 23400 53% 14,900 8,500
i =dt A Iz GHE)|  JAL JAL | GAJHND [ HNDKKJ| 24,000 56% 8,000 16,000
Wi =X% Iz HE)| JAL JAL | GAJHND[ HNDOIT | 23.400 57% 7.900 15,500
KO3 HE)| JAL JAL | OITHND [HNDGAJ| 25,000 54% |1:24,600 16,500 | £:16.300 8,500 |+:8,300
Wiz =Rl 23 CRA)| JAL JAL _|GAJHND[HNDNGS| 25,000 56% 8,000 17.000
AR (| JAL JAL | GAJITM [ ITMNGS | 25,800 55% |2 +:26,200, H:24.600 14,300 [& £:14,500, H:13,600 | 11,500 [& +:11,700, H:11,000
RIS [RRCHAE)| JAL JAL _|NGSHND|HNDGAJ| 25000 56% 17.000 8,000
s [REGEE)| JAL JAL _|GAJHND [HNDKMJ| 23000 58% 7.600 15,400
RER(F]  JAL JAL | GAJITM [ ITMKMJ | 27,300 51% | H:28,900, £:25700 15,700 |4 H:16.600, £:14,800 | 11,600 [ H:12,300, £:10.900
AR [EECEE)| JAL JAL _|KMJHND|[HNDGAJ| 23000 58% 15.400 7.600
RER(F]  JAL JAL | KMJITM | ITMGAJ | 27.700 50% |4::28,500, H:29.100 11,700 [£:12.100, H:12,300 | 16,000 [£:16.400. H:16.800
Wi == W% [ERCEE)| JAL JAL _|GAJHND| HNDKMI| 23000 58% 7.600 15,400
AR (| JAL JAL | GAJITM [ ITMKMI | 28,200 49% |#H:29,100 16,200 | & H:16.800 12,000 [ H:12,300
=R [EERCEE)] JAL JAL | KMIHND [HNDGAJ| 23,000 58% | H:24,200 15,400 |H:16.200 7,600 |H:8,000
AR (| JAL JAL | KMITM [ITMGAJ| 27,800 50% |4 H:28,600 11,800 & H:12.100 16.000 [ H:16,500
Wi =ERE W% [ERCEE)| JAL JAL _|GAJHND[HNDKOJ| 23400 59% 7.500 15,900
RER(F] JAL JAC | GAJITM | ITMKOJ [ 27.400 53% |%::27,800, H:26.200 14,900 [£:15.100, H:14.200 | 12,500 [£:12,700, H:12.000
ERER [EmRE)|] JAL JAL _|KOJHND[HNDGAJ| 23400 59% | H:25,000 15,900 |H:17.000 7,500 |H:8,000
20) JAC JAL KOJITM | ITMGAJ 27,000 54% 427,800, 1:28,200. H:29,000 | 12,300 |£:12,700, £:12,900, B:13,200| 14,700 |£:15,100, +£:15.300, H:15800f
lie=HE | JAL JAC | SDJITM | ITMIZO | 21,800 56% 13.400 8,400
D[ JAC JAL | 1ZOITM [ITMSDJ| 19.800 60% | % +:21,800 7,600 [£+:8.400 12,200 [ £:13,400
& =xX% D[ JAL JAL | SDJITM [ ITMOIT | 20,600 59% |4 H:22,200, £:21.400 12,700 [% H:13.600, £:13,200 | 7,900 |4 H:8,600. £:8.200
D[ JAL JAL | OITITM [ITMSDJ | 22,200 56% |%+:23.800. H:24,600 8,600 |%+:9,200. H:9500 | 13,600 | % +:14,600. H:15,100
iE=RE D[ JAL JAL | SDJITM [ITMNGS | 19.400 66% |2 H:21,400, £:20.600 10,600 | H:11,700, £:11,200 | 8,800 | H:9,700. £:9.400
)| JAL JAL NGSITM | ITMSDJ 21,000 63%  |%:23,400, 1:24,200, H:22,200 | 9,600 |%:10,600, +:11,000, B:10,100| 11,400 |£:12,800, £:13.200, H:12,100}
[T D[ JAL JAL | SDJITM [ITMKMJ | 22,900 58% |4 H:24,900 13,000 | H:14.100 9,900 [£ H:10,800
D[ JAL JAL | KMJITM [ ITMSDJ | 23,700 56% |4::25.300, H:25700 10,300 [£:10,900, B:11,100 | 13,400 [£:14,400. H:14.600
e =28 D[ JAL JAL | SDJITM [ ITMKMI | 24,200 55% |4:26,200. +:25400. H:25.800 | 13,700 |%:14,900. 14,400, B:14500] 10,500 |%:11,300. :£:11,000, B:11.200
D[ JAL JAL | KMITM [ITMSDJ | 23800 56% |4 H:25,800, £:24,200 10,300 | H:11,200, £:10,500 | 13,500 [ H:14,600, £:13.700
WeE=ERE | JAL JAC | SDJITM | ITMKOJ | 23.400 59% 12,500 10,900
)| JAC JAL KOJITM | ITMSDJ 23.400 59%  |%::26,200, 1:24,200, H:24,800 | 10,900 |£:12,200, +:11,300, B:11,500| 12,500 |£:14.000, £:12.900, H:13,300}
FR=HE | JAL JAC | KIJITM | ITMIZO | 21,000 56% 12.600 8,400
D[ JAC JAL | IZOITM [ ITMKIJ | 18,800 61% 7,500 11.300
HR=K5 D[ JAL JAL | KIJITM [ ITMOIT | 19.800 59% 11,900 7.900
D[ JAL JAL | OITITM [ ITMKIJ | 20,600 57% 8,200 12,400
FR=RIA D[ JAL JAL | KIJITM [ITMNGS| 22,100 60% 11,700 [£:12.100 10,400 [+:10,800
D[ JAL JAL | NGSITM [ ITMKIJ | 20.200 63% 9,500 [ H:9.700, £:9900 | 10.700 [£ H:10,900, £:11,100
FB=HX | JAL JAL | KIJITM [ITMKMJ| 22,100 58% 12,200 [% H:12.400 9,900 [#H:10.100
D[ JAL JAL | KMJITM | ITMKIJ | 22,100 58% 9,900 [H:10,300 12,200 [H:12,600
FR=E5 D[ JAL JAL | KIJITM | ITMKMI | 23,400 55% 12,900 & +£:13.600 10,500 [ £:11,000
D[ JAL JAL | KMITM | ITMKIJ | 23400 55% E 12,900 [ H:13,400
HR=ERE D] JAL JAC | KIJITM | ITMKOJ [ 22,600 59% 10,900 [ +:11.200
D[ JAC JAL | KOJITM [ ITMKIJ | 21,400 62% 11,100 [+ H:11,700
INA=RL JAL JAL _|KMQHND[HNDOKJ| 19,200 63% : . 11,100
E JAL JAL | OKJHND [HNDKMQ[ 21,200 59% 422,000 12,300 |£:12.700 8,900 [%:9,300
IMNA=TRE * JAL JAL _|KMQHND[ HNDHIJ | 22,000 58% 4,000, H:22.400 9,100 [£:10.000, H:9,300 12,900 [£:14,000, H:13,100
LEHR P2 JAL JAL HIJHND |HNDKMQ| 21,600 59%  |%:23,000, +:21,400, H:22,400 | 12,600 |%:13,400, £:12,500, B:13,100| 9000 |%:9,600, £:8,900. H:9,300}
MA=I0AFE INASE CBE)|  JAL JAL _|KMQHND[HNDUBJ| 20.800 63% | H:21,500 8,100 | H:8.300 12,700 [H:13,200
CHE)| JAL JAL _|UBJHND [HNDKMQ| 22,800 60% | #::23,200, H:24,000 14,000 |£:14.200, H:14,700 8,800 |£:9.000. H:9.300
MA=HE CHE)| JAL JAL _|KMQHND[ HNDIZO | 21,700 59% | H:20,900 8,900 | H:8.600 12,800 [H:12,300
CHE)| JAL JAL | IZOHND [HNDKMQ| 22,400 58% | H:22,700 13,200 | & H:13.400 9200 [ H:9,300
IMA=E8 HE)| JAL JAL _|KMQHND[HNDTKS| 23500 54% |2 H:25,900 10,000 | H:11.000 13,500 [ H:14,900
HE)| JAL JAL | TKSHND [HNDKMQ| 25500 50% 10,900
INA=TEH HE)| JAL JAL _|KMQHND[HNDTAK]| 22,000 57% 12,600 [&
HE)| JAL JAL | TAKHND [HNDKMQ| 22,000 57% 22,400 9400 [& :9.500
INA=TEH HE)| JAL JAL _|KMQHND[HNDKCZ| 20,000 62% 20,700 11,800 [& . H:12,200
HE)| JAL JAL _|KCZHND [HNDKMQ| 22,800 57% 23,200 9400 [& :9.500
INA=FAL HE)| JAL JAL _|KMQHND[HNDMYJ| 21,600 60% | #::23,200, H:23,900 X 12,800 [#:13,800, H:14.200
@) JAL JAL _|MYJHND[HNDKMQ[ 24,400 55% | H:22,800 14,500 |H:13,500 9,900 [H:9.300




68108 ~30AEMEI5I28 EER

JALJTA/JAC/RAC

[N - S .
XA 2O it =r 6/10-6/30 fb;iﬂg % BEA BER
RO | XM | KD [ XEQ - 1 @
MA=JE RN IMAFE CRE) | JAL JAL _|KMQHND| HNDKKJ| 23,000 61% |#::26,200, H:23800 8,600 [£:9.800, H:8,900 14,400 [£:16,400, H:14.900
B[R0 CRE) | JAL JAL | KKJHND [HNDKMQ| 23,000 61% |2 H:24,600 14,400 [& B:15. 8,600 |4 H:9.200
IMNA=K5 MAFE CRE)| JAL JAL _|KMQHND[ HNDOIT | 22,800 60% | +:23,200, H:23.100 8,700 £+ H:8.800 14,100 [ +:14,400, H:14.300
AR%E CRE)| JAL JAL | OITHND [HNDKMQ| 23,600 59% |4 H:24,000 14,600 | H:14.900 9,000 [£H:9,100
MA=RIE IMAFE CRE)| JAL JAL _|KMQHND[HNDNGS| 23200 62% | H:22,400 8,400 | H:8.100 14,800 [H:14,300
EB% CRE)| JAL JAL _|NGSHND[HNDKMQ| 23200 62% | H:24,000 14,800 | & H:15.400 8,400 |4 H:8,600
INA=FER IMAFE CRE)| JAL JAL _|KMQHND[HNDKMJ| 23200 60% | H:22,400 8,700 | H:8.400 14,500 [H:14,000
REA S CRE)| JAL JAL _|KMJHND[HNDKMQ| 23200 60% |%::24,000 14,500 |£:15.000 8,700 |%::9.000
INA=EE IMAFE CRE)| JAL JAL _|KMQHND| HNDKMI| 23,200 60% | H:22,400 8,700 | H:8.400 14,500 [H:14,000
G CRE)| JAL JAL | KMIHND [HNDKMQ| 23,200 60% |%::24,000 14,500 |£:15.000 8,700 |%::9.000
ME=ERE INEASE CRA)| JAL JAL _|KMQHND|HNDKOJ| 23200 62% | H:23,100 8400 |H:8.300 14,800
ERER [ERRCRE)|] JAL JAL _|KOJHND[HNDKMQ| 22,600 63% | H:24,000 14,500 | H:15.400 8,100 |H:8,600
BH=E5 Rk 1B JAL JAC | KCZFUK | FUKKMI [ 24,800 43% |£:25600. £ H:24.400 13,500 |£:14,000, £ H:13,300 | 11,300 [£:11,600, £ H:11.100
IS 15 JAC JAL | KMIFUK | FUKKCZ| 24,800 43% |#:25200, H:22,200 11,300 |£:11.400, H:10.100 | 13,500 [£:13,800, H:12,100
EERE=5#% |EEZAB%E | kR | JAC JAC | ASJOKE | OKERNJ| 16.600 38% £ H:17.100 10.400 [% H:10.700 6.200 £ H:6.400
5R%e SHKBE | JAC JAC | RNJOKE | OKEASJ[ 16,600 38% [1:17,100 6,200 | +:6,400 10,400 [+:10,700
BERE=HTKRER JAC JAC | ASURNJ|RNJOKE| 15,500 48% 10.300 5.200
JAC JAC | OKERNJ| RNJASJ| 15500 48% 5,200 10,300
PR =B JAL/JTA|__JAL | OKAHND|HNDAOJ| 32,800 54% |%::34,400, H:35.100 18,900 |£:19.800, H:20.200 | 13,900 [£:14,600, H:14.900
ES JAL__|JAL/JTA|AOJHND|[HNDOKA| 32,000 55% |4::36,000, £:33,500 13,600 [£:15,300, £:14.200 | 18,400 [£:20,700, +:19.300
SRR (| = hiR = CHE) [JAL/UTA[  JAL |OKAHND[HNDMSJ| 31,200 56% | H:34,400 18,100 | H:20,000 13,100 |H:14.400
% [®m(PE)| JAL |JAL/JTA|MSJHND|HNDOKA| 28900 50% % 12,100 16,800 |%:19,000
AR (GIRER) =FAE B4R (RER) 5 JAL/JTA| _JAL |OKAHND|HNDAXT| 29,500 55% 18.400 11,100 |£:11,400, H:11.700
EE JAL | JAL/JTA| AXTHND [HNDOKA| 27,200 58% 10,200 17.000 [%:18,900
B (GIRER) = LR [haE (FRER) 5 JAL/JTA| _JAL |OKAHND|HNDGAJ| 29,600 50% 20,500 9,100 |H:10,600
23S JAL__|JAL/JTA| GAJHND [HNDOKA| 27,200 54% 8.400 18,800 [£:19,900
SRR (GIRER) =1lE [hHE(RER) 5 JTA JAL | OKAFUK| FUKSDJ| 27.300 62% |£+:28,100 10,600 16.700 | € +:17.200
flll& 5 JAL JTA | SDJFUK [FUKOKA| 27.300 62% 16.700 10,600
AR GIRER) =/ [IhE (FRER) ¢ JAL/JTA| _JAL [OKAHND|HNDKMQ| 27.800 56% |£:28,600, H:31.100 18,100 [£:18.600, H:20,200 9,700 |£:10,000. H:10.900
IR EE JAL [JAL/JTA|KMQHND|HNDOKA[ 27,800 56% |£:31,800, 1+:29.200. H:27,000 | 9,700 [#:11,100, £:10,200, H:9,400 | 18,100 |£:20,700. £:19.000. H:17.600]
SRR (GIRER) == 40 [hHE (RER) 5 JTA JAL | OKAFUK| FUKKCZ| 24,700 52% 13.300 11.400
ISk JAL JTA | KCZFUK|FUKOKA| 24,700 52% 11.400 13,300
SPER(FRER) =421l |hEE GRE) R JTA JAC | OKAFUK[FUKMYJ]| 25,400 47% | 226,200, 1:25,800, H:24,200 | 14,500 |%:14.900, +:14,700, H:13.800] 10,900 |%:11.300, :11,100. H:10400]
[IE:S JAC JTA__|MYJFUK|FUKOKA| 25400 47% | % H:26.200 10,900 | H:11.300 14,500 [ H:14,900
RRCHE) =BXAS| R CHE) JAL JAC _|HNDKOJ|KOJASJ| 27700 55% | +:28,300 17.400 [& £:17.800 10.300 [ £:10,500
JAL JAL | HNDITM | ITMASJ | 32,900 44% | A:33,800, £ £:34.700 12,600 [ 13,000, £ +:13,300 | 20,300 |#:20,800. % +:21.400
BERES JAC JAL | ASUKOJ[KOJHND| 27,800 55% | H:28,600 10,400 [H:10,700 17,400 [H:17.900
JAL JAL | ASJITM [ITMHND | 32,000 45% A 19,700 | H:20,600 12,300 [H:12,800
RR(PB) =ERB(|RR(HA) % JAL JAC _|HNDKOJ| KOJKKX| 30.800 51% |#& 19,000 H:19.200 11.800 :12,000
JAL JAC | HNDASJ| ASUKKX | 34.200 3% & 28,400 9,200 5800 (% +:6,000. H:5900
ERBR JAC JAL | KKXKOJ[KOJHND| 30.300 52% |& 11,700 [& £ H:11.800 18,600 |& £ H:19,000
RRCPB) =#2B|FR(HR) % JAL JAC _|HNDKOJ|KOJTKN| 31,700 52% 18.800 12.900
BEKRE | UAL JAC | HNDASJ| ASJTKN| 36,500 39% |%+:37.600, H:36.700 28,300 [ % +:29.200. H:28,500 | 8,200 |% +:8,400
BeBE BER JAC JAL | TKNKOJ[KOJHND| 31,700 52% 12,900 18,800
BEKE | JAC JAL | TKNASJ[ASJHND]| 36,500 39% |%+:36.700, H:37.600 8,200 | H:8.400 28,300 % +:28,500. H:29,200
RRCHE) =4k RSB RECAR %] ER JAL JAC | HNDKOJ|KOJOKE[ 33,900 50% |& 19,300 [& £ H:19.600 14,600 3
RKRERSE | ER JAC JAL | OKEKOJ|[KOJHND| 33.400 51% & 14,400 [+ H:14.700 19,000
JAC JAL | OKEASJ|ASJHND| 38,700 39% 10,300 28,400
HERCRE) =5 JAL JAC__|HNDKOJ|KOJRNJ[ 32,100 54% |% +:34,900, H:32.700 17.900 | +:19.400, H:18,200 | 14,200 [& +:15500, H:14.500
JAC JAL | RNJKOJ|KOJHND| 32,500 54% |% +:33,100, H:34.900 14,400 [& £:14,700, H:15,500 | 18,100 [ +:18,400, H:19.400
JAC JAL | RNJASJ|ASJHND| 40,400 39% [%::40,700, H:41,600 12,100 [H:12.400 28,300 |£:28.600, H:29.200
KR =BEAG [ XR(FFOHE] ER JAC JAC | ITMKOJ [KOJASJ| 25900 48% |#::26,800, £:26,300 13,900 [£:14.400, £:14.100 | 12,000 2,400, £:12,200
EEAER | BR JAC JAC | ASJKOJ] KOJITM | 25.800 48% |1:26,800. H:27.300 11.900 13,900 4,400, H:14.700
AR (R =ERB| KR (B E|_ER JAC JAC | ITMKOJ | KOJKKX| 28,100 45% 9,400, H:28,500 14,700 13,400 4,000, H:13,600
BEXRE | UAL JAC | ITMASJ [ ASUKKX| 28,800 37% 9,800, H:28,900 22,800 :23,600, H:22.900 | 6,000 | % +:6,200
ERER BER JAC JAC | KKXKOJ| KOJITM [ 28,500 44% | H:30,400, £:29.000 13,600 | H:14,500, £:13,800 | 14,900 [ H:15,900, £:15.200
BEKE | JAC JAL | KKXASJ| ASJITM | 28,800 37% |%+:28900. H:20,800 6,000 | H:6.200 22,800 |% +:22,900. H:23,600
AR (R =Bz B[ KR (FEH E| ER JAC JAC | ITMKOJ [KOJTKN| 29,000 46% > +:29.900 14,500 [£ £:15.000 14,500 | +:14,900
BeBE BER JAC JAC | TKNKOJ| KOJITM [ 29,900 44% [%::30,300, H:31.300 14,900 [£:15.100, H:15.600 | 15,000 [%:15,200, H:15.700
BEKE | JAC JAL | TKNASJ[ ASJITM | 31,100 37% |%+:31,300, H:32.200 8,400 | H:8.700 22,700 |% +:22,900. H:23,500
KR () =k RE8 [ XIR(FFD %] ER JAC JAC | ITMKOJ |KOJOKE[ 31.200 45% | % +:32,600, H:31,700 14,900 & +:15,500, H:15.100 | 16.300 [& +:17,100, H:16.600
hkBERR | BEIR JAC JAC | OKEKOJ| KOJITM | 32,100 43% |%:32,800. 1:32,600, A:34,000 | 16,800 |£:17.200, £:17,100, B:17,800] 15,300 |%:15.600. £:15,500, B:16,200)
AR (FFH=5# [ARUEM ] ER JAC JAC | ITMKOJ |KOJRNJ| 31,600 45% |£1:33,100. H:32.200 14,700 [££:15,300, H:14,900 | 16,900 |€+:17.800. H:17.300
JAC JAC | RNJKOJ[ KOJITM| 32,5500 44% % H:34,500, £:33,100 17.400 | H:18,500, £:17,800 | 15,100 [ H:16,000, £:15.300
BE=EXXE JAC JAC | FUKKOJ|KOJASJ| 22.400 46% |+ H:21.500 10.000 [+ H:9.600 12,400 [+ H:11.900
JAC JAC | ASUKOJ|KOJFUK| 22,400 46% 12,400 10,000
BE=ERE JAC JAC | FUKKOJ| KOJKKX| 24,600 43% |£:25000, £ H:24,100 10,700 |£:10,800, £ H:10.400 | 13,900 [£:14.200, £ H:13.700
JAC JAC | FUKASJ | ASJKKX| 26,300 37% |% T H:26,400 20,300 [ + H:20.400 6,000
JAC JAC | KKXKOJ | KOJFUK| 24,100 44% %+ H:24,600 13,700 [& £ H:13.900 10,400 [£ £ H:10,700
BE=EZE JAC JAC | FUKKOJ[KOJTKN| 25.500 44% 10,400 15,100
JAC JAC | FUKASJ | ASJTKN| 28,600 37% |% T H:28.800 20,200 [ £+ H:20.400 8,400
JAC JAC | TKNKOJ| KOJFUK| 25200 44% 14,900 10,300
JAC JAC | TKNASJ| ASJFUK| 28,600 37% |%+ H:28.800 8,400 20,200 [£ £ H:20,400
18R =tk R AR FHGEA ER JAC JAC | FUKKOJ|KOJOKE| 27.700 42% | %::28,200, £ H:27.800 10.700 [£:10.900, +H:10.800 | 17.000 [£:17.300
RKRERSE | BER JAC JAC | OKEKOJ| KOJFUK| 27.200 43% |1 H:27.800 16.700 [+ H:17.000 10,500 |+ H:10.800
BEKE | JAC JAC | OKEASJ| ASJFUK| 30,800 37% 1,100 10,600 0,700 20,200 | +:20,400
BE=5H BE% R JAC JAC | FUKKOJ|KOJRNJ| 28,100 43% :28,700. & H:27.800 10,500 [£:10.800, £ H:10,400 | 17,600 |£:17,900, £ H:17.400
SR BEAE | JAC JAC | RNJASJ| ASJFUK| 32100 38% 12,200 19,900




